Optimal Building Solutions

N'J0
1911011
2025-2024



n1an '7'9119

AT ,0MIXE 027 ,0R'Y MNX |IJ')J'7 02TV NIINND NINRN ‘78N 7Y N12n N1'n Nyl DYIX

.12 0INN21 Ny J']I'¥|7"75N'7 oaip'nApaT

19'N7 0MININ,OMNIXI 0212 ,'0719X 2T ,0MIXIN ORI DAY 7713 n”Ya DPTX 112N 7w 0NN 70

TyIn'NTPn 19719 0IX|AX

:]122,N"12N0 DINN2 071y NI7'210 NNAN 0y 171Y9 fIiN'ya1 NTa1Y "y DHIX
.N"T1900N “CLOVERFIX"-1 N'P?'7D'X1N "G&B Fissaggi” ,N"721X1N "Chemfix" ,N'1ND2N "MKT"

[NMININ NI 7Y NI2'NNNA IS0 [PN NIZy2, NIpMIiNNan 712

0'01TID02 NIN'Y 027 P90Y7 NDW1 .21 [1'0'1 721 |RI'D,'VIXPD 'XOIT'X NIIX 11'N 0”Y2 DTN D'TAIVN NNY
17v1 27w ‘721 NBWA 0117201 O0Y10NNDN DX AI70 N7y DX 7Y N0TINN NP7Nn 0N X7 |MTYY

O'DpP'N9N VI

01PN WYWIXDA '0TINN [INN9N |2 "70'D9IXD 2I7'Wn DX N'YpI79X 727 XIXNT7 N2'NNN 0”ya DX
AN 2wn nnnl

YINIIN 2'D NX N'DANYT7 NNINP'77 NYOXDA YINKD NPT7N0 07y DITXT

VN7 DO'XP'IDXI O'X9I'X 0'DITIDOYT DXNNA DNIYXI 0pn 17y1 DNNID DY 1 DTy n”ya DTIX

.07vInI NI

,70UNN N12N ,N1DP7X ,012'0 NIT NX N77120 N'NINPYT7 NN'WA7 9I0XN7 DONX N1'DTD N”ya DX

LAUXDIZR,NYY DI7X NTN,D02 XINN TIYD 119y N1 7710 ,2110

NI N21IDA 112N 1INA71 IWW9NAYT X7 21N, NIYAIp NIFPXDINIDND 12 0INN2

.DrTX,0onNwYy

(054-3024643 '70) N”Y2 B*TX N1AN 77210 - ONID TIT

(054-7976110 :"70) N”Y2 D'TX NI2N OTINN - INIVYT AT AN

Yy Voo
wGaB MT 4




n"Mya PIin

[ESERE R

B ey e

20

24

27

32

35

38

41

45

48

50

51

55

57

58

59

60

62

4-6
6
7

j12'y n7'Na

|AX 19'n7 011y n1'na
nnIvIn opTI'xX
o"1n oy - 1

127 0'T2D D'oONIY7 DIy 1.1

THE-TFE 1
TXE 2
SLPT 3

SZ 4
MTP-X 5
MTP-G 6
MTP-A4 7
MTH 8
MTH A4 9
ORA 10

BT eye2 11

1121 0'71) n'onIy7 oy 1.2

HEHO 12
BETA 13
HC 14
MES 15
HSR 16

0" n'oniy7 oy 1.3

PS 17

HEA 18




[I'7" a1y - 2

e —tEh 64 GXL 19
= 67 GL 20

oMoy -3

pPTN2 0"N'2> 0y 3.1

u + o — 69 CHEMFIX100 + ATR 21
u U bt 72 CHEMFIX100 + REBAR 22
TEE==0e + « s 77 AC500V4 + ATR 23
m T 80 AC500V4 + REBAR 24
B + o — 82 CHEMFIX200 + ATR 25
_ + M sitds 86 CHEMFIX200 + REBAR 26
F- T i 91 CT50PRO+ATR 27
F b mesnccnssnsisn 95 CT50PRO +REBAR 28
B D ——— 97 ATR 29

§ 99 ATRSS 30

AT79-nT79 0011 -4

W@ 101 ABE 31

ETINRS 104 BIE 32
( -, 106 AUTO 33
: Il-‘hl\il\‘llil._ F 108 BAUTO 34
110 nin'oa |:||y‘7 npnn 35
111 D'N Ip NpNn 36

112 NI'oTn NIX7ap 37




|12'Y N7'NA

D0'T1J 0'0NIY'7 0MININ DAlY

nTya | 'oniy [k} PN
XIN'D TIDY | NINI9I DIYpr7OX
DTN | NN PITO | XONX
Y ,NMNAN Y | 070202 DAY THE-TFE
(VEIRV IRV SV SRV S ! ! - .
1772 |y Nipyn D0'72d D'onIy7 L=l
RLYRbRwhisnybLY R Sz
vV VI VIV V| T NRWDYT Y . .l . ;.m* —
ADTX NIT'Y/XIX'D o nony A
mIT Iy SLPT
\/ \/ \/ 24 77 I = T —
x \/ Y 0'T1 0'ONIY7 \ —
D'onIy7 |1y S MTP-X
vi v iV V|V 32 N7 DX Y Y i
- DOXIT I/ DT | e
h
MTH
X v x x v | . 793 Iy 1027 D'XND XN 1Y
170 X7 - | =
11p10'11d 0'onIy'7 DMININ DAY
b2 | nTYa | 'only | D2 [Ph | X702

TIDY | NINI9 NI'YPY79X
7'7n | ADTX | NN PITO | 'X9'X | PITO

VIN'Y'T7 N2l 1y

X X |V |V |V || NN 7712 7772 1037 N33 1Y _AERbY

pITo
aapPnnn nibm
napI iy BETA

XX I X[ X | X || s 999 winwY nap My e 4118 ]

17O [ID27 D'XNDN

napa a1y HC

v x v x Vv | V| 772 wInw'y 0'0nIY7 N2 My i—{* _

1
170 |IDJ'7 o'Xnnn 0T i

O'XNND X7 = x ni720 Dy O'XNN = \/ O'xXnn = \/




0'"11'2 0'oNIy'7 0"INON DY

n'pi7a
2D'X Jipa TNy NINI91 NIYP'7OX
oniIny

AINYI1a'N, ) ax 9N pIirn PS

N NNana oy
x x v 60 12N, Y7 970N oo s —

[2X 190 pITnY
0'2'D7IPT D79 112N, DIPITN

HEA

'Y anana
v | VvV | V 62 T APYD,TIY, DTN 112N
773 Wy

|17 D1y
n'pi7a
DX |Ip2 TINY NI¥I9] NI'¥pPr'79X
oIy
GX-L
y \/ \/ 64 ,O'P172 2110'X |27 112N 7072 IX |17 21y ! o .
[AX 19N pITN X
GL
\/ ‘/ \/ 67 ,O'P172 2110'X ,|ID27 112N 707212IX |17 21y T ——
e
[AX 19N pITN P
o"no oy
0 nimp n'oniy b} X7]i02
niat o7 | ompoo | PPN | DO DITo oiTo TIny NI¥ID) NIYYP179X

Chemfix100

v | VvV | VvV |V  V V|V co | DYDY, DIy DNp |y
‘1“

.0'7 NNN0D |1y, 0177 NI

10{719X 0'02 7V DI |1y AC500V4

77
17723 12'n7 ﬁ

v oo iy oy oy | Chemfix200

.07 NNN0 |y, DI70 NIT'P m

nIom [y, 0P [y CT50Pro

i
/DITID0 2¥N] ’-

82

v
v
v

X | <] <
X | <] <
CIe <

v
v
X

X| <] <
X| <] <

91

O'XND X7 = x NI7220 0y O'XNN = \/ o'xnn = \/




|AX 19'N7 Dy

THE-TFE MTH PS GL GX-L
8 41 60 67 64 'on TINY
v X v v v b2
X | X | X | « | & Jwwen| 20
X X X X v 1IN 207
v | v | v | X | v | = |0
v v v/ v/ v b2
X | X | X | v [ w0
V [ X | X | X | v |

; v [ v [ v [ v v m

‘g X X X v v WU pI7a | warion

E X X X X v PRI

: vV [ v [ v [ v | v | m

g X X X v v ANY PI72 | *ax 19N pien

X | X | X | X | v |

O'XNN X7 = x ni720 Dy O'XNN = \/ O'xXnn = \/

D"DAI7IN DIPNN P

21071 YI12'22 0'9IND NP :N'WAD |aX2 0'9IND NN ,2 P7N 2378 7KW [pN 2107 19N
N{P2ATNN ND'WA 0'9IND NP :NYWAD |aX2 0'9INND NN 4 7N 2378 '7XY! [N [V +Np2TN2 19N
W2'y1I2'p2 0'9IND NIN'P :N'YAD ]AXA 0'9IND NP ,3 27N 2378 17X |pN waomn

[2X 119" PIT'N 1227 “7XW! PN R [2X 19N PITN

D''"N0"0 D'ONIy7 D"VIXD D1y

0pn T TIny
ETA 20/0046 Cland C2 8 [f—iaes THE-TFE
ESR-3173 pr—
ETA 02/0030 ClandC2/AtoF 27 HUE=E=" sz

ETA 12/0397 ClandC2 32 4 = MTP-X

ETA 18/1157 Cland C2 69 _‘ Chemfix100
ETA-23-0553 Cland C2 77 E AC500V4

e
i
ESR-4366-1 ETA 18/0797 ClandC2/AtoF 81 FEE==0e | chemfix200




0vVIN OpPTIX

0N 2 >, 3\‘\0 504

4 A -

170 [ID22 PIYN YIDWYT 1PN YK 0 NN '0NIY1 IYN WINW'Y7 1PN YR .

4ppR 0\1"0 "’Pko “9

£ OCKLON \ g@Sls,"’a
NAIXN IX XIN'D 10DIYA PIYN WIDWY 1PN YK @ N9V DT PIVD WIDWY7 1PN YK “@"
'V,,pno \14‘0 ,APRO “Q'Q

[AIYN 7Y TIN WIDWT YK NNDTX DTV '0ONIYA YN YIDW'T7 1PN WX

¥
o
2
&
%ﬁr
O 50,

21171 1IN2 D' Ay NIPNNYT WYX MW 50 IXY QYN WIN'WY 1PN WX

WO,
2 2
;@
=
(=)
23
¢
O W

O,
80°C TV NID19NBY DI IV MPNNYT WYX 0'DN 17 NNND 'D'D 21y MpNNT7 WYX ‘

OO
&
0'2'0 My (1022 NIPNNT AW DI70' NTPR NITYA NTPI WX N2 DD Iy NIPNNT YR °'

YNIDN 7W2 0NIY :1DN'D7IX 7WI only
5% ‘7019 .
N'DO'DLO NI'NAN '7XNI'M 7Y ONIY UBIX 'TYI ONIY
(-J21yn 210 ,21yn 712N ,AT79 ,]IDAN 0NIP) '7UIN 2107 9192 [INDI DTPN ’
(DOnxy D'onIyn 7y [INDA OTPNR 7712 1'KX) 2IYn 7V IND2 OTpN 77120 ONIY :]aN only
(nnwn/yiap) n'oniyn 2107 9193 IND2 DTPN ’

.MIPNNN 'XIN 97 [INDAN 'DTPR 73 DX 77120 2IYyn 7Y '7'Y9On7 1NIDY 0Ny :Ni'w/X70in only

nnn
A

5%

T » 0ODIY

7wl 0only 7wl oniy
NU9IX DNDT7IX

no'7ya nuoIx ‘7w onty

NT790 7V "1"9IX '7UI ODIY :Nyk steel [A1yn 12'N 197 2M9IX '7UI ODIY Nk pull [ID2N 011 *97 "IMOIX '7WI ODIY :Nyk,cone
D'22IYN 2 0NN MT7N X7) D'22IYN |2 0NN M7N X7) D221y |2 0NN ,MPNN PRIYA '17N)
(1v2an nxp I (1v2an nxp I (1v2an nxp I




BN

THE/TFE

AU RRRBR

THE/TFE

HRNUR AN

THP

THT

THA

European
Approval

ETA-20/0046- ETAGOO! - option 1

AR AAnR AR

g

B vy

TFM

NNV NIr¥pr79x

nMnan 7|y e

NITN ,NIXOD NIPYD |1V«
Jon NN Iy e

TN WIN'WYYT7 0T |1y«

D"1"9XN

'Y 212N :NAI71000 .

(191wn 0N |1172) Atlantis IX 2 172«
N WID'W7 02 *

C2-1C1 ADTX NTYAT YK »

(30-21b2) TTIA J2IYY7 D'ODIY N'72D

THE/TFE 18 THE/TFE 16 THE/TFE 14 THE/TFE 12 [y 210
112 | 69.5 92 | 58 92 | 58 84 | 58 mm | heff | PPN MPNN PRIy
714 | 349 | 532 | 266 | 532 | 266 | 460 | 266 Nrkcone
= = - - Nikpul no'Ty NU9IX 7w ONIY
161.56 1244 105.5 745 Nk steel =
80.78 58.0 52.7 37.2 kN Vik mm J>2
47.6 233 354 17.7 354 17.7 30.6 17.7 Nrd o'y — 'c_)
53.9 46.5 38.6 17.7 35.1 17.7 24.8 177 Vrd nmm =~
34.0 16.6 253 12.7 25.3 12.7 21.9 12.7 Nrec no'7y X7nIn only
38.5 33.2 27.6 12.7 25.1 12.7 17.7 12.7 Vrec nmm nnwony
50.0 244 37.2 18.6 37.2 18.6 32.2 18.6 Nrk,cone
= = - = Nikpul no'ry NU9IX 7WI OnIY
161.56 105.5 105.5 74.5 Nrk steel A
80.8 58.0 52.7 37.2 N | Vi mm 2
333 163 2438 124 | 248 | 124 | 215 124 Nirg noi7Y 2
[pn oniy =
53.9 32.6 38.6 124 35.1 124 24.8 124 Vrd mm
23.8 11.6 17.7 8.9 17.7 8.9 15.3 8.9 Nrec no'7y X700 oniy
385 233 27.6 8.9 25.1 8.9 17.7 8.9 Vrec mm nnwony
160-200 100-150 80-160 80-150 L VN IX
140 | 90 125 | 80 115 | 75 105 | 75 hnom 7811 Mpnn poiy
18 16 14 12 do [ID22 NITP IR
225 | 140 | 185 | 120 | 185 | 120 | 170 | 120 hipmin oI | o
22 20 18 16 mm dr TOXIDN DN NTAPIN7 WP | =
168 | 104 138 | 87 138 | 87 125 | 87 Copt JID2N NX¥PN 'DP PN E,
55 50 50 45 Cmin [ID2N N¥PN 7XDM PN "Jz:
336 | 2085 | 276 | 174 | 276 | 174 [ 2505 | 174 Sopt omwnpawppnn | &
90 80 80 75 Smin DY |2 '7XN'D pNIn
90 80 70 50 Tinst MpNN7 X700 DI
160 600 160 160 Tmax.rec '70'0p71 X'70ID DININ

21y 72 miwr 197 awn'7 Wt M7RNDWD9IX PRAN 'Y, N7120N 21IW'NYT .19Y7W1 P 0'DIIT7T DA DY7XN'DSIX D'PRINAID'0ONIY NNN9NA 0211 DY7XNY'DN D'PRINN

THE/TFE

T 7wd7 0TIp (102N onip '9'7 7w ¢




¥ qwnn - (30-2 [Iba) TTIA [a1y'7 D'onIy N7
E J-g_ THE/TFE 10 THE/TFE 8 THE/TFE 6 THE/TFE 5™ [ynaio
g8 [ o7 [ 60 [ @ | 51 [ 38 [ 4 [ 26 | 35 [ 25 [mm] her | 0pIX NP PRI
58
EF [ 330 [ 280 [ 161 | 216 [ 138 [ 170 [ 80 | 125 | 75 Nikcone
é § - - - >3 L - Nipul oY M9IX 7WI Only
£ x 548 39.1 25.1 164 Niksteel 5
g T*n 27.4 19.6 12.5 8.2 kN Vik mm _,E
a E 220 18.7 10.7 144 7.7 1.3 3.1 7.7 5.0 Nrd no7y o
E z 183 | 183 | 107 | 130 | 92 8.4 53 55 5.0 Vig M o oD ',E_
E E 15.7 13.3 7.7 10.3 5.5 8.1 2.2 5.5 3.6 Nrec no'7y X7nIn only
8F 13.0 | 13.0 | 77 9.3 6.6 6.0 3.8 3.9 3.6 Viec m nnw oniy
B
FREEL | 196 | 113 | 150 | 97 | 119 | 56 8.7 53 Nrkcone
£ ) = - - 82 - Nrkcpul noY 19N 7¢I ONIY
B 548 39.1 25.1 164 Nirk steel -
s_ 274 19.6 1255 8.2 N | Vi mm 2
§ 154 | 131 75 10.1 54 7.9 3.1 55 35 Nrd no7Y 2
a [2n only =
IS 183 18.3 7.5 10.1 6.5 7.9 3.7 55 35 Vid nm
§ 11.0 9.3 54 7.2 3.8 5.7 2.2 3.9 2.5 Nrec no'7y X7nIn only
§ 130 | 130 | 54 7.2 46 57 27 39 25 Viec m nnw ony
=
a
E 60-140 55-140 40-120 40-100 L YN X
z 85 | 75 | s5 65 50 55 35 45 35 hnom XN MPNA PRIy
E_ 10 8 6 5 do JIb22 NIT'P DIP
g 135 | 120 | 100 100 100 100 hibmin o1y | o
E 14 12 9 7 mm dr TOXIDN DINTXAMTAPIN7 WP | =
5 101 [ 90 | 62 [ 76 | 56 | 65 | 39 | 53 | 38 Copt 1020 NP0 ' PO E
I
5 40 35 35 35 Cmin [lb2n A¥pn '7XDI PN | &
5 200 | 180 | 1245 | 1515 | 1125 | 120 | 78 | 105 | 75 Sopt omwnpawppnn | 2
% 50 35 35 35 Smin 0mIYN 12 '7XNM PN
s 30 20 10 10 Tinst MpNY Y700 DININ
= 160 160 160 160 Tmaxrec '70'0pN X'70IN LINID
M6 M5 pa 210 n'oniy N71p
a0 | 30 | 25 4 | 30 | 25 [mm 102 1y Y9N 1027
92 | 72 | 62 95 | 72 | 6.2 Nrkcone B
= - Nekpu nafTy NU9IX 7WI ONIY r%
252 17.8 Nirk steel =
12,5 8.2 N L Ve mnm E
5.1 4.0 35 53 4.0 35 Nrd no'y =
[>n only o
6.1 48 4.1 5.5 48 4.1 Vird nmm 9
3.7 2.8 2.5 3.8 2.8 2.5 Nrec noty 700 only g‘
4.4 3.4 3.0 3.9 3.4 3.0 Vrec M nnw ony
26 | 22 | 20 265 | 22 | 20 heff 7XIMN NITR PRIy
do (1022 NIT Wi
8 dr TNYINN DINTXN T NIPNNT VIR =
50 50 ap aNMN2 7207 pynavxnumpnn | &
39 | 33 | 30 39.75 | 33 | 30 mm | copt 102N XN *7XDDIX PN 2
35 35 Crin [ID2N XN *7XDIN PN E
78 | 66 | 60 79.5 | 66 | 60 Sopt DIYN |2 '7XDD9IX PN =
35 35 Smin D2IYN 27X PN
10 5 Nm | Tinst MpNN7 X700 DININ

THE/TFE




ENV 'X91N'X |pN '97 ADTX NT'YA7 12007 TTIA ]21y7 0'only N'710

TFE18 | TFE14 | TFE12 | TFE10 TFE8 TFE6 PR 210
12 92 84 67 51| 38 8 | mm| her | BPIN MIPNA PRIV
500 37.2 322 231 | 151 | 97 | no Nek cone
3838 255 200 1622 9.7 68 55 Nt pul naty
161.56 105.5 74.5 54.8 39.1 39.1 25.1 Nrk steel ngx 7vI 0Ny
44.1 317 235 192 | 17 | 87 94 W X7
Vik mm
808 52.7 372 274 | 196 | 196 | 125 “aion oy e
59 | 170 | 133 | 108 | 65 | 45 | 37 | W | Na not7y 2
294 211 15.7 128 | 78 58 63 W X7 ppn only o
Vid mm
539 35.1 248 183 | 128 | 116 | 83 iy oy
185 122 9.5 77 46 32 26 Nrec noty
7 0l
210 15.1 12 9.1 56 | 41 | 45 0 X7 \7/pib onw
Vrec halis) nNn'v onily
385 25.1 17.7 130 | 92 83 6.0 iy Dy
500 37.2 322 231 | 151 | 97 ] Nrk cone
347 16.8 116 76 37 25 - Nrk pull naty
161.56 105.5 74.5 54.8 39.1 39.1 - Nrk steel nugIx ‘7w only
44.1 31.7 235 192 | 117 | 84 - W X7
Vrk nmm
80.8 527 372 274 | 196 | 196 - iy oy e
2311 112 7.7 5.1 25 17 - KN | N oy 2
294 2111 15.7 128 | 78 56 - W X7 on oDIy o
Vid nmm
539 35.1 28 183 | 128 | 116 - iy oy
165 8.0 55 36 18 12 - Nrec oy
‘701D ONI
210 15.1 12 9.1 56 | 40 - 0 X7 X Y
Vrec m nNn'v onily
385 25.1 17.7 130 | 92 83 - “alyn oy

JA1Y 72 DIYN 197 2WNT WLI7RDID9IX PNI0 |'X,N1TI2 171200 21WNY7 .19'7W2 21 0'DAI71 DI OW7XND'DOIX O'PNINNI0'0NRIY NNN9N2 0'21N] OY7XNMN 0pNInn *

THE/TFE




niv" 97 THE/TFE a1y 21w'n
ENV 1992-4:2018 '9'7 NnLOW9IN 2IY'N NIY
nnyn
NIN'Y/DY7NIN/DWYINY D'oNIY '9'7 X'71 design |21 'ONIY '97 0IYN NX D'AYUNND ENV |pN 197 -
D'AWND |20 1NX7,21YN I0IN DY ,|1020 011 ,"Pull-out” N9'7w21 7w 1210 3 '97 ja1Iyn NX 0'awND -
.71WNN 72N NX 0TI 91021 pry-out-1 [AIYN IDIN NV ,[ID2N NP 171122 7WD 1210 3

no'7wa 7w -1
Nrdp=Nd,p.fa "PULL-OUT" 197 w3 1.1
25-111D2'97 Pull-out N9'7w1 aIyn 7w *71010 [N PTIN Nord,p
. [ID2N 210 NY9WN 0PN fa
; (mm) pynmpnapoy | heff
kN Nordlp
TFE 18 TFE 14 TFE 12 TFE 10 TFES8 TFE6 TFE5 [ayn a0
112 92 84 67 51 38 43 26 35 25 heff
-* -* -* -* -* -* -* 37 7.7 -* PITO X7 102
_* _* _* _* _* _* _* _* 5.5 _* I—"-I-O ||DJ.
235 15.5 121 9.8 59 4.1 33 C1moro
21.0 10.2 7.0 46 23 1.5 C2moro
(n'7yn'71 n"n 8 0MDP'7 [122 D) DTIP 7w 1D ONIPA '3 'VINTY X7 pull-out-1 7wIn onIy *
fo=( fek )0,5 C50/60 C45/55 C40/50 C35/45 C30/37 C25/30 C20/25 |ID2N 210
B=(5¢
25 1.58 148 141 1.34 1.22 1.10 1.00 fg
Nrd,c= Nord,c .fe.fan.frn |Ibn onip '9'7 7wd 1.2
0
|ID2N NXPR PNID NY9YN DTN fan (1020 onIp '97 Na'7wa piyn '7ann PN PN | Nordc
(mm) iy npnn poiy heft [ID2N 210 NYsW DTN f8
(N/mmz) (102N N¥'NY7 PTIN fok 02210 2 PNIN NYSWn 070 fAN
NOc=77.25% hett /(15002 prTo oa7 NOc=11.25% hetr ™ /(1500y2)  pITO X7 b27
kN Nord,c
THE/TFE 10 THE/TFE 8 THE/TFE 6 THE/TFE 5 [ayn 210
67 60 42 51 38 43 26 35 25 heff
20.1 17.0 9.8 13.2 7.0 103 4.1 76 4.6 ITO X7 |02
14.1 11.9 6.9 9.2 4.9 7.2 2.8 53 3.2 'N0"0/pPITO [ID2
kN Ngc
THE/TFE 18 THE/TFE 14 THE/TFE 12 [ayn a0
112 70 92 58 84 58 heff
435 21.2 324 16.2 28.0 16.2 PITO X7 102
304 14.9 22,6 11.3 19.6 13 'D0"0/pITO [ID2
‘ fk 05 60-2 50-1 45-1 40-1 352 302 25-1 |ID2N 210
B=( 25 ) 1.55 1.41 1.34 1.26 1.18 1.10 1.00 fg

THE/TFE




. DI 2|2 PN Nyswn 0Tpn fan
fan=05+- THE/TFE 18 | THE/TFE 14 | THE/TFE12 |  THE/TFE10 | THE/TFES | THE/TFE6 | THE/TFES
12| 70 | 92 | 58 | 84 | 58 | 67 | 60 | 42 | 51 | 38 | 43 | 26 | 35 | 25 |Mef
[APMDIWOUADTID |- 0.54 | 0.56 | 0.55 | 0.57 | 0.55 | 0.57 | 0.56 | 0.57 | 0.60 | 0.58 | 0.61 | 0.60 | 0.66 | 0.62 | 0.67 | 25
ouvn 0.54 | 0.57 | 0.55 | 0.59 | 0.56 | 0.59 | 0.57 | 0.58 | 0.62 | 0.60 | 0.63 | 0.62 | 0.69 | 0.64 | 0.70 | 30
X "JX'?T; si2 | | 057062059 064060064062 064]070]067]072]069]082]074]083] 50
2 059 | 064 | 061 | 067 | 062 | 067 | 065 | 067 | 0.74 | 0.70 | 0.77 | 0.73 | 0.88 | 0.79 | 0.90 | 60
TNty DTN X 7937 Yt 061 | 068 | 064 | 0.72 | 0.65 | 0.72 | 069 | 0.71 | 0.80 | 0.75 | 0.83 | 0.79 | 0.98 | 0.86 | 1.00 | 75
DO IN DI I 187 T IX 063 | 072 | 066 | 0.76 | 0.68 | 0.76 | 0.72 | 0.75 | 0.86 | 0.80 | 0.90 | 0.85 | 1.00 | 0.93 90
A A 065 | 0.74 | 068 | 0.79 | 0.70 | 0.79 | 0.75 | 0.78 | 0.90 | 0.83 | 0.94 | 0.89 0.98 100
069 | 0.80 | 0.73 | 0.86 | 0.75 | 0.86 | 0.81 | 0.85 | 1.00 | 0.91 | 1.00 | 0.98 1.00 125
¢ 512 072 | 0.86 | 0.77 | 0.93 | 0.80 | 0.93 | 0.87 | 0.92 1.00 1.00 150
0.76 | 0.92 | 0.82 | 1.00 | 0.85 | 1.00 | 0.94 | 0.99 175
@ @ 0.80 | 0.98 | 0.86 0.90 1.00 200
Si3 0.83 | 1.00 | 091 0.95 225
@ @ 0.87 0.95 1.00 250
' 0.90 0.99 270
095 1.00 300
1.00 335
ID2n XD PMD NYOWN DD fry
fan=05+—37 ¢ THE/TFE18 | THE/TFE14 | THE/TFE12 |  THE/TFE10 | THE/TFES | THE/TFE6 | THE/TFES
112 70 | 92 | 58 | 84 | 58 | 67 | 60 | 42 | 51 | 38 | 43 | 26 | 35 | 25 |
(mm)||D:nnx|7‘ry|7mD| c | 057 | 062 | 0.59 | 0.64 | 0.60 | 0.64 | 062 | 0.64 | 0.70 | 0.67 | 0.72 | 069 | 0.82 | 0.74 | 0.83 | 25
059 | 0.64 | 061 | 0.67 | 0.62 | 067 | 0.65 | 0.67 | 0.74 | 0.70 | 0.77 | 0.73 | 0.88 | 0.79 | 0.90 | 30
DIDTPRN X 719207 Wt 065 | 0.74 | 068 | 0.79 | 0.70 | 0.79 | 0.75 | 0.78 | 0.90 | 0.83 | 0.94 | 0.89 | 1.00 | 0.98 | 1.00 | 50
001N 727 TN IX TINY 068 | 0.79 | 0.72 | 0.84 | 0.74 | 0.84 | 0.80 | 0.83 | 0.98 | 0.90 | 1.00 | 0.97 1.00 60
12N N9 Iy XDAITY 0.72 | 0.86 | 0.77 | 0.93 | 0.80 | 0.93 | 0.87 | 0.92 | 1.00 | 1.00 1.00 75
fan = fRny - fRN.z 077 | 093 | 0.83 | 1.00 | 0.86 | 1.00 | 0.95 | 1.00 90
0.80 | 0.98 | 0.86 0.90 1.00 100
0 S P ol |o087 100|095 1.00 125
E &l| [o9s 1.00 150
i iy 1l [ 100 170
i . -
= ()
_
1 ID2n NP i
Nrd,s =As.fuk / 1,4 jIynnina'7vd 1.3
2 Nrd,s
i THE/TFE18 | THE/TFE14 | THE/TFE12 | THE/TFE10 | THE/TFES | THE/TFE6 | THE/TFES PV 210
1154 753 532 392 28.0 17.9 1.7 D001 'DDO
Nia = min {Nrg,p, Nra,c , N} n9'7v1'7wO Do

Nrd > NIN7 11X 97w |21Iyn 7Y 7y9I00 (2N 0RIvn

THE/TFE




mmava-2

Vids= 0,5.As.fuk/ 1,5 jJynnina '7va 2.1
a kN Vid,s
ﬂ THE 18 TFE 14 TFE12 TFE 10 TFE8 TFE6 [ayn 210
294 211 15.7 12.8 7.8 6.3 170 DY D00 IX 'DDO
539 35.1 248 18.3 13.1 83 C1mo"o
294 21.1 15.7 12.8 7.8 = C2moro
Vrd,c= Vord,c fa.fyv.farv JIb2n N¥p 197 7w 2.2

AT 2N Y ['X,NXP 720 PIN [a1yn OX
XN NYPAN PNINN 12 01PR2 00120 73 '9'7 7N X awn'7 v
ADIT 0TINND DY WP 1IXYT7 7010 ,NXPAN ONXP TIXD O'PNIN NI IX 2 Y1 NT0a

0
mmapyn v annpnptn | Ve

[ID2N 210 NYDWN DTPD fs

JID2N DX 21 7y9100 NIDN I3 "2 NIt NYswin 0Tpn fy,V

0IYN 2 PN0IIDAN AYpR pnan nyawn 0T | fary

(mm) 21 27 op d

(mm) pynmpnnpoy | heff

(mm) 12N NP TY PN d
a=0,1. (heft/)™
B=0,1. (d/c)o'2 Vord,c =[24. d®. heffI3 . 250’5 . c1’5 1/1,5 PITO X7 1027
N | Vo
THE/TFE 18 THE/TFE 14 THE/TFE 12 THE/TFE 10 THE/TFE 8 THE/TFE 6 THE/TFE 5 [y a0

12 70 92 58 84 58 67 60 42 51 38 43 26 35 25 |heft C
422 | 388 | 407 | 377 | 400 | 377 | 385 | 379 | 358 | 3.69 | 353 | 3.60 | 337 | 350 | 3.35 45
485 | 447 | 468 | 435 | 460 | 435 | 444 | 437 | 414 | 426 | 409 | 416 | 390 | 405 | 3.88 50
550 | 508 | 532 | 495 | 523 | 495 | 506 | 497 | 473 | 485 | 466 | 475 | 446 | 462 | 444 55
6.17 | 572 | 598 | 558 | 588 | 558 | 569 | 560 | 533 | 547 | 526 | 536 | 504 | 522 | 502 60
759 | 706 | 736 | 689 | 725 | 689 | 703 | 692 | 6.61 6.77 | 653 | 664 | 626 | 648 | 6.24 70
908 | 849 | 882 | 829 | 870 | 829 | 844 | 833 | 79 | 815 787 | 799 | 757 | 781 7.54 80
1065 | 998 | 1036 | 9.76 | 10.22 | 976 | 994 | 980 | 939 | 960 | 929 | 943 | 894 | 922 | 891 90
1229 | 1155 | 11.97 | 1130 | 11.82 | 11.30 | 11.50 | 11.35 | 10.89 | 11.13 | 10.77 | 10.93 | 1039 | 10.70 | 10.35 100
1577 | 1488 | 1538 | 14.58 | 1520 | 1458 | 14.82 | 1464 | 14.08 | 1437 | 13.94 | 1413 | 13.47 | 13.85 | 13.42 120
19.50 | 1846 | 19.05 | 18.11 | 18.83 | 18.11 | 1838 | 1817 | 1752 | 17.85 | 1735 | 17.58 | 16.79 | 17.24 | 16.73 140
2345 | 2226 | 2293 | 21.85 | 22,69 | 21.85 | 2217 | 21.93 | 21.17 | 21.56 | 20.98 | 21.24 | 20.33 | 20.85 | 20.27 160
2762 | 2627 | 27.03 | 25.81 | 26.76 | 25.81 | 26.17 | 25.89 | 25.04 | 2548 | 24.82 | 25.12 | 24.08 | 24.67 | 24.01 180
3198 | 3047 | 3133 | 29.96 | 31.02 | 29.96 | 3037 | 30.06 | 29.10 | 29.59 | 28.85 | 29.18 | 28.02 | 28.69 | 27.94 200
4370 | 41.79 | 42.88 | 41.14 | 4249 | 41.14 | 41.66 | 41.26 | 40.04 | 40.67 | 39.72 | 40.15 | 38.66 | 39.52 | 38.55 250
56.47 | 5415 | 5547 | 5337 | 55.00 | 53.37 | 53.99 | 53.51 | 52.01 | 52.79 | 51.63 | 52.15 | 50.32 | 51.37 | 50.19 300

PITO X7 |12

THE/TFE




Vord,c =017.d%. heﬁB 2597 1@ 1/1,5 170 |ID27
KN | Vo
THE/TFE 18 THE/TFE 14 THE/TFE 12 THE/TFE 10 THE/TFE 8 THE/TFE 6 THE/TFE5 | pivnaio
112 70 92 58 84 58 67 60 42 51 38 43 26 35 25 |heft —C
299 | 275 | 288 | 267 | 283 | 267 | 273 | 268 | 254 | 261 | 250 | 255 | 238 | 248 | 237 45
343 | 317 | 332 | 308 | 326 | 3.08 | 3.15 | 3.09 | 293 | 3.02 | 289 | 295 | 276 | 287 | 275 50
389 | 360 | 377 | 351 | 371 | 351 | 358 | 352 | 335 | 344 | 330 | 336 | 3.16 | 3.28 | 3.14 55
437 | 405 | 423 | 395 | 417 | 395 | 403 | 397 | 3.78 | 388 | 373 | 379 | 357 | 370 | 355 60
537 | 500 | 521 | 488 | 514 | 488 | 498 | 490 | 468 | 480 | 462 | 470 | 444 | 459 | 442 70 g
643 | 601 | 625 | 587 | 616 | 587 | 598 | 590 | 564 | 577 | 557 | 566 | 536 | 553 | 534 80 E_’
754 | 707 | 734 | 691 | 724 | 691 | 704 | 694 | 665 | 680 | 658 | 668 | 633 | 653 | 6.31 90 g_
871 | 818 | 848 | 801 | 837 | 801 | 814 | 804 | 771 | 788 | 763 | 774 | 736 | 758 | 7.33 100 g
11.17 | 10.54 | 10.90 | 1033 | 10.77 | 1033 | 10.50 | 10.37 | 9.97 | 10.18 | 9.87 | 10.01 | 9.54 | 9.81 | 9.51 120
13.81 | 13.07 | 13.49 | 12.83 | 13.34 | 12.83 | 13.02 | 12.87 | 1241 | 12.65 | 1229 | 12.45 | 11.89 | 1221 | 11.85 140
16.61 | 1576 | 16.24 | 1548 | 16.07 | 1548 | 1571 | 1553 | 15.00 | 15.27 | 14.86 | 15.05 | 1440 | 1477 | 1436 | 160
19.56 | 18.60 | 19.15 | 18.28 | 18.95 | 18.28 | 18.54 | 1834 | 17.73 | 18.05 | 17.58 | 17.79 | 17.06 | 17.48 | 17.00 | 180
2266 | 2159 | 2219 | 21.22 | 21.97 | 21.22 | 21.51 | 21.29 | 20.61 | 20.96 | 2044 | 20.67 | 19.85 | 20.32 | 19.79 | 200
30.96 | 29.60 | 3037 | 29.14 | 30.10 | 29.14 | 29.51 | 29.23 | 2836 | 28.81 | 28.14 | 28.44 | 27.38 | 27.99 | 27.31 250
40.00 | 38.36 | 39.29 | 37.80 | 38.96 | 37.80 | 38.24 | 37.90 | 36.84 | 37.39 | 36.57 | 36.94 | 3564 | 3639 | 3555 | 300
fa=( fok )0,5 60-2 50-1 45-1 40-1 352 30-2 25-1 [ID2N 210
25 155 141 134 126 1.18 1.10 1.00 fa
90° 80° 70° 60° 50° 40° 30° 20° 0° y
2.5 232 1.97 1.64 1.40 1.24 1.13 1.05 1 fyv
----------------------- |Iban |"I¥|7'7 n'on' N1'1M2 oniyn Nt | Y |
%— 1 o 0
2 fov= /(cos \()2 +(0,25-sin y)2 O s vs
_______________________ JID2N NXP'Y7 712pNN NIDN 21D NX PR AWN7 W ,90°-1 NYITa Nt NTHA

JJIban i"l¥|7'7 190 |12 12'AY NIdin 2'J7N2 awnnn7 T |'X

(mm) NprTan i1 197 102N N¥P TY PRIn c 3C+HS1+52+ 53+ o+ St 0TIy NXIp7
fary =
(mm) 12N NXP DY 720 1P '97 DAY |12 PN Sx 3nc
[ID2N N¥P'7 NANP N NIYAD D1y 1901 n
TT2 PUYT7 *
mm ENV xonX [pn 7w niwnT e R
1 ]
16 | 14 |12 10| 8 6 PN 0Ip i @ @ @ @ @ ;
1 1
18 | 16 | 14 | 12 9 7 NTYINNT7927IN i i
[ S1 S2 Sn-2 o Sn-1 1
: = = = :
mm | ENV®X9nX |pn ‘7 niwnT I , ]
1
30 | 27 | 24 | 22| 20 | 18 aRbI) i @ @ @ @ I @ E
i i C 1
3330 | 26 | 24| 222 ITOVID 11792 — :

17792707 21IYN "2 NDXNN NN X710T'N2 (0720 NX1) 21YN 017 DY NTHNIDN N T792 1IN0 DX ORNNT7 W'LENV 1992-4:2018 'XOIT'X |PN 197
JID2N NYP'7 NI N2NPN 02AYN NIY2A 27017172 2WNNNT7 72111 0131VN NNIY 2 1712 NIND 12yN N'DaN7 NNYIX 'K, INN 170 IX



> Vrd,cp= k. Nrd,c Pryout 97 '7w3 2.3

=

)

4|

m h<60nm | 1 K
u: h=60nm | 2

(1.2n97wa 7w awn ax1) | Nede

Vid = min {Vrd,c, Vrd;s , Vrd,cp} N1 YvI Do
A7iwnnoniyn'a7'7wd -3
[1yn 7y '7y9i0n N9'7wa [N NIy Nsd
[y 7Y 7¥9IDN 1T 3N 0PIy Vsq
Nsg 1,5 Vsg 1,5 : (Nrd,c; Nrdp) DIDID = NRd,concrete
TF <
NRd,concrete VRd,concrete - Vrder Vrd,Cp) amnan = VRd concrete
Nsg )2+ ( Vsg 2 o Nrds = NRd steel
NRd steel VRdsteel Vids = VRd,steel

mpnn

D70 2+ 21yn NIX pRIval (un'nn 7IJI|7'7 VDR nx7) |3IIV'7 o'xnnanbipanin I'IIT|7'7 (1

(WNTI X7 X X70ID) 1R XN7 DY 1NN DX N7 (2
(TRXINN ANINYT 27120 WX NTHYN INX7 1IXY7 W') DPON'X N2120 IX NN9N NIYYDNA IV DX 2120
7 7 7 | 7(3

THE/TFE




D'0”pnI NIT'N

L TFE
j |
R .
% NN
@ do $ /’Ji ] dn
!
1 L
I =
s v N
/ df
&
h
(191wn On |'72) ATLANTIS |i'72 - THE .p |72 - TFE
mpNALIDm | 0Ny wip X | NmpAop | AR o iy wip
X70n ‘OpnTONID | NAIoN DIN7Xa | (NANA7) | (Mvw)wxa | nEn TFE "D THE 09D 5 X
TOXID
Tinst NM) | tgi (mm) | SW(mm) | L(mm) | df(mm) | do(mm) | du(mm) | di(mm)
5 40 TFE05040 THE05040 THE/TFE 5x40
15 50 TFE05050 THE05050 THE/TFE 5x50
10 25 8 60 7 5 " 6 TFE05060 THE05060 THE/TFE 5x60
45 80 TFE05080 THE05080 THE/TFE 5x80
65 100 TFE05100 THE05100 THE/TFE 5x100
5 40 TFE06040 THE06040 THE/TFE 6x40
15 50 TFE06050 THE06050 THE/TFE 6x50
25 60 TFE06060 THE06060 THE/TFE 6x60
10 35 10 70 9 6 14 8 TFE06070 THE06070 THE/TFE 6x70
45 80 TFE06080 THE06080 THE/TFE 6x80
65 100 TFE06100 THE06100 THE/TFE 6x100
85 120 TFE06120 THE06120 THE/TFE 6x120
5 55 TFE08055 THE08055 THE/TFE 8x55
10 60 TFE08060 THE08060 THE/TFE 8x60
20 70 TFE08070 THE08070 THE/TFE 8x70
30 80 TFE08080 THE08080 THE/TFE 8x80
20 40 13 90 12 8 17 10 TFE08090 THE08090 THE/TFE 8x90
50 100 TFE08100 THE08100 THE/TFE 8x100
60 110 TFE08110 THE08110 THE/TFE 8x110
70 120 TFE08120 THE08120 THE/TFE 8x120
90 140 TFE08140 THE08140 THE/TFE 8x140
5 60 TFE10060 THE10060 THE/TFE 10x60
15 70 TFE10070 THE10070 THE/TFE 10x70
25 80 TFE10080 THE10080 THE/TFE 10x80
- 35 15 90 ” 9 0 05 TFE10090 THE10090 THE/TFE 10x90
45 100 TFE10100 THE10100 | THE/TFE 10x100
65 120 TFE10120 THE10120 | THE/TFE 10x120
85 140 TFE10140 THE10140 | THE/TFE 10x140
145 200 TFE10200 THE10200 | THE/TFE 10x200

THE/TFE




qwna - THE/TFE

mpnnLINML | NINAY wIp NIX NP I0Ip | NIMpLIp o1p gl
X700 ‘OpnNNID | NaIon pMN7Xa | (1N 217) UXIN nan
THNID (n2"w) TFE PN TFE PN D9 XN
Tinst (NM) | tfix (mm) | SW(mm) | L(mm) | df(mm) do (mm) d7 (mm)
dH (mm)
5 80 TFE12080 THE12080 THE/TFE 12x80
15 90 TFE12090 THE12090 THE/TFE 12x90
35 110 TFE12110 THE12110 | THE/TFE 12x110
50 18 16 12 25 14
55 130 TFE12130 THE12130 | THE/TFE 12x130
75 150 TFE12150 THE12150 | THE/TFE 12x150
125 200 TFE12200 THE12200 | THE/TFE 12x200
5 80 TFE14080 THE14080 THE/TFE 14x80
25 100 TFE14100 THE14100 | THE/TFE 14x100
45 120 TFE14120 THE14120 | THE/TFE 14x120
70 21 18 14 29 16
55 130 TFE14130 THE14130 | THE/TFE 14x130
65 140 TFE14140 THE14140 | THE/TFE 14x140
85 160 TFE14160 THE14160 | THE/TFE 14x160
20 100 TFE16100 THE16100 | TFE/THE 16x100
80 70 24 150 20 16 32 18 TFE16150 THE16150 | TFE/THE 16x150
120 200 TFE16200 THE16200 | THE/TFE 16x200
10 100 TFE18100 THE18100 | THE/TFE 18x100
40 130 TFE18130 THE18130 | THE/TFE 18x130
90 70 24 160 22 18 36 20 TFE18160 THE18160 | THE/TFE 18x160
90 180 TFE18180 THE18180 | THE/TFE 18x180
110 200 TFE18200 THE18200 | THE/TFE 18x200
PELM LR AR
d \ A S VL W W WAV TR
Ly L
mpnnomm | ninay WwIp TIX | UKD | NTRDIR | NMpR iR
X7nm ‘0PN TNNIN nmion pn7xa | (mana?)
D"pn D9 IIN'N
TRXIN
Tinst NM) | tfix (mm) | SW(mm) | L(mm) | dn(mm) | df(mm) | do(mm)
5 40 THA05040 THA 5x40
25 60 THA05060 THA 5x60
10 TX25 - 7 5
45 80 THA05080 THA 5x80
65 100 THA05100 THA 5x100
10 45 THA06045 THA 6x45
15 50 THA06050 THA 6x50
25 60 THA06060 THA 6x60
10 TX30 124 9 6
45 80 THA06080 THA 6x80
85 120 THA06120 THA 6x120
105 140 THA06140 THA 6x140
10 55 THA08060 THA 8x60
30 80 THA08080 THA 8x80
20 TX45 18 12 8
50 100 THA08100 THA 8x100
70 120 THA08120 THA 8x120
45 90 THA10100 THA 10x100
30 TX50 21 14 10
65 100 THA10120 THA 10x100

THE/TFE




THT THP

ARUNRARRNY ERan

Mpnnbmm | RNy woIp TR | AMP0R | AR 0P
X7nn ‘OnTONN | MaIon pm7xa | (Mana7)
NN n"pn D119 XN
SW | L(mm) | df(mm) | do(mm)
Tinst (Nm) tfix (mm) (mm)
5 40 THP05040 THP 5x40
8 TX30 7 5
25 60 THP05060 THP 5x60
5 40 THP06040 THP 6x40
15 50 THP06050 THP 6x50
10 25 TX40 60 9 6 THP06060 THP 6x60
45 80 THP06080 THP 6x80
65 100 THP06100 THP 6x100
10 60 THP08060 THP 8x60
20 TX45 12 8
30 80 THP08080 THP 8x80
5 40 THT06040 THT 6x40
10 15 TX30 50 9 6 THT06050 THT 6x50
25 60 THT06060 THT 6x60

TFF

[ H_\{. e

MpnN DIVID 1P MIX | NTRI0IR | NTRDIR
\7nn nmaion DIn73a | (NaNaY) ,
"M D9 AINN
THNIN
Tinst (Nm) SW(mm) | L(mm) | df(mm) | do(mm)
35 TFF06035 TFF 6x35
10 13 M8-M10 6
55 TFF06055 TFF 6x55

ﬁﬁ&ﬂﬂ RS

MIPNn LN wip RN OXNID -~ | NITR 01
X7nmn nmaion D7 (1Mnna9) ,
D’m D9 IXN
P2
Tinst (Nm) SW(mm) | L(mm) | df(mm) | do(mm)
10 " 35 M8 6 TFM06035 TFM 6x35
55 M10 TFM06055 TFM 6x55

THE/TFE




TFS

T B L R

L ot vt 4esrntsat 1 T T P o O

MIPNn D10 wip RN OXNID | TR0 | NTR0Ip
X7nmn maion D7 pIn7xa | (NQN17) .,
D" D19 XN
plslyal 0NN
Tinst(NM) | SwW(mm) | L(mm) | di(mm) | di(mm) | do(mm)
100 TFS06100 TFS 6x100
10 5 M8 9 6
120 TFS06120 TFS 6x120
110 TFS08110 TFS 8x110
20 7 M10 12 8
130 TFS08130 TFS 8x130
120 TFS10120 TFS 10x120
30 8 M12 14 10
140 TFS10140 TFS 10x140

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702

THE/TFE




TXE

NNV NIr¥pr79x
[ :

l H___Hh.%.\.\.*.\.- nMan 7y

TXE NINTO,NIXOD NIPYD |11V«

q0D NP Y .

TN WIN'WYYT7 0T |1y«

D""9XD

7Y 12020 07100 .
$S316 NDOIN' »
AMNUID'Y7 D) .

European

Fruebmiy

ETA-20/0046- ETAC n1

Approval CIADTXNTYI7 WYX »
(30-21b2) TTIA J21Y'7 D'ODIY N'72D
| menz | mew | mxes | TXE6 | pvn o
46.0 | 266 | 330 | 161 | 216 | 138 | 170 | 99 8.0 Nrkcone
* * % 100 | 120 * 5.5 Nrkpull | N9'7w S
69.7 48.1 293 176 Nrk steel =
348 24.1 147 838 N L Vik mn ;
255 14.8 184 | 89 120 | 56 6.7 5.5 3.1 Nrd Nty &
[an oniy =
279 | 279 | 192 | 164 | 117 | 117 | 70 7.0 7.0 Vi nm =
182 | 106 | 13.1 6.4 8.6 40 48 39 22 Nrec N9ty \7nin oniy
199 | 199 137 | 117 | 84 8.4 5.0 5.0 5.0 Vrec DRl nn'g oniy
322 | 186 | 231 | 113 | 151 9.7 19 | 69 5.6 Nrk.cone
*. 140 *. * 5.0 7.5 25 1 Nrkpull | N9*7w S
69.7 48.1 29.3 17.6 Nrksteel -
348 241 147 838 N L Vik mm 2
17.9 7.8 128 | 63 8.4 28 42 14 0.6 Nrd Nty e
[on only =
279 | 227 | 192 | 115 | 117 | 92 6.9 6.4 58 Vid nale
12.8 5.6 9.2 4.5 6.0 2.0 3.0 1.0 0.4 Nrec no'7y X7nIn oniy
199 | 162 | 137 | 82 83 6.6 5.0 46 4.1 Vrec nm nnw ony
80-110 70-120 70-105 40-60 L [Ayn X
105 75 85 55 65 50 55 40 35 hnom 7X1M1 Mpnn poiy
84 58 67 42 51 38 43 30 26 heff PIX PN POy
12 10 8 6 do [ID22 NIT'P 0IP
170 | 120 135 | 100 100 100 MM | by min oDy | B
16 14 12 9 dr TNXINN DINTXN T NPNNT IR E
125 | 87 101 | 62 76 | s6 65 | 45 | 39 Copt poan i oppmn | R
45 40 35 35 Cmin [ID2N NXPN *7XDID PNIN o
2505 | 174 | 201 | 1245 | 1515 [ 1125 | 120 | 90 | Sopt DA 2107 PN
75 50 35 35 Smin 1Y 12 '7X0' PRI
50 30 20 10 Nm Tinst MpNN7 X700 DI
600 600 160 160 Trmaxrec 70'0pN 701D LININ




ENV 'X917'X |pN '97 ADTX NT'YI7 [122N7 TTIA ]21y'7 0'Only N'71D

TFE12 TFE10 TFE8 TFE6 [ayn 210
g4 | 58 o7 | % 51| 38 B | 30 | om| her | BpEX MIPNA DIy
32.2 18.6 23.1 1.3 15.1 9.7 1.9 6.9 Nrk,cone
215 9.9 12.8 6.7 8.8 3.6 5.7 21 Nrk,pull N7y
69.7 48.1 29.3 17.6 Nrk steel NN 7Y ONly o
30.8 26.0 19.9 15.2 10.0 8.0 8.4 58 *7m oy o
154 | 130 | 99 | 76 | 50 | 40 | a2 | 20 | M| V* [Tomwen | T £
12.0 5.5 7.1 3.7 49 2.0 3.2 12 Nrd no'7y Y
24.6 20.8 159 1.5 8.0 6.4 6.8 47 7oy [on only
Vid mm
12.3 104 7.9 5.7 4.0 3.2 34 2.3 7'M X77
80-110 70-120 70-105 40-60 L |21y X
105 75 85 55 65 50 55 35 hnom '7X1'D11 MpNn PRIy
84 58 67 42 51 38 43 26 heff '2'DP9OX NIPNN PRIY
12 10 8 6 do (1022 NIT'P DI
170 | 120 | 135 | 100 100 100 | o xpam 1y | 2
16 14 12 9 dr TONINDN DINZXN NTMPNN7WIR | A
125 | 87 101 | 62 76 | 56 65 | 39 Copt [ID2N NXPR 'DP PNID E
45 40 35 35 Cmin [IDANNXPR XD PN | 0O
2505 | 174 | 201 | 1245 | 1515 | 1125 | 129 | 78 Sopt DN 2 10P PP
75 50 35 35 Smin 0221y 2 '7XP'M pNIn
30 20 10 10 Nm Tinst M1pNN7 Y7010 DINID
600 160 160 160 Trmax,rec 70'0M Y7010 DININ

™I PAT 7Y 7'91197 Iy 12 NINDA 7 17D oy *

1pna "1

D70 2+ |21yn X pRIval (un‘nn 7IJI|7'7 1Ay WX ﬂN"I) |S|I)I'7 D'XNNN0IpaTIN n|'rp'7 ('I

(WNTIX7 X X70ID) 1R XN7 DY NN DX N7 (2

(TPNINN IDINYT 217120 WX NTRXN INXT 1IXYT7 Y1) DPR9ORIX N2120 IX NN9ND NIYXNXA Iyn DX 21107 (3
|

.N1122 PTIN 7v2 122 MPNNT7 NRYIY N'7Y2 N'7DWN 127120 WAL TXE Iy 1y

[ RRRRER




D'0”pnI NIT'N

hmin
A
!
/,,!
%
Q) dO iI) »xi
!
/,!
S
A
h
| e v
DINID ninay 01 X NI 01 | NITR 0IR 1R 1R
mpnn TDXID nlaon pDIN7X2 | (1N 1Y) Ux1 112N
X700 ‘opn TDXID (nmw) D"pn D9 IR
Tinst (Nm) | tfix (mm) | SW (mm) L (mm) df (mm) do (mm) du (mm) di (mm)
5 40 TXE06040 TXE 6x40
10 10 9 6 14 8
25 60 TXE06060 TXE 6x60
20 70 TXE08070 TXE 8x70
30 80 TXE08080 TXE 8x80
20 13 12 8 17 10
40 90 TXE08090 TXE 8x90
55 105 TXE08105 TXE 8x105
15 70 TXE10070 TXE 10x70
35 90 TXE10090 TXE 10x90
30 15 14 10 20 12
45 100 TXE10100 TXE 10x100
65 120 TXE10120 TXE 10x120
5 80 TXE12080 TXE 12x80
50 18 16 12 25 14
35 110 TXE12110 TXE 12x110




TXA

DI anin iy 01 IX 01 NITP I0IP | NITP 0Ip
napnn TOYID nuion wxX p782 | (AN 1Y)
X70ID 'opn TRYID 0"pn 019 1IN
dhead
Tinst (NM) |ty (mm) | SW (mm) L (mm) (mm) dr (mm) do (mm)
10 55 TXA08060 TXA 8x60
20 30 TX45 80 18 12 8 TXA08080 TXA 8x80
70 120 TXA08120 TXA 8x120
45 70 TXA10070 TXA 10x70
30 65 TX50 920 21 14 10 TXA10090 TXA 10x90
95 120 TXA10120 TXA 10x120

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




NNV NI¥pr7ax
NT2D NMYyn e
02 NT79 ' TINY .
NN NNDIX »

=

SLPT

o —— —
0""IXN

'DXIT |21y 2171100 .

SL-PC
: (SS316)A4 NDOIN' IX 8.8:NT79 210
Fire Resi el ?
el [ = st0 N =i
R120 pprova passivated IX 5-8u Zn :|I'72
(40-2 jID2) TTI2 J21Y'7 D'ONIY N'72D
M20 M16 M12 M10 M8 Mé Jalyn 10
28 24 18 16 12 10 (mm) pivnoip
97.2 69.6 54.5 40.7 323 24.6 Nrk,cone
*_ *_ *_ *_ *_ *_ Nrk,puII N9y
U9IX 7WI ONIY
196.0 126.0 67.4 46.4 29.3 16.1 Nrk steel 5‘
141.7 11.2 75.1 62.2 330 202 Vi m =
kN X
64.8 46.4 36.3 27.2 19.5 10.7 Nrd noa'7v o
[on ony =
1134 89.0 60.1 49.8 26.4 16.2 Vid haus! =
46.3 331 26.0 194 14.0 7.7 Nrec N7y \7nIn only
81.0 63.5 429 35.5 189 11.5 Vrec nm nn'wony
68.1 48.7 38.2 28.5 22.6 17.2 Nrk’cone
- - - - - - Nrk,pull no'7y
U9IN 7WI ONIY
196.0 126.0 67.4 46.4 29.3 16.1 Nrk steel ~
1417 11.2 75.1 62.2 330 202 Vik mm =
kN
454 325 254 19.0 15.1 10.7 Nrd no'y E
[N oniy ~
90.7 64.9 50.9 38.0 26.4 16.2 Vrd nm
324 23.2 18.2 13.6 10.8 7.7 Nrec no'y X700 only
64.8 46.4 36.3 27.2 18.9 11.5 Vrec nm nn'w only
. * * *- * * L AN IR
125 100 85 70 60 50 heff > '7XD'ID 12I0ON NP PRIY
28 24 18 16 12 10 do [ID22 NI DI
31 26 20 18 14 12 TRNINN DINXN T MPNNT 0IP e
250 200 170 140 120 100 mm | hextramin | NIPNNNPRIYT7 12YN 7XDD (102 QY E
187.5 150 127.5 105 90 75 Copt [ID2N N¥PR '7XDD9IX PN E
160 100 80 70 60 50 Cmin” (102N ¥R 7RI PN a
375 300 255 210 180 150 Sopt DY 2 *7XDDIIX PN
320 220 200 175 120 100 Smin "2 DY 217X PN
240 160 80 50 30 15 Nm Tinst MpNN7 \'70m DINN

AT7U2 197 NI INX 7w D 1T X7 ¥
*
177N 1227 X7 N9'7WN 1227 1 |10)




1pna "1Tn

AN N7 (1

(
JMXYN7 DY NN DX N7 (2
SLPT [a1yn NX 01017 (3
(

UITIN DINIDN 197 PIYN DX 1107 (4

i

,_
i

D'D”pnI NITN

SL-PC

3 ——— n
- ' e il

anin 1y
[ID221y TONID iy oIp DIN DIP X 0P
17XN"D 'opn npnn nnion naan yn o'pD B9 KN
hb,min tfix heff SW di L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
50 10 50 4 6 70 10 SLPC10070 SLPC M6/10-70
50 20 50 4 6 80 10 SLPC10080 SLPC M6/10-80
50 40 50 4 6 100 10 SLPC10100 SLPC M6/10-100
60 30 60 5 8 100 12 SLPC12100 SLPC M8/12-100
70 15 70 6 10 100 16 SLPC16100 SLPC M10/16-100
70 35 70 8 10 120 16 SLPC16120 SLPC M10/16-120
80 20 85 10 12 120 18 SLPC18120 SLPC M12/18-120




D'0”pnI NIT'N

SLPT
L
';::i“:y':':"“' Bl Al ek bl el sl ials S tix
it |
<~ \
odo il: s | [ dn
i =y |
AN
!
§ \
k!
: Marking of
! setting depth
nxljlrl;?‘;igm ninay miy oIp DD DI - oIp
‘Opn NN | mpnn nion N (i ,
napnn poiv7 D’ DM9 XM
hextra,min tfix heff SW ds L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
50 10 50 10 6 70 10 SLPT10070 SLPT M6/10-70
50 20 50 10 6 80 10 SLPT10080 SLPT M6/10-80
50 40 50 10 6 100 10 SLPT10100 SLPT M6/10-100
50 50 50 10 6 110 10 SLPT10110 SLPT M6/10-110
60 0 60 13 8 80 12 SLPT12080 SLPT M8/12-80
60 10 60 13 8 90 12 SLPT12090 SLPT M8/12-90
60 30 60 13 8 100 12 SLPT12100 SLPT M8/12-100
60 50 60 13 8 120 12 SLPT12120 SLPT M8/12-120
70 15 70 17 10 100 16 SLPT16100 SLPT M10/16-100
70 35 70 17 10 120 16 SLPT16120 SLPT M10/16-120
70 55 70 17 10 140 16 SLPT16140 SLPT M10/16-140
70 75 70 17 10 160 16 SLPT16160 SLPT M10/16-160
80 10 85 19 12 110 18 SLPT18110 SLPT M12/18-110
80 20 85 19 12 120 18 SLPT18120 SLPT M12/18-120
80 40 85 19 12 140 18 SLPT18140 SLPT M12/18-140
80 50 85 19 12 150 18 SLPT18150 SLPT M12/18-150
80 70 85 19 12 170 18 SLPT18170 SLPT M12/18-170
80 100 85 19 12 200 18 SLPT18200 SLPT M12/18-200
100 20 100 24 16 140 24 SLPT24140 SLPT M16/24-140
100 50 100 24 16 170 24 SLPT24170 SLPT M16/24-170
100 80 100 24 16 200 24 SLPT24200 SLPT M16/24-200
100 100 100 24 16 220 24 SLPT24220 SLPT M16/24-220
125 20 125 30 20 170 28 SLPT28170 SLPT M20/28-170
125 50 125 30 20 200 28 SLPT28200 SLPT M20/28-200
125 90 125 30 20 240 28 SLPT28240 SLPT M20/28-240

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




SO0
. )
LR
= AHINN G
e 0
= R
v\ )/
‘0&?&?&.’%

JPPROVE

NNV NI'¥pr79X
NT2D NMwyn e
0'NIA NT79 ' TINY -
NN NNDIX »

i —- |
n1MONN
SZ-B INIT 1Y 7100
\"i_ — (SS316)A4 NDOIN" IX8.8:NT79 110 °
- i - { 2 2
[ fuk=800 N/mm~; fyk = 640 N/mm”~ ¢
SZ-CSK passivated IX 5-8u Zn :|I'72 e
, C1-C2 NDTX NTWI7 IYWIXD »
Swiss S Fire Resi _: e » e
e 2O Wy e | corer BOCCR e GEDY
Shock Loads R120 ESR-3173
(40-1|1b2) TTIA [A1y7 D'ONIY NT72D
M24 M20 M16 M12 M10 M8 Mé [ayn 210
32 28 24 18 15 12 10 (mm) pynoip
127.8 99.6 85.8 69.6 51.7 425 323 24.6 Nrk,cone
127.8 99.0 85.8 70.7 50.9 42.4 28.3 24.0 Nrk,pull no'7y
"IN 7¥2 0nIy
282.0 196.0 126.0 126.0 67.0 46.0 29.0 16.0 Nrk,steel L
200 150.0 126.0 126.0 73.0 48.0 30.0 18.0 ) Vik mm f
N X
85.2 66.0 57.2 464 339 283 18.9 10.7 Nrd no'7y o
[>n only =
160.0 120.0 100.8 92.8 58.4 384 24.0 14.4 Vrd mm =
60.9 47.1 40.9 33.1 24.2 202 | 135 7.6 Nrec N7y \7DID ODIY
114.3 85.7 72.0 66.3 41.7 27.4 17.1 10.3 Vrec mm nn'w ony
89.5 69.7 60.1 487 36.2 29.8 22,6 17.2 Nrk,cone
89.5 70.7 509 50.9 354 22.6 17.0 7.1 Nrk,pull na'7vy
U9IX ‘7¢I ONIY
282.0 196.0 126.0 126.0 67.0 46.0 29.0 16.0 Nrk steel A
200 150.0 126.0 126.0 73.0 48.0 30.0 18.0 ) Vik nm =l
N
59.6 46.5 339 325 23.6 15.1 113 47 Nrd 97y E
[pnoniy ~
119.3 929 80.1 64.9 48.2 384 24.0 144 Vid mm
42.6 332 24.2 23.2 16.8 10.8 8.1 34 Nrec no'7y \7nIn only
85.2 66.4 57.2 46.4 344 274 17.1 10.3 Vrec nm nnwony
212-267 | 172-271 130-237 107-212 | 91-191 | 75-180 | 65-167 L N NIX
150 127 115 100 82 72 60 50 heff > 7XD'D 10POX NP PRIy
32 28 24 24 18 15 12 10 do 1022 AT 01
35 31 26 26 20 17 14 12 THNINN DINXN T NIPNNT 0IP e
150 125 100 100 70 60 50 50 mm | hextramin | MPNNN PRIV7 12Y0 '7XD1IM (102 121y E
225 190.5 1725 150 123 108 90 75 Copt (102N NYPR “7XDOIX PND E
150 125 100 100 70 60 50 50 Crmin (102N NYpR 7XPID PR | @
450 381 345 300 246 216 180 150 Sopt DIYN 2 '7XRDD9IX NN
150 125 100 100 70 60 50 50 Smin D2IYN 27X NN
280 280 160 160 80 50 30 15 Nm Tinst MpNN7 X700 DININ

.ETA 02/0030 |pn i1 7y orooiant ENV 1992-4: 2018 |pn 197 nrawinn ,0'pnan NIyown *71,40-1 [1D22 TTIA |1y '9'7 01120 01IM
.N9'7W21 p1 DDA D' DUYXDIDDIXD D'PNINA .D'0NIY NNNYNA 011 DY7XNI'DN DPNINA
Ay ‘72 miwr 197 2WN7 W AIXNIDDIX PNIN 'Y ,N1Ta N7120N 21wWNT




ENV 'X91N'X |pN '97 ADTX NT'YA7 12007 TTIA ]21y7 0'only N'710

M24 M20 M16 M12 M10 M8 [aiyn 210
32 28 24 18 15 12 (mm) pivnoip
89.5 61.2 54.0 43.8 313 26.2 204 Nrk,cone
63.3 50.3 444 36.0 25.0 16.0 12.0 Nrk,pull no'7y
NU9IX 7Y ONIY
282.0 196.0 126.0 126.0 67.0 46.0 29.0 Nrk steel o
160.1 96.4 519 519 434 27.1 18.0 Vik mm 5
kN o
422 335 29.6 24.0 16.7 10.7 8.0 Nrd no'7y il
|an only (U]
119.3 77.1 415 415 34.7 21.7 14.4 Vid mm
30.1 24.0 21.1 17.1 1.9 7.6 5.7 Nrec no'7y 7110 only
85.2 55.1 29.7 29.7 248 15.5 10.3 Vrec nm v only
89.5 61.2 54.0 438 313 26.2 204 Nrk,cone
63.3 43.6 41.2 29.0 226 16.4 54 Nrk,pull no'7y
nU9IX ‘7wl ONIy
2820 196.0 126.0 126.0 67.0 46.0 29.0 Nrksteel o
108.1 67.1 69.3 69.3 315 20.5 12.7 ) Vik mm >
N o
422 29.1 275 19.3 15.1 10.9 3.6 Nrd no'7y =~
|an only (@]
86.5 53.7 554 55.4 252 16.4 10.2 Vid mm
30.1 20.8 19.6 13.8 10.8 7.8 26 Nrec no'7y \70In only
61.8 383 39.6 39.6 18.0 1.7 73 Vrec mm nnw only
212-267 | 172-271 130-237 107-212 | 91-191 | 75-180 L nanpix | 2 R
mm = T
150 125 115 100 80 71 60 heff = 7xnIMppax Mpnapny | B8 A

1pna "1Tn

(
AR XNT DY NN DX N7 (
(
(

21N NpY

1
2

SZ iy NX 01007 (3

WITIN DININN 197 PIYN NX 1107 (4

i

i




D'D”pnI NIT'N

SZ
S
EN sl ’_[zﬁ Il N aning o
heft setting depth
. o
hb,min
nxlflg?';igm , min iy iy 1P DID DI - 1P oon
OpnTNNID | mpnn nion nan [yn
mpnn poiy7 D9 XN
hextramin tix heff SW d L do SZS SZ-B
(mm) (mm) (mm) (mm) (mm) (mm) (mm) NWx DIX WX
50 0 60 10 6 65 10 14005301 16005301 SZ M6/10-65
50 10 60-70 10 6 75 10 14010301 16010301 SZ M6/10-75
50 35 60-86 10 6 95 10 14025301 16025301 SZ M6/10-95
50 50 60-86 10 6 115 10 14030301 16030301 SZ M6/10-115
50 100 60-86 10 6 167 10 = 16045301 SZ M6/10-167
60 0 70 13 8 75 12 16105301 16105301 SZ M8/12-75
60 10 70-80 13 8 85 12 16110301 16110301 SZ M8/12-85
60 30 70-100 13 8 105 12 16125301 16125301 SZ M8/12-105
60 50 70-110 13 8 125 12 16130301 16130301 SZ M8/12-125
60 100 70-110 13 8 180 12 - 16145301 SZ M8/12-180
69 0 85 17 10 91 15 14205301 16205301 SZ M10/15-91
69 15 85-100 17 10 106 15 14215301 16215301 SZM10/15-106
69 25 85-110 17 10 116 15 14220301 16220301 SZM10/15-116
69 45 85-124 17 10 136 15 14225301 16225301 SZM10/15-136
69 95 85-124 17 10 186 15 14240301 16240301 SZM10/15-186
80 0 95 19 12 107 18 14305301 16305301 SZM12/18-107
80 10 95-105 19 12 117 18 14310301 16310301 SZM12/18-117
80 20 95-115 19 12 127 18 14315301 16315301 SZM12/18-127
80 40 95-135 19 12 147 18 14325301 16325301 SZM12/18-147
80 70 95-145 19 12 177 18 14335301 16335301 SZM12/18-177
80 100 95-145 19 12 212 18 = 16340301 SZM12/18-212
100 0 120 24 16 130 24 14505301 16505301 SZ M16/24-130
100 5-20 120-135 24 16 150 24 14515301 16515301 SZ M16/24-150
100 35-50 120-165 24 16 180 24 14525301 16525301 SZ M16/24-180
100 55-70 120-170 24 16 200 24 14575301 16575301 SZ M16/24-200
100 35-50 120-170 24 16 237 24 - 16530301 SZ M16/24-237
125 10 150-160 30 20 172 28 14610301 16610301 SZ M20/28-172
125 30 150-180 30 20 192 28 14615301 16615301 SZ M20/28-192
125 60 150-210 30 20 222 28 14625301 16625301 SZ M20/28-222
125 100 150-210 30 20 262 28 14630301 16630301 SZ M20/28-262
150 10 170-180 36 24 217 28 14710301 16710301 SZ M24/32-217
150 30 170-200 36 24 237 28 14715301 16715301 SZ M24/32-237
150 60 170-230 36 24 267 28 14725301 16725301 SZ M24/32-267
] —
SZ-B DIXWXI du$ el s aua




(SS316 nnoin) SZ A4

SZ-BA4 DIX WX SZ-SA4 NI wx)

dH dH
Ln L Ly L
nin 2y Ip
I 21y — iy iy WwIp oD T Wwip oo
17Xn1M ) mpnn nImTp | naon pivn
o nnan DM XM
hb,min tfix heff hs SW ds L do SZ-S A4 SZ-B A4
(mm) (mm) (mm) (mm) (mm) | (mm) | (mm) | (mm) N WX DIX WX
120 0 60 80 13 8 75 12 14105501 16105501 SZ A4 M8/12-75
120 10 60 80 13 8 85 12 14110501 16110501 SZ A4 M8/12-85
120 30 60 80 13 8 105 12 14125501 16125501 SZ A4 M8/12-105
120 50 60 80 13 8 125 12 14130501 16130501 SZ A4 M8/12-125
120 100 60 80 13 8 180 12 - 16145501 SZ A4 M8/12-180
140 0 71 95 17 10 91 15 14205501 16205501 SZ A4 M10/15-91
140 15 71 95 17 10 106 15 14215501 16215501 SZ A4 M10/15-106
140 25 71 95 17 10 116 15 14220501 16220501 SZ A4 M10/15-116
140 45 71 95 17 10 136 15 14225501 16225501 SZ A4 M10/15-136
140 95 71 95 17 10 186 15 14240501 16240501 SZ A4 M10/15-186
160 0 80 105 19 12 107 18 14305501 16305501 SZ A4 M12/18-107
160 10 80 105 19 12 117 18 14310501 16310501 SZ A4 M12/18-117
160 20 80 105 19 12 127 18 14315501 16315501 SZ A4 M12/18-127
160 40 80 105 19 12 147 18 14325501 16325501 SZ A4 M12/18-147
160 70 80 105 19 12 177 18 14335501 16335501 SZ A4 M12/18-177
160 100 80 105 19 12 212 18 - 16340501 SZ A4 M12/18-212
200 0 100 130 24 16 130 24 14505501 16505501 SZ A4 M16/24-130
200-230 5-20 100-115 | 130-145 24 16 150 24 14515501 16515501 SZ A4 M16/24-150
200-230 35-50 100-115 | 130-145 24 16 180 24 14525501 16525501 SZ A4 M16/24-180
200-230 85-100 | 100-115 | 130-145 24 16 237 24 - 16530501 SZ A4 M16/24-237




SZ CSK

dH
LH L
aninaly
[[saRallY o iy iy 01 DIN VIR e 01
17X 0PN mpnn nITp nmaion nnan [yn oDD 5199 NN
hb,min tfix heff h1 SW di L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
100 10 60 65 HEX 4 6 70 10 14011801 SZ-CSK M6/10-70
100 25 60 65 HEX 4 6 85 10 14021801 SZ-CSK M6/10-85
100 40 60 65 HEX 4 6 100 10 14031801 SZ-CSK M6/10-100
120 10 70 80 HEX 5 8 80 12 14111801 SZ-CSK M8/12-80
120 25 70 80 HEX 5 8 95 12 14121801 SZ-CSK M8/12-95
120 50 70 80 HEX 5 8 120 12 14131801 SZ-CSK M8/12-120
140 10 85 95 HEX 6 10 100 15 14211801 SZ-CSK M10/15-100
140 25 85 95 HEX 6 10 110 15 14221801 SZ-CSKM10/15-110
140 35 85 95 HEX 6 10 120 15 14226801 SZ-CSKM10/15-120
140 50 85 95 HEX 6 10 135 15 14231801 SZ-CSK M10/15-135
160 20 95 105 HEX 8 12 115 18 14316801 SZ-CSKM12/18-115
160 40 95 105 HEX 8 12 135 18 14326801 SZ-CSK M12/18-135
(SS316 npboin1) SZ CSK A4
anin 'y
(102 21y D oy oy o1p DIN VIR e 01p
17X 0P mpnn nimp nion 172N piyn oo .
hb,min tfix heff hy SW d L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm) (mm)
120 10 70 80 HEX 5 8 80 12 14111531 SZ-CSK A4 M8/12-80
120 25 70 80 HEX 5 8 95 12 14121531 SZ-CSK A4 M8/12-95
120 50 70 80 HEX 5 8 120 12 14131531 SZ-CSK A4 M8/12-120
140 10 85 95 HEX 6 10 100 15 14211531 SZ-CSK A4 M10/15-100
140 25 85 95 HEX 6 10 110 15 14221531 SZ-CSK A4 M10/15-110
140 35 85 95 HEX 6 10 120 15 14226531 SZ-CSK A4 M10/15-120
140 50 85 95 HEX 6 10 135 15 14231531 SZ-CSK A4 M10/15-135
160 20 95 105 HEX 8 12 115 18 14316531 SZ-CSK A4 M12/18-115
160 40 95 105 HEX 8 12 135 18 14326531 SZ-CSK A4 M12/18-135
| ds | 78N 21y w0 Xinoip | 09 0Ip
TRXINN NINT VXN VXN
DD IIXR'N
o tfix hh dg d3
. (mm) (mm) (mm) (mm)
' "N 450 *8/4 39 95 165 | SZ-CSKM6
hn *10/5 5,0 1,5 205 SZ-CSK M8
*14/6 5,7 14,5 24,5 SZ-CSKM10
*18/7 6,7 17,5 29,5 SZ-CSK M12
da TN DN

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




NIV NIr¥pr7ax

PIT0 |ID27 '2'DPINDOAR AN -
NT79 NYpPINDOAR 1IN .
Nipyn NIXo 11an »

YDWN FTIDY "IN 'TIDY 112N .

0'1"IXN

XN 1Y :02171200 ¢
Carbon steel :n 779210
T 5-8uZn:|lI7a -

Fire Resistance

K . Eur n
Classification uropea

R120 Approval 1nxa <nn) C2-1C1 AT NITYA7 WIND -
(30-21D2) TTI2 J21Y'7 D'ONIY N'72D
M24 M20 me | wmi2 | wmo | ms | PV 210
84.6 60.5 474 354 28.1 20.1 Nrk,cone
55.0 55.0 38.5 27.5 17.6 9.9 Nrk pull no'7v
179.2 116.6 72.7 404 314 18.1 Nrk steel 197D 0Dy g
84.7 73.1 471 253 17.4 11.0 Vik nmm i
36.7 36.7 257 18.3 1.7 6.6 KN Nrd no'7y é
67.8 58.5 37.7 20.2 139 8.8 Vrd nmm n oy IE_
26.2 26.2 18.3 13.1 8.4 4.7 Nrec noa'7v X'70m ony
48.4 41.8 26.9 14.5 9.9 6.3 Vrec nmm nn'w ony
59.2 424 33.2 24.8 19.7 14.1 Nrk,cone
33.0 33.0 27.5 17.6 9.9 55 Nrk pull N7y
179.2 116.6 72.7 404 314 18.1 Nrk steel 1972 0Dl A
84.7 73.1 47.1 253 17.4 11.0 Vik nmm 2
22.0 22.0 18.3 1.7 6.6 3.7 KN Nrd no'7y E
67.8 56.5 37.7 20.2 13.9 8.8 Vrd nmm nopy =
15.7 15.7 13.1 84 47 26 Nrec o7y X700 ony
484 403 269 14.5 9.9 6.3 Vrec mm nnw oniy
140-300 170-200 145-250 80-200 90-185 50-115 L 120 X
145 114 97 80 68 55 hnom 7X11011 NIpnn poiy
125 100 85 70 60 48 heff [lyn mpnn iy
24 20 16 12 10 8 do Ibaanmp e |
200 200 170 140 120 100 hb,min 78D 101 Q1Y _E
26 22 18 14 12 9 mm dr TRNINA DINTXN T MPNA7 DI .E
1875 150 1275 105 90 72 Copt [ID2N YR “7XIDOIX PAD E
100 100 85 70 60 50 Cmin (1020 YD XN AN a
375 300 255 210 180 144 Sopt DY |12 '7XNDDIX PN
100 100 85 70 60 50 Smin DY 27X NN
200 200 100 60 40 20 Nm Tinst MpNN7 X700 DININ

.ETA 12/0397 jpn ama 7y orooiant EN 1992-4: 2018 [pn '97 o'awinn ,0'pnn Niyown '72,30-1 [I022 TTIA a1y '97 00D 0N
Ii li i

.N9'792 P71 D'V D' D7XNDDIND D'PNINA .0'0NIY NNN9NA 02112 D'7XDY'DA D'PNINA

21y ‘72 mwn 197 2WNY7 W' ATRDD9IX PNI0 'Y 01T N7I20N 21w'nY




ENV 'X917'X |pN '97 ADTX NT'YI7 [122N7 TTIA ]21y'7 0'Only N'71D

M20 | M16* | M12 | M10* | M8 | [y wip |
424 33.2 248 19.7 14.1 Nrk,cone
33.0 27.5 17.6 9.8 6.5 Nrk,pull n9'7y
N"9IN 7 OnIY
116.6 72.7 40.4 314 18.1 Nrk steel -
58.5 33.0 17.8 122 7.7 Vik mm Py
kN o
28.2 221 16.5 9.8 6.5 Nrd no'7y —
[ononiy v
46.8 26.4 14.2 9.8 6.2 Vid nm
20.2 15.8 11.8 7.0 4.6 Nrec no7y 7110 only
334 189 10.2 7.0 44 Vrec mm v only
424 33.2 24.8 19.7 - Nrk,cone
23.1 9.8 10.0 43 - Nrk pull no'7y
U9IX ‘7wd only
116.6 72.7 404 314 - Nrk steel o
58.5 33.0 178 12.2 - Vik mm o
kN o
23.1 9.8 10.0 43 - Nrd no'7y ~
[ononly (@]
46.8 26.4 14.2 9.8 - Vid mm
16.5 7.0 7.2 31 - Nrec no'7y \(7[]"3 only
334 189 10.2 7.0 - Viec nm nn'w ony
140-300 | 119-250 | 98-250 | 82-200 | 68-200 L NANTX | 4 A
(=
114 97 80 68 55 mm | hnom nmpmy | 5 &
[S=
100 85 70 60 48 hef [Iyn mpna oy

.MTP M16 jaiy'7 o'on"nn 0'ainn ,n"n 16 01p2 *

11pna "1

AN N7 (1

AMIX XN DY NN DX NP7 (2
MTP-X |21y NX 01217 (3

4

~ o~~~

WA DININN '97 2IYN NX 11107




D'0”pnI NIT'N

] MTP-X
Tfix
| / sw
4
N
MTP-X
nin 2y nITp oIy Wwip TIX iy
nnionnIX | .0pR TNYIN oy pvi 0 ARERNG)
PN wx12a tix hi SwW L do
(mm) (mm) (mm) (mm) (mm)

A 3 *40 13 50 8 APX08050 *MTP-X M8x50
C 9 60 13 75 8 APX08075 MTP-X M8x75
E 29 60 13 95 8 APX08095 MTP-X M8x95
G 49 60 13 115 8 APX08115 MTP-X M8x115
E 10 75 17 90 10 APX10090 MTP-X M10x90
F 25 75 17 105 10 APX10105 MTP-X M10x105
G 35 75 17 115 10 APX10115 MTP-X M10x115
H 55 75 17 135 10 APX10135 MTP-X M10x135
K 85 75 17 165 10 APX10165 MTP-X M10x165
L 105 75 17 185 10 APX10185 MTP-X M10x185
D 5 *65 19 80 12 APX12080 *MTP-X M12x80
E 4 85 19 100 12 APX12100 MTP-X M12x100
F 14 85 19 110 12 APX12110 MTP-X M12x110
G 24 85 19 120 12 APX12120 MTP-X M 12x120
H 34 85 19 130 12 APX12130 MTP-X M12x130
| 54 85 19 150 12 APX12150 MTP-X M12x150
L 84 85 19 180 12 APX12180 MTP-X M12x180
M 104 85 19 200 12 APX12200 MTP-X M12x200
| 28 105 24 145 16 APX16145 MTP-X M16x145
K 58 105 24 175 16 APX16175 MTP-X M16x175
0 103 105 24 220 16 APX16220 MTP-X M16x220
Q 133 105 24 250 16 APX16250 MTP-X M16x250
K 32 125 30 170 20 APX20170 MTP-X M20x170
M 62 125 30 200 20 APX20200 MTP-X M20x200
N 32 155 36 205 24 AP24205 MTP M24x205
P 62 155 36 235 24 AP24235 MTP M24x235

.D'ONIY NNNBNY DR [DPIN MPNN PRIY *

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




NIV NI¥pr7ax

PIT0 |ID27 '2'DPINLOAP VAN -
NT79 NYpPINBOAR 1IN .
Nipyn NiXoa 11an -«

70WN TINY ,NIXN TIDY 12N .

D'1"9XD
XN 1Y :02171200 ¢

Carbon steel :nT179210
Fire Resistance
Classification European Bl o+ AR 40u DIN'I'D TIDTINID <1172 »
Ri20 orret
(30-21p2) TTI2 JA1Y'7 D'ONIY N'72D
M20 me | wmi2 | wmio | wms | pyn 10
55.6 435 32.5 25.8 18.5 Nrkycone
55.0 38.5 33.0 17.6 9.9 Nrk,pull novy
19N 7Y 0Ny
116.6 72.7 404 314 18.1 Nrksteel =
731 471 253 17.4 11.0 Vik mm _:
kN X
36.7 25.7 220 1.7 6.6 Nrd no'7v o
[2n oniy =
58.5 37.7 20.2 13.9 8.8 Vid mm ~
26.2 18.3 15.7 8.4 4.7 Nrec no7vy X710 only
41.8 26.9 14.5 9.9 6.3 Vrec mm nn'w only
39.6 31.0 23.2 184 13.2 Nrk.cone
33.0 27.5 17.6 9.9 5.5 Nrk,pull n9v7Y
U9IX 7WI 0Ny
116.6 72.7 404 314 18.1 Nrk steel =
73.1 47.1 253 174 11.0 Vi m =l
kN )
22.0 18.3 1.7 6.6 3.7 Nrd no'7y =
[>n only ~
58.5 37.7 20.2 13.9 8.8 Vid nmm
15.7 13.1 8.4 47 26 Nrec N9y X7nm only
41.8 26.9 14.5 9.9 6.3 Vrec nmm NN oniy
170-200 125-250 80-200 90-185 50-115 L 1120 IR
114 97 80 68 55 hnom 7811 MpNN PRIy
100 85 70 60 48 heff Jalyn nipnn poiy
20 16 12 10 8 do (bR NTRWR |
200 170 140 120 100 hb,min 7XD'D (102 2y _,5.
mm a
22 18 14 12 9 dr TONNN DN NTMPNAT0R | A
I~
150 127.5 105 90 72 Copt (102N AXPR XD D | T
a
100 85 70 60 50 Cmin [ID2N N¥PN 7XDM PN
300 255 210 180 144 Sopt DAY 2 '7XDID9IX NN
100 85 70 60 50 Smin 022IYN 2 '7XDIN PND
200 100 60 40 20 Nm Tinst MpNN7 X700 DININ

.ETA 12/0397 |pn 'aim1 7y mrooiani ENV 1992-4: 2018 |pn 197 orawinn ,0pnn Niyswi *71,30-1 |1022 TTI2 |1y '97 020 02N
.N9'7W21 p1 DDA D' DYYXDIDDIXD D'PNINA .D'0NIY NNNYNA 011D DY7XNINN DPNINA
21y 72 miwr 197 2WN7 W1 Y7RNMD9IX PRAN 'Y 01T N7120N0 2wnY

i




11pna "1

2N niTp7 (1

JMX N7 OY NN DX N7 (2
MTP-G 21Iyn NX 01217 (3

UITIN DINIDN '97 2IYN NX 1107 (4




0'D"pPnINITn
MTP-G

AT o

’ ’

N\

Ay
A}
A}
-——

A

Ay
- e e —— e

Ay
.

<Z>doiI>

A}

hb,min
MTP-G

% anin 2y nITp poiy 0P IR 01p

‘E_ NINIoN NIX .0pn THYIN N pva o' D9 AT

£ | mawaa tix hy SW L do

o (mm) (mm) (mm) (mm) (mm)

E_: E 10 55 10 60 6 APG06060 MTP-G M6x60

E C 20 55 10 70 6 APG06070 MTP-G M6x70

JE: B 50 55 10 100 6 APG06100 MTP-G M6x100

E A 3 *40 13 50 8 APG08050 *MTP-G M8x50

2 C 9 60 13 75 8 APG08075 MTP-G M8x75

C'DD. E 29 60 13 95 8 APG08095 MTP-G M8x95
G 49 60 13 115 8 APGO08115 MTP-G M8x115
E 10 75 17 90 10 APG10090 MTP-G M10x90
F 25 75 17 105 10 APG10105 MTP-G M10x105
G 35 75 17 115 10 APG10115 MTP-G M10x115
H 55 75 17 135 10 APG10135 MTP-G M10x135
K 85 75 17 165 10 APG10165 MTP-G M10x165
L 105 75 17 185 10 APG10185 MTP-G M10x185
D 5 *65 19 80 12 APG12080 *MTP-G M12x80
E 4 85 19 100 12 APG12100 MTP-G M12x100
F 14 85 19 110 12 APG12110 MTP-G M12x110
G 24 85 19 120 12 APG12120 MTP-G M 12x120
H 34 85 19 130 12 APG12130 MTP-G M12x130
| 54 85 19 150 12 APG12150 MTP-G M12x150
L 84 85 19 180 12 APG12180 MTP-G M12x180
M 104 85 19 200 12 APG12200 MTP-G M12x200
G 8 105 24 125 16 APG16125 MTP-G M16x125
| 28 105 24 145 16 APG16145 MTP-G M16x145
K 58 105 24 175 16 APG16175 MTP-G M16x175
(0] 103 105 24 220 16 APG16220 MTP-G M16x220
Q 133 105 24 250 16 APG16250 MTP-G M16x250
K 32 125 30 170 20 APG20170 MTP-G M20x170
M 62 125 30 200 20 APG20200 MTP-G M20x200

054-7976110 N”y1 D'TX 112N 0TINN'Y7 NII9Y7 X2 ,ND011 N'7XVY '702




D'1"9XD

XN 21y 0217100 .
A4npoOMNI:NT79210
fuk=520 N/mm2 ifyk=415 N/mm2 0
n'¥2'09 1172

C1-C2 NDTX NTWI7 IWIXD »

Fire Resistance i)

Classification European *::E::*
R120 Approval [T
Effectis R0214
(30-21b2) TTIA J21Y'7 D'ODIY N'72D
M16 M12 | M10 | M8 | Jalyn 210
44.1 338 25.7 18.4 Nrk,cone
385 22,0 17.6 9.9 Nrk,pull N9y
U9IX 7Y 0NIY
88.0 49.0 34.0 21.0 Nrk steel g
51.0 27.4 18.8 11.9 Vi nm =
kN X
257 147 1.7 6.6 Nrd na'7y o
[on only =
39.2 211 14.5 9.2 Vid mm ~
18.3 10.5 8.4 4.7 Nrec n9'7y X7nm oniy
28.0 15.1 103 6.5 Vrec nmm nnw oniy
315 24.1 18.3 13.1 Nrk,cone
27.5 13.2 9.9 55 Nrk pull na'7y
9N 7¢2 0NIY
88.0 49.0 34.0 21.0 Nrksteel -
51.0 274 18.8 11.9 Vi nm =3
kN o
183 838 6.6 37 Nrd n9'7y =
[on only ~
39.2 211 14.5 9.2 Vid nmm
13.1 6.3 4.7 26 Nrec N7y X7nIn ony
28.0 15.1 10.3 6.5 Vrec nmm nn'w only
130-220 110-200 90-185 68-165 L NI
97 81 67 54 hnom 17X MIpPNN PRIy
86 72 60 48 heff [y nipnn poly
16 12 10 8 do (ILRNTPWIP |
168 130 110 100 hip,min 7XD7D |10 21y _E
mm a
18 14 12 9 df TOXIDN DINTRANTNPIATWOP | A
I~
130 110 90 72 Copt (102N NYPR f7XDwaIX pAn | T
a
70 60 50 50 Cmin [ID2N N¥PN 7NN PNID
258 216 180 144 Sopt DIYN |2 '7XDIOIX PN
70 60 55 50 Smin DIIYN 122 1'7XN'N PN
120 60 40 20 Nm Tinst MPNNY7 \7010 DININ

.ETA 09/0317 |pn im1 7y orooiant ENV 1992-4: 2018 |pn 197 nrawinp ,0'PnIn NIyown *71,30-1 [ID22 TTIA |1y '9'7 01120 0N




ENV 'X917'X |pN '97 ADTX NT'YI7 [12ON7 TTIA ]21y'7 0'only N'71D

mie | mi2 | mio | wms | Py 0P |
315 24.1 18.3 13.1 Nrk,cone
27.5 13.2 9.9 4.5 Nrk,pull no'7y
ugIx 7wd only
88.0 49.0 34.0 21.0 Nrk steel o
36.6 15.8 123 8.0 Vik mm oy
kN o
18.3 8.8 6.6 3.0 Nrd N7y —
[2n only U
28.2 12.2 9.5 6.2 Vid hals!
13.1 6.3 47 2.1 Nrec no'7y X'7nin oniy
20.1 8.7 6.8 44 Vrec nmm nn'w ony
31.5 24.1 183 = Nrk,cone
24.1 9.7 26 - Nrk,pull o7y
9Ix 7wd only
88.0 49.0 34.0 - Nrk steel o
36.6 15.8 123 - Vik mm Fo)
kN o
16.1 6.5 1.8 = Nrd N9y ~
[2n oniy U
28.2 12.2 9.5 - Vid nm
11.5 46 13 - Nrec no'7y X'7nIn only
20.1 8.7 6.8 - Vrec nm 'y ony
130-220 | 110-200 | 90-185 | 68-165 L NANNIX| o A
(=
97 81 67 54 mm hnom nmpmy | & &
(=
86 72 60 48 heff [alyn mpnn poiy

Mpna TN

Amn TR (1

AMIX XN DY NN DX NP7 (2

.MTP-A4 |21yn NX 01017 (3

~ o~~~

WATIN DINIDN '9Y7 DIV NX 1107

a




D'0”pnI NIT'N

MTP-A4
L
'::i"l B 2l il iy A i S Sl
“ W
!
Rad
@ do $ <
H
[
A
e
MTP-A4
(Sagal nin 2y w1 NIX w1
nam .0pn TRYIN NINION NIX nion pivn
0’pn DM NN
hbpmin thix [yn wx12a SW L do
(mm) (mm) (mm) (mm) (mm)
100 3 A 13 68 8 APA408068 MTP A4 8X68
100 10 B 13 75 8 APA408075 MTP A4 8X75
100 25 C 13 90 8 APA408090 MTP A4 8X90
100 50 D 13 115 8 APA408115 MTP A4 8X115
100 70 E 13 135 8 APA408135 MTP A4 8x135
100 100 G 13 165 8 APA408165 MTP A4 8x165
120 10 A 17 90 10 APA410090 MTP A4 10X90
120 25 B 17 105 10 APA410105 MTP A4 10X105
120 35 C 17 115 10 APA410115 MTP A4 10x115
120 55 D 17 135 10 APA410135 MTP A4 10x135
120 75 E 17 155 10 APA410155 MTP A4 10x155
120 105 F 17 185 10 APA410185 MTP A4 10x185
150 10 A 19 110 12 APA412110 MTP A4 12x110
150 20 B 19 120 12 APA412120 MTP A4 12x120
150 30 P 19 130 12 APA412130 MTP A4 12x130
150 45 C 19 145 12 APA412145 MTP A4 12x145
150 70 D 19 170 12 APA412170 MTP A4 12x170
150 100 E 19 200 12 APA412200 MTP A4 12x200
170 10 A 24 130 16 APA416130 MTP A4 16x130
170 30 B 24 150 16 APA416150 MTP A4 16x150
170 65 C 24 185 16 APA416185 MTP A4 16x185
170 100 D 24 220 16 APA416220 MTP A4 16x220

.D'ONIY NNNSNT DA [DPID MPNA Poly *

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




MTH

nI"IXND

XN 1Y 2171100 .

carbon steel :NT79 210 -

fuk =520 N/mm2 ; fyk=415 N/mm2 .

5-8uZn:|I'72
European :EEE:*“
Approval
(30-2[1p2) TTIA JA1Y'7 D'ONIY N'72D
M20 M | mia | M M10 ms | we | pvn i
63.2 | 39.3 | 46.6 | 31.7 | 39.3 | 31.7 | 21.4 | 247 | 16,5 | 201 | 125 | 153 Nrk cone
- - - - - - - 20.9 - - 11.0 - Nrk pull* 917y Y93 0Ny
99.5 | 995 | 60.1 | 60.1 | 49.1 | 333 | 333 | 237 | 237 | 13.0 | 130 | 7.4 Nrksteel nugIx o
56.3 | 56.3 | 38.4 | 38.4 | 28.1 | 20.6 | 20.6 | 147 | 147 | 93 | 93 | 5. Vi mm =
22 | 262 | 311 | 211 | 262 | 214 | 143 | 139 | 110 | 93 | 73 | 53 | Nrd 97y 5
450 | 450 | 307 | 307 | 225 | 165 | 165 | 118 | 118 | 74 | 74 | 41 Vid mm brioot ey
30.1 | 187 [ 222 | 151 | 187 | 151 [ 102 | 100 | 78 | 6.6 | 52 | 3.8 Nree | now | y7omoniy
322 (322(219 219 161 | 11.8 [ 11.8 | 84 | 84 | 53 | 53 | 29 Vrec mm | nnwony
170-270 125-280  |120-250|  90-250 70-230 60-155  |60-180 L N1 IK
125 97 103 85 91 77 62 67 54 60 46 50 hnom 7X1D1 MpNA PRIy
103 75 84 65 75 65 50 55 42 48 35 40 heff 2'DPOX NIPNN PRIy
20 16 14 12 10 8 6 do ID22 NI I
200 | 150 | 168 [ 130 | 150 | 130 | 100 100 100 100 | | homin XD 102 1Y
22 18 16 14 12 9 7 dr TONINN DINTXN T MpNnT7 WIp
155 | 113 [ 126 | 98 | 13| 98 | 75 | 83 | 63 | 12| 53| e0 Copt 1037 PR HXDDDIX PN
135 90 80 70 50 40 35 Cmin [ID2N N¥PD *7XDIM PNIn
300 | 25 | 252 [ 195 | 225 | 195 | 150 | 165 | 126 | 144 | 105 | 120 Sopt DVA 2 XD PN
135 90 80 70 50 40 35 Smin DIYN 270D PN
240 120 90 60 35 20 7 Nm | Tinst NIpNN7 X70In DININ

.ETA 05/0242 |pn 7y mrooiani EAD 330232-00-0601 113n j1awy'7 'X9IN'X [N '9'7 D'aWINND ,0'PNIN NIYDWN 172,30-2 (1012 TTIA 21V '97 00 01IN1
.19'7W21 p1 DDA D' DYYXDIDDIXD D'PNINA .0'0NIY NNNYNA OD1NI DY7XNI'DN DPNINA

21y 72 miwr 197 2WN7 W1 P7RNID9IX PRAN 'Y N1 N7120N 21w'NYT

.pull-out-1'7w2 07PN 12N 01IP 197 7WI 1AW DPNA "~ DIWA: NV *




11pna 1T

AN NITpY
J'NXXNT DY NN DX N7
.MTH 21Iyn NX 01317

1
2

3
U1 DININM '97 1Y NX 11207

4

(
(
(
(




D'D”pnI NIT'N

L
'“}i""' I AN SO A A PO A
2l
I
/,, ! N 7’
g
| .
Q"’Oi s
i /]
»’1 l'/ ’,,
i
4L A B A A A P AP AP Al S
hb,min
|21y aninaly nImp poiy aoip TIX 0Ip
17XD1IM .0j7D TNXID nion ayn
lJ"|')I‘J DD IX'N
hb,min tfix hnom SW L do
(mm) (mm) (mm) (mm) (mm) (mm)
100 5 55 10 60 6 AH06060 MTH 6X60
100 15 55 10 70 6 AH06070 MTH 6X70
100 25 55 10 80 6 AH06080 MTH 6X80
100 35 55 10 90 6 AH06090 MTH 6X90
100 45 55 10 100 6 AH06100 MTH 6X100
100 55 55 10 110 6 AH06110 MTH 6X110
100 65 55 10 120 6 AH06120 MTH 6X120
100 75 55 10 130 6 AH06130 MTH 6X130 -
I~
100 85 55 10 140 6 AH06140 MTH 6X140 =
o
100 95 55 10 150 6 AH06150 MTH 6X150 E
100 105 55 10 160 6 AH06160 MTH 6X160 g
100 115 55 10 170 6 AH06170 MTH 6X170 =
100 125 55 10 180 6 AH06180 MTH 6X180 S
100 10 50 13 60 8 AHO08060 MTH 8X60
100 10-25 50-65 13 75 8 AH08075 MTH 8X75
100 25-40 50-65 13 90 8 AH08090 MTH 8X90
100 50-65 50-65 13 115 8 AH08115 MTH 8X115
100 65-80 50-65 13 130 8 AH08130 MTH 8X130
100 90-105 50-65 13 155 8 AHO08155 MTH 8X155
110 10 60 17 70 10 AH10070 MTH 10X70
110 15-30 60-75 17 90 10 AH10090 MTH 10X90
110 45-60 60-75 17 120 10 AH10120 MTH 10X120
110 75-90 60-75 17 150 10 AH10150 MTH 10X150
110 95-110 60-75 17 170 10 AH10170 MTH 10X170




(qwnn) MTH

[ID221y nin 2y nITp PRIy o1p IX 1R
hislils] .0pN TNNIN nion [ayn
n"’pn D9 IXN
hb,min thix hnom sw L do

(mm) (mm) (mm) (mm) (mm) (mm)
110 135-150 60-75 17 210 10 AH10210 MTH 10X210
110 155-170 60-75 17 230 10 AH10230 MTH 10X230
130 5-20 70-85 19 90 12 AH12090 MTH 12X90
130 25-40 70-85 19 110 12 AH12110 MTH 12X110
130 55-70 70-85 19 140 12 AH12140 MTH 12X140
130 75-90 70-85 19 160 12 AH12160 MTH 12X160
130 95-110 70-85 19 180 12 AH12180 MTH 12X180
130 135-150 70-85 19 220 12 AH12220 MTH 12X220
130 165-180 70-85 19 250 12 AH12250 MTH 12X250
150 20 100 22 120 14 AH14120 MTH 14X120
150 45 100 22 145 14 AH14145 MTH 14X145
150 70 100 22 170 14 AH14170 MTH 14X170
150 120 100 22 220 14 AH14220 MTH 14X220
150 150 100 22 250 14 AH14250 MTH 14X250
168 15 110 24 125 16 AH16125 MTH 16X125
168 35 110 24 145 16 AH16145 MTH 16X145
168 60 110 24 170 16 AH16170 MTH 16X170
168 110 110 24 220 16 AH16220 MTH 16X220
168 140 110 24 250 16 AH16250 MTH 16X250
168 170 110 24 280 16 AH16280 MTH 16X280
206 35 135 30 170 20 AH20170 MTH 20X170
206 85 135 30 220 20 AH20220 MTH 20X220
206 135 135 30 270 20 AH20270 MTH 20X270

(Zn 5-8 ) NI700 NT79

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




R =——
B ' - - XN A1y 0171000 .
(SS316) A4 NDOIN :NT79 210 *
fu= 700 N/mm? ; fy = 450 N/mm? »
n'¥1'09 (172 -

ts, 5
European [t (: 6
P! i
TAN iy b0

Approval

(30-2[1p2) TTIA JA1Y'7 D'ONIY N'72D
om0 | me | wm2 | w0 [ w8 | we | PN 0P
75.9 559 38.0 25.7 29.6 19.8 241 15.0 15.3 Nrk,cone
55.0 385 | 275 | 17.6 | 17.6 | 13.2 | 13.2 | 9.9 - Nrk,pull N9y 7w3 oDy
140.7 85.9 49.6 49.6 343 343 19.1 19.1 10.1 Nrk steel M9IN g
73.5 47.1 25.2 | 25.2 174 | 174 | 109 | 10.9 6.0 Vik nmm ~
36.7 25.7 18.3 1.7 1.7 8.8 8.8 6.6 7.2 KN Nrd noa'7y é
58.8 37.7 20.2 20.2 13.9 13.9 8.7 8.7 4.8 Vid mm PR opy E_
26.2 18.3 13.1 8.4 8.4 6.3 6.3 4.7 5.2 Nrec na'7y X7ninonly
42.0 26.9 144 | 144 9.9 9.9 6.2 6.2 34 Vrec mm nnw only
120-220 | 90-170 75-140 70-150 50-115 45-80 L NN X
135 110 85 70 75 60 65 50 55 hnom 17X NPNN PRIy
103 84 65 50 55 42 48 35 40 heff PPN MIPNN PRIy
20 16 12 10 8 6 do [ID22 NI 01
206 168 130 110 100 100 hb,min XD (102 21y
22 18 14 12 9 7 o df TONINN BINTXA T NPT DIP
155 126 98 75 83 63 72 53 60 Copt [ID2N NXPR TXDDIIX PNID
135 110 85 85 70 70 65 65 50 Crmin (12N NXPN 7R PRIN
309 252 195 150 165 126 144 | 105 120 Sopt D72IYN 2 17XDI09IX NN
135 110 85 85 70 70 65 65 50 Smin 0IYN [ '7X01M PNIn
240 120 60 35 20 7 Nm Tinst NIpNN7 X710 DINID

.ETA 05/0242 |pn i1 7y orooiant ENV 1992-4: 2018 |pn 197 nrawinn ,0'pnn Niyawn *71,30-1 1022 TTIA |1y '9'7 012D 01IIm
.19'7W21 p1 0'DAI7 D' DYYXDIDBIXD D'PNINA .0'0DIY NNNYNA 0211 D'Y7XN'DA D'PNINA
a1y '72 nIwn 197 2wWN'7 W Y7XN'DSIX PN 'X,N71'T2 N'71I20N AvW'n'7




11pna 1T

AN NITpY
J'NXXNT DY NN DX N7
.MTH A4 |21y NX 01017

1
2

3
U1 DININM '97 1Y NX 11207

4

(
(
(
(




D'D”pnI NITN

-od- 1t
PPt ) él / SW
i
A W~
A 1.2t . ) . !
@ do J. : —_— T
s ., | ———— 1 (] | bl i |
L LA A
AV
4L S B i A P A AP Al S
[Ib2 121y ninay nIT'p PRIy 1R TIX oI
hislils] .0pn TNNIN nion [ayn
D”pD D9 XN
hb,min tfix hnom SW L do
(mm) (mm) (mm) (mm) (mm) (mm)
100 0 45 10 45 6 MIA406045 *MTH A4 6X45
100 5 55 10 60 6 MIA406060 MTH A4 6X60
100 25 55 10 80 6 MIA406080 MTH A4 6X80
100 0 50 13 50 8 MIA408050 *MTH A4 8X50
100 10-25 50-65 13 75 8 MIA408075 MTH A4 8X75
100 25-40 50-65 13 90 8 MIA408090 MTH A4 8X90
100 50-65 50-65 13 115 8 MIA408115 MTH A4 8X115
100 10 60-75 17 70 10 MIA410070 MTH A4 10X70 =
100 15-30 60-75 17 90 10 MIA410090 MTH A4 10X90 S
—
120 45-60 60-75 17 120 10 MIA410120 MTH A4 10X120 b
120 75-90 60-75 17 150 10 MIA410150 MTH A4 10X150
120 5 70 19 75 12 MIA412075 *MTH A4 12X75
120 5-20 70-85 19 90 12 MIA412090 MTH A4 12X90
120 25-40 70-85 19 110 12 MIA412110 MTH A4 12X110
120 55-70 70-85 19 140 12 MIA412140 MTH A4 12X140
120 0 90 24 90 16 MIA416090 *MTH A4 16X90
120 35 110 24 145 16 MIA416145 MTH A4 16X145
120 60 110 24 170 16 MIA416170 MTH A4 16X170
160 0 120 30 120 20 MIA420120 *MTH A4 20X120
160 35 135 30 170 20 MIA420170 MTH A4 20X170
160 25 135 30 220 20 MIA420220 MTH A4 20X220

JIXTMmpna pnly 19'7 27120 N'7120N DX 2wWN'7 ' .NN9IN {?DIy2 NIpNan NXXIND 0'only NNN9n *

054-7976110 N”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




Adit ORA

D2"'9XN
XN 1y 02171100 .
Carbon Steel C-1008 :NT79 210
Zn |NpP'M 5-8 ORA |72 -
on |17 |INP'D 40-50 ORA-G

(30-2j1b2) TTIA J21Y'7 D'ODIY N'72D

| M12 | M10 | M8 | [a1tyn 0Ip
35.0 | 20.0 | 15.0 Nru no7y 793 onIy
252 | 16.2 | 9.6 Vru M MIIX =
163 | 93 7.0 Nrd no'7y ~
118 | 76 4.5 KN Vrd nm n opw E
1.7 | 67 | 5.0 Nrec na7y \7mmonly | ~
84 | 54 | 3.2 Vrec nm nn'v ony
110 | 90 |75-90 L 27120 IR
70 60 60 hnom 17X1'011 MpNN PRIy
12 10 8 do [ID22 NIT 0IP
100 90 80 hb,min 17XN'D |12 1Y
14 12 9 mm df TOXINN DIN7XN T NIPNAT IR
110 | 100 20 Copt [ID2N N¥PR Y7XR'B9IX 7NN
65 50 40 Crmin [ID2N NXPR Y7XD'D PN
225 | 200 | 180 Sopt 0221y |2 '7XD'DOIX 7NN
65 50 40 Smin 021y 2 '7XD''D PND
100 60 20 | Nm Tinst M1pNNY7 {700 DINID

102N N¥ DY IX DAV 12 PRI NY9Wn X77 ¥ NI 1977 0mon 0aiml
.N9'7W1 1 0D DN OMYXD'DIIND D'PNINA .D'ORIY NNN9NA 0'I1N3 DY7XN'I'DN DPRIRA

Adit ORA




11pna 1T

2N TR (1
JMX N7 DY NN DX N7 (2
.ORA |21y NX 01217 (3
UITIN DINIDA 97 [21YN NX 1107 (4
D'D”pnI NITN
d, ORA
<,
4 &
i
-
!
7 4
=7
4

Adit ORA-G Adit ORA
[EREal)Y, npnn oy 0Ip TIX 0P
178NN naion [avin
n’jpm D9 1IN
hb,min heff SW L do
(mm) (mm) (mm) (mm) (mm)
80 55 13 75 8 30875 ORA M8/75
80 55 13 90 8 30890 ORA M8/90
90 65 17 90 10 31090 ORA M10/90
100 75 19 110 12 31211 ORA M12/110
100 75 19 110 12 31211G ORA M12/110G

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702

Adit ORA




Adit BT EYE2

BS EN795 or PD CEN-TS 16415 Type A N2122 NITIAYY 01pna n'y'sinan n'only nivnT7 D'XNn

B NI TIN
TR P Adit BT EYE2
T
@ .. — uuuuin
)
Bteye2 12x140 | Bteye2 12x100 | Bteye2 12x140 | Bteye2 12x100 Jalyn o
ISOTOP nj'1a 197 XINDIX | 197 hvarapllel
PITOX7 |12
96kN 53kN 46kN Nrk n9'7¢1'7w3 0Ny
kN
21.9kN Nrec N9'7¢21 7010 0NIY
170 |12
32.2kN Nrk n9'7¢21'7w3 0Ny
kN
15.3kN Nrec n9'7w1 X700 only
ETA 20/0046 THE |ID1 212 NN9WN N7120N 197 *
120 IR 773 1IN |'vDIp nITp 01 1120 WIp
(Mn2a7) n"pn D9 XM

Lt L (mm) es (mm) do (mm) ds (mm)

80 100 21.6 12 14 27312 BTEye2 12/100

110 140 21.6 12 14 27344 BTEye2 12/140

054-7976110 N”y1 D'TX 112N 0TINN'Y7 NII9Y7 X2 ,ND01 nN'7XVY '702

Adit BT EYE2




HEHO/HE-CL

n""OXN

PPy N7 .
A4nponn/Grade 5.6 :nT79210 *
5-8u Zn / sherardized 40-50p:[172

European
Approval

L ]
b
alemals
e

oyt

FABDARA T AL
ETA 14/0135 - EAD 330232-00-0601

"y
LA
European et
P! t"'-._.{-
a

Approval

FABDARA O AL
ETA 14/0068 - ETAGOD! -Options.

Fire Resistance
Classification
R120
Effectis R2014

8.8 11120y (30-1[Ib2) TTIA [A1y'7 D'ONIY N7

M20 M16 M12 M10 M8 M6 HEHO, HECL, HE-A4 - piyn aio
25 20 15 12 10 8 (mm) jaiyn IR
43.1 31.6 21.3 15.2 9.9 7.5 Nrk,cone
/* /* /* 1% 1* /* Nk pull 97y
9IN 7w 0nly
95.1 65.0 35.1 18.2 17.6 13.1 Nrk steel a
47.5 325 17.5 9.1 8.8 6.5 Vik mm J%
kN X
24.0 17.5 1.8 8.5 5.5 4.2 Nrd noy =
[an oniy ~
38.0 26.0 14.0 7.3 7.0 5.2 Vid nmm
17.1 12.5 8.5 6.0 3.9 3.0 Nrec no'7y X7nIn ony
27.1 18.6 10.0 5.2 5.0 3.7 Vrec hals! nn'w only
30.2 22.1 14.9 10.7 6.9 53 Nrk,cone
20.0 12.0 75 5.0 3.0 20 Nrk,pull n9v'7Y
U9IX '7Ud 0Ny
95.1 65.0 35.1 18.2 17.6 13.1 Nrk steel
475 325 175 9.1 88 6.5 ) Vi nm g
N o
10.5 6.3 3.9 26 1.8 1.2 Nrd N9y £
[on only -
38.0 26.0 14.0 73 7.0 52 Vid nmmn
75 45 2.8 1.9 13 0.9 Nrec N9y 70 only
27.1 18.6 10.0 5.2 5.0 37 Vrec nm nn ony
86 70 54 43 33 27 L [ayn X
80 65 50 40 30 25 heff 2'0{P9X MPNN PRIy
25 20 16 12 10 8 do [ID22 NITP 0IP
160 130 100 100 100 100 hip,min gxnum DAY |
=
22 18 14 " 9 7 mm df TONIDN DINZXN NTAPNNT WP | 5
N
280 230 175 140 100 100 Copt (1020 NYPR XDV PND | R
a
280 230 175 140 100 100 Cmin 102N NXPN Y7XND PN
240 195 150 120 90 75 Sopt DY |12 *7XNDDIX PN
160 130 100 80 60 60 Smin D22IYN |12 '7X0''0 PN
100 60 38 17 1 4 Nm Tinst MpNN7 '70'0pn LININ

.ETA 14/0135 jpnim1'7y mrooiant ENV 1992-4 : 2018 jpn 197 nrawinn,,0pnIn Nyawn 172,30-1 1022 TTI 1y '9'7 0120 DM

NT7¢U2 197 MIp K7W DITAN XT *

HEHO/HE-CL




8.8 11120y (30-1 |IL]2) TTIA J2Iy'7 D'ONIY N'71D

[ID2MpN DMI"90
M12 M10 M8 M12 M10 M8 HEHC - piyn aio

15 12 10 15 12 10 (mm) pynoip

4.0 4.0 25 6.5 6.0 55 Fork U9IX 7Y ONIY g
33 33 2.1 54 43 39 kN Frd [onony Jg
24 24 1.5 3.9 3.1 2.8 Frec nnw oniy =
29 28 28 29 28 28 hnom nITp poiy

25 25 25 25 25 25 heff 2'DPIX MPNN PRIy

16 12 10 16 12 10 do 122 NI 01

80 80 80 - - - hb,min 78D 102 A1y

14 1 9 14 1 9 mm dr TRNINN DINTXN T NPNNT VIR %
60 60 60 150 150 150 Copt ID2N N¥PR TXDIDDIX NN E:
60 60 60 - - - Cmin [ID2N NYPR *7XRID PRI

120 120 120 200 200 200 Sopt DIYN 12 '7XD'DOIX NN

75 75 75 - - - Smin DY 27X NN

38 17 1 38 17 1 Nm Tinst MpNN7 '70'0pn LININ

1pna 1T

2N TR (1
JMIXXNT OY NN DX NP7 (2

(
(
.HEHO 21yn nX 01217 (3
O'XND 172 T 7Y 2IVD NIX NIN9Y7 (4
(

1120 IX DIXN DX 07 (5

0171 DNTaAx

n"pn D19 NN
EXHBMO06 Setting Tool HE M6
EXHBMO08 Setting Tool HE M8
EXHBM10 Setting Tool HE M10
EXHBM12 Setting Tool HE M12
EXHBM16 Setting Tool HE M16
EXHBM20 Setting Tool HE M20

HEHO/HE-CL




0'D"pPnINITn
L HEHO

;
v

(Ib2 a1y X Wwip Iy 0Ip
iy | AN I | Mpnapoly | Amp poiy . .
b Is heff hs L q ' ' dl 0"pn D19 XN
iiin (mm) (mm) (mm) L €
(mm) (mm) (mm) (mm)
100 1 25 26 25 6 8 HEHOMO06 HEHO M6x25
100 13 30 32 30 8 10 HEHOMO08 HEHO M8x30
100 17 40 42 40 10 12 HEHOM10 HEHO M10x40
100 22 50 53 50 12 16 HEHOM12 HEHO M12x50
130 30 65 68 65 16 20 HEHOM16 HEHO M16x65
160 32 80 85 80 20 25 HEHOM20 HEHO M20x80
I02 21y X 0Ip YN DIp
iy | AN I | Mpnapoiy | Amp poiy . .
- ks heff hi 1 4 ' : dl "N DM9 XN
bmin (mm) (mm) (mm) L v
(mm) (mm) (mm) (mm)
100 1 25 26 25 6 8 HECLOMO06 HE-CL M6x25
100 13 30 32 30 8 10 HECLOMO08 HE-CL M8x30
100 17 40 42 40 10 12 HECLOM10 HE-CL M10x40
100 22 50 53 50 12 16 HECLOM12 HE-CL M12x50
130 30 65 68 65 16 20 HECLOM16 HE-CL M16x65
160 32 80 85 80 20 25 HECLOM12D HE-CL M20x80
I02 21y TIX Wwip PIVA 1P
iy | I TIN | Mpnapn | Ay poiy 5tan -
he ls heff hs 1 4 ' ' dl 0"pn D9 XN
bmin (mm) (mm) (mm) ! w
(mm) (mm) (mm) (mm)
100 1 25 26 25 6 8 HEA4MO06 HE-A4 M6x25
100 13 30 32 30 8 10 HEA4MO08 HE-A4 M8x30
100 17 40 42 40 10 12 HEA4M10 HE-A4 M10x40
100 22 50 53 50 12 16 HEA4M12 HE-A4 M12x50
130 30 65 68 65 16 20 HEA4M16 HE-A4 M16x65
160 32 80 85 80 20 25 HEA4M20 HE-A4 M20x80

HEHO/HE-CL




HE-HC

=

I02 21y X Wwip IV 0Ip

iy | AT MpRApDY | Amp POy . .

e Is heft hs L q : ' dl 0’ BaLRI)
i (mm) (mm) (mm) L v

(mm) (mm) (mm) (mm)

80 7-12 25 28 25 8 10 HEHCO0825 HE-HC M8x25
80 8-13 25 28 25 10 12 HEHC1025 HE-HC M10x25
80 10-13 25 29 25 12 16 HEHC1225 HE-HC M12x25

DNPI"907 9PN X7 X70 1022 ¥

054-7976110 N”y2 D'TX 112N 0TINN'Y7 NII9Y7 X2 ,ND01 n'7XVY 702

HEHO/HE-CL




Beta
= 0n"DXN
m "3 Iy a0 -
Carbon Steel C1008 4.6 :n12p1 |AYN NT79 210 -

Beta fu =400 N/mm? ; f = 240 N/mm? »
Steel 8.8:2712N NT79 210

fue =800 N/mm? ; fyk = 640 N/mm? »

5-8uZn:|I'72 °
(25-2 jIb2) TTIA JA1y'7 D'ONIY N'72D
M16 M12 M10 M8 Mé Iy o
20 15 12 10 8 (mm) ynwip
29.1 19.6 14.1 9.1 6.9 Nrk,cone
16.8 10.2 6.6 4.8 3.0 Nrk pull noy
19.3 10.9 6.3 5.0 49 Nrksteel a7 oDl a
13.8 7.8 4.5 3.6 3.5 Vi nm 2
7.8 4.8 3.1 22 14 KN Nrd na'7y E
6.4 36 2.1 1.7 1.6 Vid mm PRony =
5.6 3.4 2.2 1.6 1.0 Nrec N7y X7 only
4.6 2.6 1.5 1.2 1.2 Vrec nm nN'v only
65 50 40 30 25 L NN
68 53 42 32 26 hnom ‘70 NI oIy
65 50 40 30 25 heff [yn npna poiy
20 15 12 10 8 do [ID22 NIT'R IR
160 130 120 120 80 hb,min 780D (102 121y E
18 14 1 9 7 o df TNXINM DINTXN T MPNNT IR S
120 100 80 60 50 Copt (1D YR Y7XDIBDIN PN E
98 75 60 45 38 Cmin [ID2N N¥PN *7XNM PN
240 200 160 120 100 Sopt 0'1YN 2 '7XDD'9IX NN
130 100 80 60 50 Smin 0miyn [ '7X0M PN
60 35 15 8 4 Nm Tinst MpPNN7 X700 DIDIN

.G&B Ltd |x' aima 7y mooian ENV 1992-4: 2018 |pn '97 nawinn ,0'pn1n Niyswin 171,30-1 |12 TTI2 |1y '97 01120 09N
.19'7w2 P71 0'DAT71 DD DT7XDIDDIXD D'PNINA .0'ODIY NNNYNA 0'I1ND O'7XN''DA D'PNINA
21y 72 miwr 197 2WN'7 w1 7RI PRAN 'Y ,N1'T1 N7120N w'nY




11pna 1T

AN NP7 (1
AN XNT OY NN DX N7 (2

(
(
Beta 21y NX 01217 (3
O'XNND 72 7T 7V |21V X NIN9Y (4
(

UITIN DINIDN 97 2IYN DX 107 (5

E

~

D'0”pPnINITN

p thix

Beta

[baal}Y; NN | MpnapRy | Nimp pey X palny (b)) [yn oI
780D 01 nap
D’pn D19 NN
hb,min ls heff hs L dq do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
100 1" 25 26 25 6 8 TTBO6 Beta M6
100 13 30 32 30 8 10 TTBO8 Beta M8
100 15 40 42 40 10 12 TTBO10 Beta M10
100 19 50 53 50 12 15 TTB012 Beta M12
130 25 65 68 60 16 20 TTBO16 Beta M16
Setting Tool Beta/Drop In
n"pn D19 XN
06315 Setting Tool Beta M6
S 06307 Setting Tool Beta M8
06309 Setting Tool Beta M10
06310 Setting Tool Beta M12
06311 Setting Tool Beta M16

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




HC (Hollow Concrete)

n""OXN

21 a1y ;017100 .
carbon steel 6.8 :nT79210
5-8uZn:|7

T Flre Resstance 'X9IN'X [N 7y a1y
European Bl Classification o9 I7
Approval [SsSsSCEIEE . tR12R(;O14 D p] 0
e octis

(30-2 jIb2) TTIA JA1Y'7 D'ONIY N'72D

M10 M8 Mé [y 210
40< | 3040 | 2530 | 40< | 30402530 | 40< |30-40 2530 (mm) 0221y
140 | 115 | 85 | 100 | 100 | 70 | 85 | 7.0 | 35 Fri (372 M9IX 7WI only =
~
78 | 64 | 47 | 67 | 67 | 47 | 47 | 39 | 19 | kN Frd 73 [on only g
c
5.6 4.6 34 48 4.8 33 34 2.8 14 FRrec 7 nn'w only =
60 50 45 hnom 700 NITR PRIy
53 44 38 L Iy X
18 14 12 Lthread M9 NIN2NN X
10 8 6 dscrew aslnpbalatillly;
16 12 10 do ([LRNTP0R | L
5
12 9 7 mm dr TONIDN DINZXN MTAPNN7 VIR | 7
a
50 50 50 ap NNMNA 7227 21YN |12 '7X0''0 PN E
a
100 100 100 Copt [ID2N NXPR 7XDD9IN NN
80 70 60 Cmin [ID2N NXPR Y7XDID 7NN
200 200 200 Sopt 0221YN |12 '7XN'DOIX PN
100 100 100 Smin 021N 22 *7XNIM PN
30 20 10 Nm Tinst MpNn7 {700 bInIN
HCM10 HCMO08 HCMO06 | 0PN

1pna 1T

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702

HC (Hollow Concrete)




Metal expanding shell
ATIIMT7 2P NT79 A1y

MES
eetn e
—— 9
2
VAW R
+ 85mm

(I

.2'D0790 7INY NX 1'0Nn7

X4

min 300mm |
1 -
L= T . J
I._.E"_n t LA 3 .-" " I e .
B | -t .
" L a ™ - &
a ¢ s
o 4 i )

YN 710 TAX DRIDOD 0"91201 NMY NYINIY XTHYT

102N DY (1112 XTI

9

aﬂ Lkl Fu'M'-'I'l.!l"iFuh'N
WAL “i““u““i
s J

= mnunm AT 'm']',l!'\l

0'2712 NN9ND NIV ATIT DINA DX 21207
212'0 YIINYT ¥'.19719 DIX 1IN0 1Y IX
.DINN DY TN MES ivn 7

0'"IXN

D’D 1501 ATIT DINT NAPIPY  »

40-1(ID2 DY NO1I721 |ID 14-7 pTA1:N7120N *
(n7120n N72p7 "NXa N9'7Y NPTAYNAT7 XTDID) e
Carbon Steel :n779210

N”D 32-34:ID2A NIT'P VI *

(71120 pPRIYND DD 150) NN 200 :X7DIND MPNN PRIY  *
NN 150 :[ID2N NXPR '7XNIM 701D NIpNN pNIN- ©
N”ND 250 :0'2IYN |2 '7XNI'D X70ID MpnNn pnan- ¢

11pna 1T

- ||'r'7n:|
N0 15
Lfll*-— ™
\ '||. '\ - . M 'I-
=i g e e S 3*3\“.‘ oo,

12YN N”D 150) N’ 200 PRIVAIN’D 34 Ty 32 01P2 1IN NITPY
(NAXYN/I101901P) 1MIX XN7 DY NTPN DX NP7 (71127

s

MES N1 jaivin ']IJ']'7 2T DID NX NAT ManYT

179 n¥pn Ty

‘7¢IX | -

NINX T2 MES |21y P70 ‘72 NX prinn'7
NTPN N¥P TY 27T DIN7 121NN INIX 0110171
(71¥N 197 0111 9'0INT7 TWOK)

054-7976110 N”y1 D'TX N12N 0TINN'7 N1I9Y7 X2 ,ND01 n'7XVY '772




nI"9XN
DIOIX:NN7ID ©
Cold Formed Carbon Steel :n179210

5-8uZn:ui7) o
(7112 DIN'7 N12'N2 NININ) TTIA Ja1Y'7 D'ONIY N'72D
M24 M20 | M16 | M12 | (mm) Pynoip
97.1 75.1 60.0 384 Nu n9'7y
74.7 62.1 51.0 33.0 Yu 45°171wn RO 0D
54.6 40.6 28.0 16.1 Nrd na'7v
420 336 23.8 15.4 N YRrd 45°171wn PRoRY
39.0 29.0 20.0 11.5 Nrec na'7v X7nm oniy
30.0 24.0 17.0 11.0 Yrec 45°171wn nn'w only
100 92 77 60 H NN
24 20 16 12 Rd N'D19 NN DI
31 27 21 15 D NN DI
43 35 27 22 127120N 1IN
18 16 13 10 mm F 7T1DIDNNOA7INN LR | 4
14 12 10 8 ds VAT 71120 DI WDIP %
480 440 330 240 Lg (T¥'72n) 71720 DN X En
970 890 670 490 919'3 197 71120 DID IX °
56 48 40 24 dsr 919'3 MNX7 7177120 DIN NN97 Y70 771
65 50 45 40 Nm Cmin [1D2N ¥R Y70 ('701M) PNIN
100 90 75 60 Smin 021YN 122 Y7010 (*701') pnan
HSR24100 HSR20090 HSR16080 HSR12060 n"pn




n""9ND
N7'YI 2120 1Y NRI71100 .
A4 nuon'J/SteeEC—mzz: nT179 J|3 .

; fuk=500 N/mm~; fyk =350 N/mm"~
N'RED || omaimee
U3 300 TWILe
nxa np'1a anXNa np'Ta
.
aprTa nrTmaun
anxa £}
mern];]mtn)n 1150 anxa nf)'TJ

TTIA ]21y7 0'oniy N'71D

(Np1e) DD jax 30-2|02 0'0170IN
n"03.5 | n’02 n"06.5 | n'o4 Mmpnn poiy
- - 29.1 14.1 Nru,cone
7.3 24 15.0 8.0 Nry,pull novy 793 oDy
13.1 13.1 13.1 13.1 Nru,steel 21N'D'7IX
73 24 8.0 8.0 Vi nmm
2.6 0.8 53 2.8 KN Nrd na'7y
2.6 0.8 37 37 Vid nmm pnopy
1.8 0.6 3.8 2.7 Nrec n9'7Y \7nin oniy
1.8 0.6 2.7 2.7 Vrec mm nn'w only
40 20 65 40 heff [yn mpna pniy
6.0 6.0 6-6.5* 6-6.5* do nmpop |
65 40 Copt (102N NXPR F7RDDIX PN E
40 30 mn Cmin [ID2N N¥PN 7XDIM PN fﬁ
130 80 Sopt 0MAIYN 2 '7RDIDDIX NN °
40 30 Smin DMy 12 17X PNIn

10”0 6 3012 1IN NITH T+ 7Y DIPNN 190 NIPTAA 172pNa D'oniyn *
113M7 0'02 TN NIXTY7 |'X1 T272 NAIDN 7117 DN .0IY DONXA 1D NITTIA 19Y7¢ NIpTa 7y D'00IAN D'ONIVi

11pna 1T

2N TR (1

\0

JMX N7 OY NN DX N7 (2

.12720 NIYYNXA Iy NX 21207 (3




D'D”pnI NIT'N

L
--;:i--l-- It Al Sl
-
/,, I
o . IS .
‘DdO@ ) o : are R Rt !1 dn
/’1:
T
A
ZJ:--l------ ...’:-- (R AR N A A ----‘:—------‘::-(-
heff
hs
hb,min
(D22Y | nInay poly poIy Wwip X - WwIp Wwip
7XNM T0NID mpnn nmp maion ' N2y v
.o nm;lhwm 0’ DM9 XM
hb,min heff h1 SW L (mm) dj do
(mm) tfix (mm) (mm) (mm) (mm) (mm) (mm) (mm)
100 10 40 50 TX30 60 1 5.5 7.5 77060 PS 7.5x60
100 30 40-60 50-75 TX30 72 11 5.5 7.5 77072 PS 7.5x72
100 50 40-60 50-75 TX30 92 1 5.5 7.5 77092 PS 7.5x92
100 70 40-60 50-75 TX30 112 11 5.5 7.5 77112 PS 7.5x112
100 90 40-60 50-75 TX30 132 1 5.5 7.5 77132 PS 7.5x132
100 110 40-60 50-75 TX30 152 11 55 7.5 77152 PS 7.5x152
100 140 40-60 50-75 TX30 182 11 55 7.5 77182 PS 7.5x182
100 170 40-60 50-75 TX30 212 11 5.5 7.5 77212 PS 7.5x212
(316 nvoINn) PS SS
foaay | oIy oy wip X Wwip "o Wwip
7XDIN mpnn nImp nmaion wx1 [y
ToNID Nna7 ’ , .
00 1IN di b DD IX'N
homin | o | et hy W L dh (mm) do
(mm) * (mm) (mm) (mm) (mm) (mm) (mm)
100 40-60 40-60 50-75 TX30 100 1" 55 7.5 87100 PSSS 7.5x100
100 70-90 40-60 50-75 TX30 132 11 55 7.5 87132 PSSS 7.5x132

054-7976110 N”y2 D'TX N12AN 0TIAN'7 NII9Y7 X1 ,N90I11 N'7XVY '772




HEA

| HEA
A R

D""9XN

DY 22N 1Y 0217100 .

Hardened Carbon Steel :NT79 210

("91wn 1N |I172) Blue Ruspert Coating :|1172

(30-2|1b2) TTIA J2IY'7 D'ODIY N'72D

ANV PI72 - 7170 102 172 30-1|1ID2
nITp 01 NIpNn Iy 0'0170IN
n'n4 nns N0 4 n’055
- - 12.8 20.6 Nrk cone
2.6 1.8 11.6 16.0 Nrk,pull no'7y Y only
17.0 17.0 18.0 18.0 Nk steel ugIX
2.6 1.8 6.7 6.7 N L Vi nm
0.9 0.6 4.1 5.6 Nrd no'7y
1.2 0.8 3.1 3.1 Vird nmm n ooW
0.7 0.5 29 4.0 Nrec N7y X7nIn only
0.9 0.6 2.2 2.2 Vrec nm nn' ony
30 30 40 55 heff [alyn npna poiy
4 5 5 5 do nITp 0P
50 50 40 55 copt [ID2N XN *7XDDDIX PNIN _E
50 50 30 30 mm cmin [ID2N ¥R 7XIN PN E
80 80 160 160 sopt DIV 2 '7XDID9IX PN E
50 50 40 50 smin DY |2 '7XNN PNIN
12 12 12 12 Nm Trec MmpNN7 X700 DININ

7Xw1n97v niprTa 7y o'ooiani ETA [pn 197 0ravinn 0130 02Nl

1pna 1T

2N niTp7 (1
JMXXNT7 DY NN DX NP7 (2

JAYN X aM2n7 (3




D'D”pnI NIT'N

L
R
-
/,, !
-
o do $ 4 d
i
L1 =
A
ZJ:--.-'.-K IR O i IR M AR A NP~
C heft
hs
h
mnay | Mpnnpnly iy 0P IX P a]y) 01p
'OPD TRXID nmp nlion NN wxa 112N 17 JaIvin
heff (mm) D”|7TJ D9 XN
tfix (mm) h1 (mm) SW (mm) L (mm) dd (mm) d1 (mm) do (mm)
2 30 32 HEX8 or flat 32 113 5 6.5 HE65032 | HE 6.5x32
5 30 40 HEX8 or flat 45 113 5 6.5 HE65045 | HE 6.5x45
227 30-55 40-65 HEX8 or flat 57 113 5 6.5 HE65057 | HE 6.5x57
15-40 30-55 40-65 HEX8 or flat 70 113 5 6.5 HE65070 | HE 6.5x70
25-50 30-55 40-65 HEX8 or flat 80 113 5 6.5 HE65080 | HE 6.5x80
45-70 30-55 40-65 HEX8 or flat 100 113 5 6.5 HE65100 | HE 6.5x100
70-95 30-55 40-65 HEX8 or flat 125 113 5 6.5 HE65125 | HE 6.5x125

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




D"1"9XD
PA6 TMIX'7I9 |I7"] [A1Y :N'AI710D »
A4(S5316) / A2 (SS304) / Carbon steel C1022:01 179210 »

n'xa'os -40u I'TID'TINAD/5-8u Zn : |1172 .
GX-L /30-40 /5-8uZn: |7
CSK
European [EHEY: i np'1a
Approval SIS AnxXa J
vvmw'n]:n]')R 1150
TTIA |21y7 D'only N'71D
M10 M8 (kN) nin'w oniy M10 M8 (kN) 7w2 oniy
1.6 0.8 no'7y 6.2 3.0 no'7y
[Ib2 [ID2
35 1.7 mm 6.2 3.0 mm
0.6 04 no'7y P72 1.8 1.2 no'7y P72
0.6 04 mm ny 1.8 1.2 nm any
0.5 0.3 no'7y 710X 1.6 1.0 no7y NID'X
0.5 03 mm 'DITIDO 1.6 1.0 nm 'DITIDO
1.0 - no7y 710X 3.0 - no7y NID'X
1.0 - m [Iy7 3.0 - mm [1y7

XX IYXIAY 0NN [12D DT 7y 0'00I2N 0'™MJDN DIININ*

DIV 0'PI'722 NMIpNa 1T

]21yN 101pNR B”D2 NI |BP VIR N NITPYT YNNI NI9BY DY 21ID'X]) NP'9T X77 N NITp'7 (1
.GX-L |21y nX 01217 (2
12720 '212'0 3 §roIN7I 17221120 NX 11207 (3

N
1q

2N niTp7 (1
.GX-L |21y nX 012017 (2
JI7M12 27120 NX 21207 (3




D'D”pnI NIT'N

L.__w

pr———r e

GX-L

nin 2y nITp 0Ip
0P miy NP | nImn MK 0P
TNNIND /01712
nmaion niImp [Ib12 NN [vn [vn
opn 210X D’pn DM9 XM
Sw tfix ho do L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
TX30 10 70 7-8 8 5.5x85 80 8 97005 GX-L M8x80
TX30 30 70 7-8 8 5.5x105 100 8 97006 GX-L M8x100
TX30 50 70 7-8 8 5.5x125 120 8 97007 GX-L M8x120
TX30 70 70 7-8 8 5.5x145 140 8 97035 GX-L M8x140
TX40 10 70 9-10 10 7x85 80 10 97008 GX-L M10x80
TX40 30 70 9-10 10 7x105 100 10 97009 GX-L M10x100
TX40 50 70 9-10 10 7x120 120 10 97010 GX-L M10x120
TX40 70 70 9-10 10 7x140 140 10 97011 GX-L M10x140
TX40 90 70 9-10 10 7x165 160 10 97012 GX-L M10x160
TX40 130 70 9-10 10 7x205 200 10 97013 GX-L M10x200
TX40 170 70 9-10 10 7x245 240 10 97014 GX-L M10x240
TX40 190 70 9-10 10 7X265 260 10 97015 GX-L M10x260
(GX-L M10x100 GG : XN2IT) DWN INX7 GG |"X7 X2 .|NP'D 30-40 1ITI9TINAD [11722 DIV NIX ['NTN7 TWIX
GX-L Hex
0N 2y nITp I
WwIp miy nITp WIp nimn NIX WwIp
TNNIN /0711
naion niTp [Ib12 NN [vn [y
o gupes " DAY XM
Sw thix ho do L do
(mm) (mm) (mm) (mm) (mm) (mm) (mm)
13 10 70 9-10 10 8x80 80 10 97022 GX-L HEX M10x80
13 30 70 9-10 10 8x100 100 10 97023 GX-L HEX M10x100
13 50 70 9-10 10 8x120 120 10 97024 GX-L HEX M10x120
13 70 70 9-10 10 8x140 140 10 97025 GX-L HEX M10x140
13 90 70 9-10 10 8x160 160 10 97026 GX-L HEX M10x160
13 130 70 9-10 10 8x200 200 10 97027 GX-L HEX M10x200
13 170 70 9-10 10 8x240 240 10 97028 GX-L HEX M10x240
13 190 70 9-10 10 8x260 260 10 97029 GX-L HEX M10x260




]._—-:WJ

Py

GX-LSS316

nin 2y nITp 01
WwIp iy nITp 01 nTn IR WwIp
TNNID /01712
nmion nimp [bak! N3N [ayn [yn
opn 210X D’pn D19 XN
SW tfix ho do (mm) L do
(mm) (mm) (mm) (mm) (mm) (mm)
TX40 10 70 9-10 10 7x85 80 10 97016 *GX-L M10x80 SS316
TX40 30 70 9-10 10 7x105 100 10 97017 GX-L M10x100 SS316
TX40 50 70 9-10 10 7x120 120 10 97018 GX-L M10x120 55316
TX40 70 70 9-10 10 7x140 140 10 97019 GX-L M10x140 SS316
TX40 90 70 9-10 10 7x165 160 10 97020 GX-L M10x160 SS316
TX40 130 70 9-10 10 7x205 200 10 97021 *GX-L M10x200 SS316
TX40 170 70 9-10 10 7x245 240 10 98010 *GX-L M10x240 SS316
TX40 190 70 9-10 10 7%265 260 10 98011 *GX-L M10x260 SS316
TN NINTN 197 *
GX-L Hex SS304
nin 2y nITp 101 WwIp
Wwip iy N NIX WwIp
TONID /0'pi712 nTp
nmion nITp nian [iyn |ayn
opn 210'X2 [Ib12 n"pn D9 IN'N
SW tfix ho do i) L do
(mm) (mm) (mm) (mm) (mm) (mm)
13 10 70 9-10 10 8x80 80 10 98030 *GX-L HEX M10x80 SS304
13 30 70 9-10 10 8x100 100 10 98031 GX-L HEX M10x100 SS304
13 50 70 9-10 10 8x120 120 10 98032 GX-L HEX M10x120 SS304
13 70 70 9-10 10 8x140 140 10 98033 GX-L HEX M10x140 SS304
13 90 70 9-10 10 8x160 160 10 98034 GX-L HEX M10x160 SS304

TNIM NINTN 197 *

21D |2X 19'N2 NnwIn 1a'N'7 SET GX-L

SET-210'7172 0'0"19

D"pm

D9 XM

8x100 1112

GX-L M10x80

99001

8x40x2 N'poT

SET GX-L

on |I17228x100 112

GX-L M10x80

99009

0N |1'722 8x40x2 N'poT

on SET GX-L

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702



n""OXN

PA6 T'DX'7I9 |17 |21y :N'217110D »

A4 (SS316) / A2 (S5304) / Carbon steel C1022 :n1T779 210
1'¥2'09 / 30-40u ITIDTIDIL/5-8U Zn 21172«

Hex
TTIA ]21y7 0'Only N'72D
M14 M12 M10 M8 M6 M5 (kN)'7w2 oniy
79 5.8 47 3.0 28 18 nov7y
25-1|Ib2
7.9 58 4.7 3.0 2.8 18 mm
3.6 33 3.0 15 0.8 0.8 no'7y
o172
3.6 33 3.0 1.5 0.8 0.8 mm
2.0 13 1.1 0.9 0.5 0.4 o'y
2NIDX
20 13 1.1 0.9 0.5 0.4 nm
M14 M12 M10 M8 M6 M5 (kN) [pn oniy
3.0 2.2 18 1.1 1.1 0.7 noa7y
25-1|Ib2
3.0 2.2 18 1.1 1.1 0.7 mm
14 1.2 1.1 0.6 0.3 0.3 no'7y
o172
14 1.2 1.1 0.6 0.3 0.3 mm
0.8 0.5 0.4 0.3 0.2 0.2 no'7y
NIDX
0.8 0.5 04 03 0.2 0.2 mm
M14 M12 M10 M8 M6 M5 (kN) nn'w oniy
2.0 15 1.2 0.8 0.7 0.5 na7y
25-1|Ib2
2.0 15 1.2 0.8 0.7 0.5 nmm
0.9 0.8 0.8 0.4 0.2 0.2 n9'7y
o172
0.9 0.8 0.8 0.4 0.2 0.2 nmm
0.5 0.3 0.3 0.2 0.1 0.1 N9y
2NIDX
0.5 03 03 0.2 0.1 0.1 mm

.G&B N12Nn |I¥' 1IN1 01N O"120N 01NN
XX2 D'YDNYDY DNINYN O'P17200 TIXD 021V 0'X91N'X 0'PI71 7Y 0'00120DN X' 7V 0100 "IN 01 7¢I 'only
.O'P1727 21N NDXNN Ny'ap 197 Np'7a Y¥a7 X700

2”2 230 Ty 150 12'n GL M10 21y DY DMINY 0'{1722 XIX2 1211V NIp'TA 197 7w oIy |

1pna 1T
(01722 npeT72) AN NITR7 (1
.GL 21Iyn nX 01217 (2
JI7"12 27120 NX M2 (3

L [ =
o :
SCANY I 4 /] e
" r-urruw;;; lew @ ﬂij_m’lpllr muﬂ_-l:—qr-?
///; /U” \r / ~—
L Vi




D'D”pnI NITN

GL CSK

ninay iy o1p nimn TIX o1
opn TNXIN nmp nmp N3N [y [y oD SE AT
thix hi do L do
(mm) (mm) (mm) (mm) (mm) (mm)
5 35 5 4x30 25 5 65005 GL CSK M5
10 45 6 4.5x40 30 6 65006 GL CSK M6
10 55 8 5x50 40 8 65007 GL CSKM8
10 65 10 6x60 50 10 65008 GL CSKM10
(GL CSKM10 GG : XP21IT) DWN INX7 GG |"X¥7 X1 .|N{P'D 30-40 2I'TI9MTINAD [11722 DIV DX 'RTN7 WX
(GLCSKM10SS316 : XDAIT) DWN INX7 SS316 IX SS304 |"X7 X1 .SS316 IX SS304 NDOINI] 0 011V NX ['DTNT7 TWOX
GL Hex GL Dome
)
L]
ninay pnly 1P nT TIX 0P
0jn TNXIN np nTp ni3n [ayn [yn D BRI
tfix h1 do L do
(mm) (mm) (mm) (mm) (mm) (mm)
5 40 6 4.2x32 30 6 65013 GL Dome M6
10 50 8 5x45 40 8 65014 GL Dome M8
10 65 10 8x60 50 10 66008 GLHEXM10

(GL DOME M8 GG : Xn2IT) DWUN INXY7 GG |"¥7 X2 .|[NP'D 30-40 2ITIDTINAD [I1722 D'IVA NX 'RTNT7 IWOX

21D |2X '19'N2 NnwIa 1a'n'7 SET GL

SET-2 07172 0'0"M9 D" D9 IN'D
6x80 1112
GL M10x50 69001 SETGL
8x40x2 n'poT
on 11722 7x100 112
GL M10x50 69009 on SET GL

DN 1721 8x40x2 N'pOT

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




CHEMFIX 100 + ATR
+ o s ity X

(n272n bIN) ATR opl7a .
DX -
2D o

n1"OXD

10PI9X AT -

C2-IC1 ADTX DTV TN YK »
i e Fire Resistance European 'Eﬁ " Tensile Strength 21.5Mpa (ASTM D637)

European b »
e . " b 4
=E® 0756-CPD-0575 Classification =E " 0756-CPD-0575 :EN196 partl e

—rorr R120 Compressive Strength 100.9Mpa
Flexural Strength : 46Mpa «

BS6920 VOC CLASSIFICATION
! n E-Modulus: 120243
FOR USE WITH np'Ta / \ r!::)-x ﬁ -A =+
Q I

POTABLE WATER X COnp n2m0n LS Density: 1.45 o
VOC Content : A+ Rating

Approval

ETA 190705

NI DIFRA 1D

(30-21ip2) TTIA JA1Yy'7 DrOBIY N'72D

| M36 | M33 | M30 [ M27 | M24 [ m20 | M16 | M12 | M0 | M8 | DI 0P

377.7 | 313.1 | 282.3 | 224.0 | 183.4 | 133.5 | 84.2 | 69.5 | 51.4 | 43. Nrk,cone
6114 | 4946 | 4476 | 3453 | 237.7 | 1605 | 944 | 66.0 | 450 | 32.0 Nrk,adh noYY Y93 0Dy
653.6 | 555.2 | 448.8 | 367.1 | 2825 | 196.0 | 1256 | 674 | 464 | 29.3 Nrk steel U9 -
326.8 | 277.6 | 224.4 | 183.5 | 141.2 | 98.0 | 62.8 | 33.7 | 23.2 | 14.6 Vik nmm J%
251.8 | 208.7 | 188.2 | 1493 | 1222 | 89.0 56.1 440 | 300 | 195 KN Nrd no'7y E
2614 | 2221 | 1795 | 1472 | 113.0 | 784 504 | 27.2 18.6 12.0 Vid ' AN ooy ~ E
179.9 | 149.1 | 134.4 | 106.7 | 87.3 | 63.6 | 40.1 | 31.4 | 21.4 | 13.9 Nrec N9y X700 only 2
186.7 | 158.6 | 128.2 | 105.1 | 80.7 | 56.0 | 36.0 | 19.4 | 13.3 | 8.6 Vrec nm NN oniy 5
2644 | 219.1 | 197.6 | 156.8 | 1283 | 93.5 589 | 487 | 36.0 | 30.2 Nrk,cone g
326.1 | 263.7 | 223.8 | 1727 | 1119 | 755 417 | 256 | 212 | 16.0 Nrk,adh N9y 7w only E
653.6 | 555.2 | 448.8 | 367.1 | 2825 | 196.0 | 1256 | 674 | 464 | 293 Nrk steel 1M9IX - <@
3268 | 277.6 | 2244 | 1835 | 141.2 | 980 | 628 | 33.7 | 232 | 146 Vik nm =
176.3 | 146.1 | 1243 | 959 | 746 50.4 278 | 17.1 142 | 10.7 kN Nrd na'7y E
2614 | 222.1 | 1795 | 1468 | 113.0 | 784 | 50.2 | 27.0 | 186 | 120 Vid nm nony -
1259 | 1044 | 888 | 685 | 533 | 360 | 198 | 122 | 10.1 76 Nrec n9'7y X7 only
186.7 | 158.6 | 128.2 | 1049 | 80.7 56.0 359 | 193 | 133 8.6 Vrec mm nn'w only
377.7 | 313.1 | 2823 | 224.0 | 1834 | 1335 | 842 | 695 | 514 | 43.1 Nrk,cone
611.4 | 4946 | 447.6 | 3453 | 237.7 | 1605 | 944 | 66.0 | 450 | 320 Nrk,adh no9'7y w3 ony é
424.8 | 360.9 | 280.0 | 230.0 | 176.0 | 122.0 | 79.0 | 420 | 290 | 180 Nrk,steel U9IX o g
2125 | 173.5 | 140.0 | 115.0 | 88.0 61.0 39.0 | 21.0 | 150 9.0 Vik nmm = 5
251.8 | 208.7 | 186.7 | 1493 | 117.3 | 813 | 527 | 28.0 | 193 | 120 KN Nrd N9y E n
1700 | 1388 | 112.0 | 92.0 | 704 | 488 312 | 168 | 120 7.2 Vid mm pnony = ’S
1799 | 149.1 | 133.3 | 106.7 | 83.8 58.1 376 | 200 | 138 8.6 Nrec n9'7y X7nIn only §
1214 | 99.1 | 800 | 657 | 503 | 349 | 223 | 120 | 86 5.1 Vrec nm NN oniy

40 37 35 30 28 |24(22)| 18 14 12 10 do nITp 01R

340 | 300 | 280 | 240 210 170 125 110 90 80 |mm | hnom 7811011 NIpPIN PRIy =

50 50 40 40 40 40 30 30 20 20 NITR PRIY7 12Y0 Y7X0'0 (102 121y a
360 330 300 270 200 150 80 40 20 10 Nm Trmax 7X0D'0pN NIpPNN DININ E

182 | 143 89 75 67 |45(30)| 173 | 107 | 73 53 | ml NN9 35% 77121107 10N NIDJ a

3 4 6 7 8 13(20) | 34 55 80 110 7'D 600 N719NX/DMIN NN

.Chemfix n1an 7w ¥ 2im31 7y o'ooiant ENV 1992-4 : 2018 [pn 197 0rawinn ,0'pnn Niyawin 171,30-1 1012 TT12 a1y 197 0120 01
ENV X9nX [pna 077172 DIX 2170 1012”0 10-1 801
NPT NNDP NI P77 'WiIp W 72X NN NIDIINDN NN *2




N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 12 0PN n'7ap

170 150 125 110 100 90 80 heff [y nipnn poiy
510 450 375 330 300 270 240 Scr 0'21yn 2'Dp PN
85 75 62.5 55 50 45 40 mm Smin 02210 127X PNIn
255 225 | 1875 | 165 150 135 120 Car (IDAN AYPD 'R PAID
85 75 62.5 55 50 45 40 Cmin (102N NP XD PN
400 340 300 280 240 210 200 heff Ay mpnn pniy
1200 1020 900 840 720 630 600 Scr oIy 2'0"p PN
200 170 150 140 120 105 100 mm Smin 0'2IYN 2 '7X0''0 PN
600 510 450 420 360 315 300 Car (ID2N XD 'BAP PN
200 170 150 140 120 105 100 Cmin [1D2N ¥R *7XNIN PN

.n9'7va m 00171 DD DTRNIDOIND 0'PNINa .0'onily nnNN%na n'and n'7XN''NN o'pnana

a1y 732 DIy 197 awn7 vt Y7RDID9IX PNAN 'Y N1 N7120N 21wNYT

ENV 'X9I7'X [N '97 ADTX NT'Y17 |11ON7 TTI2 ]a1y7 0'onily N'71D

M16 M12 M10 M8 piyn o
24 18 15 12 (mm) [ynoip
58.9 48.7 36.0 30.2 Nrk,cone
34.8 33.1 20.2 16.0 Nrk,pull no'7y
U9IX ‘7w ONIy
125.6 67.4 46.4 293 Nrk steel o
440 236 16.2 10.2 Vik mm 2
kN o
23.2 22.0 13.5 10.7 Nrd no7y -
[an oniy U
35.2 189 13.0 8.2 Vid mm
16.6 15.7 9.6 7.6 Nrec no'7y ‘('7DID only
25.1 13.5 9.3 5.8 Vrec nmm 'y only
58.9 48.7 Nrk cone
15.0 159 Nrk pull n9'7y
9IN 7w ONIY
125.6 67.4 Nrk steel o
44.0 236 Vik mm by
- - kN o
10.0 10.6 Nrd na'7y e~
[an oniy U
35.2 189 Vid nmm
7.1 7.6 Nrec no'7y X710 only
25.1 13.5 Vrec halis] nN'v oniy
11pna "D
=] r ﬁ 2N NITR'Y7 (1
2 ﬁf i DWNaDIMIX YN Oy NINA DX DY (2
BRI 0 e I 00 1 = o5y WP 21NN 10N NINA DX PT7 (3
5 | 5y Bl ReAn o I s 212'01 DINN NX 019117 (4
UL, o N o b | S,
feial v, - . ; P Q910 NIYA'NNY7 TY Niyw 8-12 'Nnn7 (5
s AT 9] ok ‘..'. o A

-
LJ



D'D”pnI NIT'N

n"pn 019NN
08510 Chemfix100 600ml
08462 CG600 T NPT NTPX
02462 PG600 'uXN1I9 NPITN NTPX
03462 EG600 '70wn Np 1t NTpX

ATR
yield strength s't?::;fh nll;llgn TIX 01
n179110 n"pn D19 IXM
fyk fuk SW L d
(N/mm?’) (N/mm?’) (mm) (mm) (mm)

10 6 03761000 ATR 37 M6x1000
13 8 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000

370 500 24 ST37 16 03716100 ATR 37 M16x1000
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
4 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 6 08861000 ATR 8.8 M6x1000
13 8 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
22 14 08814100 ATR 8.8 M14x1000

640 800 24 88 1000 16 08816100 ATR 8.8 M16x1000
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 22 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
41 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR S5316 M6x1000
13 8 31681000 ATR SS316 M8x1000
17 10 31610100 ATR SS316 M10x1000
19 12 31612100 ATR 55316 M12x1000
19 14 31614100 ATR SS316 M14x1000
24 16 31616100 ATR 55316 M16x1000

450 700 $S316 (A4)
19 18 31618100 ATR SS316 M18x1000
30 20 31620100 ATR 55316 M20x1000
19 22 31622100 ATR SS316 M22x1000
36 24 31624100 ATR 55316 M24x1000
41 27 31627100 ATR 55316 M27x1000
46 30 31630100 ATR SS316 M30x1000

(ATR 5.8 M16x230 GG XD2IT7) IXINDN DY INX7 GG |7 X1 .WXIN NINTNA [1N{2'D 30 ITI9ITINA0 [17'22 NIDINA NX 721p'7 |N1

U Al R




CHEMFIX 100 + rebar

nnvy nl'!p'VDN
+ b1 -
['T7T02/ XIp opI7a .
0aX -
1ID'X -
l
b
‘ D1"OND
1OPIOX PaT -
W ™ C2-1C1 ANDTX NTYIA TN NYNX »
O “ FireResistance | | ¢ oo [ . Tensile Strength 21.5Mpay(ASTM D637)
Approval RN lcobess Classification Aoproval T glomcoests
i R120 o :EN196 part1 e
Compressive Strength 100.9Mpa ¢
BS6920 . [pn VOC CLASSIFICATION® Flexural Strength : 46Mpa
Q FOR USEWITH Thxa 4 \ NI ﬁ E-Modulus : 12024.3 »
POTABLE WATER VDY)l n1aon | e Density : 145 »
VOC Content : A+ Rating

(30-1jI02) TTIA J21y7 D'ONIY N'72D

| @40 | @36 | @32 | @28 | @25 | @22 | @20 | @18 | @16 | @14 | 012 | @10 | 08 | Y112 01
673.6 | 482.0 | 482.0 | 3449 | 183.4|183.4|133.5(110.7 | 84.2 | 842 | 69.5 | 514 | 43.1 Nrk,cone
653.5|470.6 (418.3|322.0| 2059 | 192.2 | 1445|1148 | 85.0 | 71.3 | 60.5 | 53.0 | 40.1 Nrk adh no'7y w2 only
693.8 | 563.2 | 442.0 | 338.7 | 270.0 | 208.3 | 173.0 | 1395 | 111.0 | 844 | 62.0 | 43.0 | 28.0 Nrk steel "MIIX -
346.9 | 281.6 | 221.0 | 168.8 | 135.0 | 104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 | 21.5 | 14.0 KN Vik mm ,%
363.1 | 2614 | 2324 | 1789 1144 | 106.8 | 80.3 | 63.8 | 47.2 | 39.6 | 33.6 | 294 | 20.0 Nrd no'7y 2
2313 |187.7 | 1473 | 1125| 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 | 143 | 93 Vid nmm b onw =
259.3 | 186.7 | 166.0 | 127.8 | 81.7 | 76.3 | 57.3 | 45.5 | 33.7 | 28.3 | 24.0 | 21.0 | 14.3 Nrec no'7v \7nin oniy
165.2|134.1|105.2| 80.4 | 64.3 | 49.8 | 41.2 | 334 | 264 | 20.2 | 148 | 10.2 | 6.7 Vrec mm nn'w only
4715 (3374|3374 (2414|1283 | 1283 | 935 | 775 | 589 | 589 | 487 Nrk,cone
475.1 | 342.1 | 304.1 | 212.8 | 1245|1121 | 80.7 | 641 | 474 | 399 | 313 Nrk,adh no'7y w2 only
693.8 | 563.2 | 442.0 | 338.7 | 270.0 | 208.3 | 173.0 | 1395 | 111.0 | 844 | 62.0 Nrk,steel 1"9IX
3469 | 281.6 | 221.0 | 168.8 | 135.0 | 104.5 | 86.6 | 70.0 | 55.5 | 425 | 31.1 i i KN Vik mm %_i
264.0 | 190.1 [ 1689 [ 1182 | 69.2 | 623 | 448 | 356 | 264 | 221 | 174 Nrd no'7y ,’E_
231.3|187.7 | 1473 | 1125 | 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 Vid nm b onw
1885 (1358 [ 120.7 | 844 | 494 | 445 | 320 | 254 | 188 | 158 | 124 Nrec no'7v \7nin oniy
165.2 | 134.1 | 105.2 | 804 | 643 | 498 | 41.2 | 334 | 264 | 202 | 148 Vrec mm nn'w only
500 | 400 | 400 | 320 | 210 | 210 | 170 | 150 | 125 | 125 110 90 80 hnom 7m0 npnn poiy
50 44 40 35 30 27 25 22 20 18 |16(14)| 12 10 | mm do nImp 0Ip _E
80 80 80 80 60 60 50 50 40 40 30 30 30 NIT'P PRIY7 12Y0 ‘780D 101 1Y E
442 | 254 | 229 | 14 53 53 39 25 19 17 |13(6.6)] 46 | 33 | ml (35% 7w NN2 '7712) AN / 0IN NN E
13 23 26 4 " 1 15 24 31 35 |90(45)| 120 | 120 7" 600 N7I9NX7 ONIN NIND

.Chemfix n1an 7w 1y ama'7y orooiant ENV 1992-4: 2018 |pn 197 0awinn,0pNIn NIYswA *71,30-1 1012 TTIA Ay '97 010D DI
NPT NN0P NP2 PPT7 WP W' 72X NI AN NIDIIXTN NINN *2



N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 20PN n'7ap

200 170 150 140 130 110 100 80 heff PIVA MpNA poiy
600 510 450 375 330 300 270 240 Scr DMAYA 2107 PN
100 85 75 70 65 55 50 40 mm | Smin DAYA 27X PRD
300 255 225 210 195 165 150 120 Car [ID2N AP 1P PID
100 85 75 70 65 55 50 40 Cmin [ID2N N¥PD 7XDID PRIn
500 450 400 320 280 260 240 220 heff PIVR MpnA poiy
1500 1350 1200 960 840 780 720 630 Ser DOIYA 12107 PR
250 225 200 160 140 130 120 110 [ mm | Smin DIV 12 17RD PN
750 675 600 480 420 390 360 330 Car [ID2N AN 1P PRID
250 225 200 160 140 130 120 110 Cmin (102N NXPD F7RDD PN

.N19'7w1 P71 0'DAIT7Y DI OF7XN'DIIXD D'PNINN .0'0NIY NNN9AA 0211 D'7XND''HAN D'PNINA
a1y ‘72 mwn 197 2WnYT W1 ATR0DD9IX pNIN 'Y 0121 N'7120N0 1wnY

EAD33087-00-0601 'X9I7'X [N '9'7 N'7120N 21W'N

17O X71 pITO [ID12 71712 DID NPATA7 N'0'01 N'7120N

Nord,c
concrete C25/30 (kN)
Ibd / ds (mm) 8 10 12 14 16 20 25 28 32 36 40
100 5.90 737 8.85 10.32 11.80 14.75 18.44 20.65 23.60 26.56 29.51
120 7.09 8.85 10.62 12.39 14.16 17.70 2213 2478 2832 31.87 3541
140 8.27 10.32 12.39 14.45 16.53 20.66 25.82 28.92 33.04 37.18 4132
160 9.45 11.80 14.16 16.52 18.89 2361 29.51 33.05 37.76 4249 47.22
200 11.81 14.74 17.70 20.65 23.61 29.51 36.88 4131 47.20 53.11 59.02
250 14.76 18.43 2213 25.81 29.51 36.88 46.10 51.64 59.00 66.39 73.78
280 16.53 20.64 2478 2891 33.05 4131 51.63 57.83 66.08 7436 82.63
300 17.71 22.12 26.55 30.97 3541 4426 55.32 61.96 70.80 79.67 88.54
320 18.90 23.59 28.32 33.04 37.77 47.21 59.01 66.09 75.52 84.98 94.44
360 21.26 26.54 31.86 3717 4249 53.11 66.39 7435 84.97 95.60 106.24
400 23.62 29.49 3541 41.29 47.21 59.01 73.76 82.62 94.41 106.23 118.05
450 26.57 33.17 39.83 46.46 53.12 66.39 82.98 92.94 106.21 119.50 132.80
500 29.52 36.86 44.26 51.62 59.02 73.77 92.20 103.27 118.01 132.78 147.56

1 1
NN MIPNA Y = g xonX [pn7xinn M

nN17TM2abMmVIP=ds




7121 DIN NPATA7 ADTX NTY |10 '97 N7120N

N\ c-seismic SEISMIC
concrete C25/30 (kN)

lbd / ds (mm) 8 10 12 14 16 20 25 28 32 36 40
100 5.25 6.55 7.87 9.18 10.49 13.11 16.39 18.36 20.98 2361 26.23
120 5.90 7.37 8.85 10.32 11.80 14.75 18.44 20.65 23.60 26.56 29.51
140 7.09 8.85 10.62 1239 14.16 17.70 22.13 24.78 28.32 31.87 35.41
160 8.27 10.32 12.39 14.45 16.53 20.66 25.82 28.92 33.04 37.18 41.32
200 9.45 11.80 14.16 16.52 18.89 2361 29.51 33.05 37.76 4249 47.22
250 11.81 14.74 17.70 20.65 23.61 29.51 36.88 4131 47.20 53.11 59.02
280 14.76 18.43 2213 25.81 29.51 36.88 46.10 51.64 59.00 66.39 73.78
300 16.53 20.64 2478 2891 33.05 4131 51.63 57.83 66.08 74.36 82.63
320 17.71 22.12 26.55 30.97 3541 44.26 55.32 61.96 70.80 79.67 88.54
360 18.90 23.59 28.32 33.04 37.77 47.21 59.01 66.09 75.52 84.98 94.44
400 21.26 26.54 31.86 37.17 42.49 53.11 66.39 74.35 84.97 95.60 106.24
450 23.62 29.49 35.41 41.29 47.21 59.01 73.76 82.62 94.41 106.23 118.05

wovx jpn7 yinn [l

fe-1 fs D'DTPNN WD DPN NX NPT W

fs D'XIpN "2 PNIND nYysSYn DTpPN

fs
s/dsmm) | 8 10 12 14 16 20 25 28 32 36 40
50 143 129 119 113 1.09 1.04 1.00 1.00 1.00 1.00 1.00
70 143 143 140 129 122 113 1.06 1.04 101 1.00 0.98
80 143 143 143 139 129 118 110 107 1.04 1.02 1.00
100 143 143 143 143 143 129 118 113 1.09 1.06 1.04
120 143 143 143 143 143 143 127 121 115 111 1.08
140 143 143 143 143 143 143 137 129 122 117 113
150 143 143 143 143 143 143 143 134 125 119 115
175 143 143 143 143 143 143 143 143 135 127 122
200 143 143 143 143 143 143 143 143 143 136 129
fc 12N N¥p PNIN NYIWN DTPD
f
c/dsmm)| 8 10 12 14 16 20 25 28 32 36 40
50 143 129 119 113 1.09 1.04 1.00 1.00 1.00 1.00 1.00
60 143 143 140 129 122 113 1.06 1.04 1.01 1.00 0.98
70 143 143 143 139 129 118 110 107 1.04 1.02 1.00
80 143 143 143 143 143 129 118 113 1.09 1.06 1.04
9 143 143 143 143 143 143 127 121 115 111 1.08
100 143 143 143 143 143 143 137 129 122 117 113
125 143 143 143 143 143 143 143 134 125 119 115
150 143 143 143 143 143 143 143 143 135 127 122
200 143 143 143 143 143 143 143 143 143 136 129

~ .
U( ot.



(DD VIP7 DXNN) [ID2N 210 NYDWN DTPD

fp
02310 C16/20 €20/25 €25/30 C30/37 C35/45 C40/50 C45/55 C50/60
8-20mm
24mm 1.48 1.75
25mm
; 28mm 1.26 137
static/ 0.74 085 1.00 1M
semi-static 30mm
1.37 148
32mm
36mm
40mm 1.11 1.11 1.26 1.26
8-20mm 148 159
24mm 137 137 137
1.26
25mm 1.26 1.26
1.00 1.1
28mm 0.85 126 1.26 126
seismic 0.74
30mm 1 1.1 1.11 1.1
32mm ' 1.00 1.00 1.00
36mm 0.85 0.85 0.85 0.85 0.85 0.85
40mm 0.74 0.74 0.74 0.74 0.74 0.74 0.74
nT791 7w 97 pn n'7120n
NRd,s (kN)
ds mm 8 10 12 14 16 20 25 28 32
As mm? 50.3 785 113.1 1539 | 201.1 3142 | 4909 | 6158 | 804.2
oTin ST400 20 30.7 443 60.7 79.3 123.6 1929 | 2421 315.7
nT79 | ST500 16.0 246 35.4 486 63.4 98.9 154.3 1937 | 2526

?DWNN X

Nrdc=NOdc IX NORdc-seismic X (fc IX fs) x fp

NRrd = Minimum (Nrdc , Nrds)

CHEMFIX 100 + rebar




11pna 1T

Y201 MK XN7 DY NN DX NP7 (2

J'910 NIYa" N7 TV NIYY 8-12 'NNn7 (5

AN NTp7

1NN 910N ANINA DX P'TnY7
.12'02 |I'T 7712N X 011017

1

4

(
(
3
(
(

n'pn D19 XN
08510 Chemfix100 600ml
08462 CG600 1T NPT NTPX
02462 PG600 'bXN1I9 NPITN NTPX
03462 EG600 '70wn Nt NTpX

054-7976110 n”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702

CHEMFIX 100 + rebar




AC500 v4 + ATR

- i . . NRIY NIYp 79X
e — e o s

(n272n bIN) ATR opl7a .
DX -
2ID'X .

DIM9IND
10PIDN PIAT
C2-1CT MDTX NTYI T NYN »

ot W ) i
w—
& {ETAL » Fire Resistance
PG i Classification
Approval 0756-CPD-0575

FABDARA IO AR
R120

(30-21p2) TTI2 JA1Y'7 D'ONIY N'72D

| M30 | M27 | m24 | m20 | m16 [ m12 | m10 [ w8 | pIn 01
2823 | 2240 | 1834 | 1335 | 842 | 695 | 514 | 43.1 Nrk,cone
242.3 | 207.7 | 177.7 | 130.7 | 76.9 | 55.0 | 37.5 | 28.7 Nrk,adh no'7y YyI only
4488 | 367.1 | 2825 | 196.0 | 126.0 | 67.0 | 464 | 29.3 Nrksteel U9IX -
224.4 1 183.5|141.2| 98.0 | 62.8 | 33.7 | 23.2 | 14.6 Vik nm J%
1346 | 1154 | 1184 | 87.2 513 | 36.7 | 250 | 19.1 kN Nrd no'7y E
1N ony = 2

1795 | 1472 | 113.0 | 784 504 | 272 | 186 | 120 Vrd mm g
96.1 | 824 | 84.6 | 62.3 | 36.6 | 26.2 | 17.9 | 13.7 Nrec n9'7v X7Dm oniy Z
128.2 | 105.1 | 80.7 | 56.0 | 36.0 | 19.4 | 133 | 8.6 Vrec nm nnw ony 5
197.6 | 1568 | 1283 | 93,5 | 589 | 487 | 36.0 | 30.2 Nrk,cone =
1346 | 103.8 | 113.1 | 763 48.1 31.7 | 231 16.4 Nrk,adh N9y 7yl ony ’E
448.8 | 367.1 | 2825 | 196.0 | 1260 | 67.0 | 464 | 293 Nrk steel M9 - @
2244 | 1835 | 141.2 | 98.0 628 | 337 | 232 | 146 Vik mm =

748 | 57.7 | 754 50.8 320 | 21.2 | 154 | 109 kN Nrd no'7y E

1795 | 1468 | 113.0 | 784 502 | 270 | 186 | 120 Vid mm an oo -

534 | 412 | 538 36.3 229 | 151 11.0 7.8 Nrec na'7y X7nm oniy
1282 | 1049 | 80.7 | 56.0 | 359 | 193 | 133 | 86 Vrec nm nnw oniy
2823 | 224.0 | 1834 | 1335 | 842 | 695 | 514 | 43.1 Nrk,cone
2423 | 207.7 | 177.7 | 130.7 | 769 | 550 | 375 | 287 Nrk,adh N9y 7w 0nly E
280.0 | 230.0 | 176.0 | 122.0 | 790 | 420 | 290 | 18.0 Nrk steel 1M9IX a g
140.0 | 1150 | 880 | 61.0 | 39.0 | 210 | 150 | 9.0 Vi mm =| 5
1346 | 1154 | 1173 | 813 513 | 280 | 193 | 120 kN Nrd na'7y E g

[on ony El o

1120 | 920 | 704 48.8 312 | 168 | 120 7.2 Vid mm £
96.1 | 824 | 838 | 581 | 366 | 200 | 138 | 86 Nrec n9'7v X7nm oniy E
80.0 | 65.7 | 50.3 349 223 | 120 8.6 5.1 Vrec mm nn'w ony

35 30 28 [22(24)| 18 14 12 10 do nITp 0P

280 | 240 | 210 170 125 | 110 90 80 |mm | hnom 7RI MpNA oIy =

40 40 40 40 30 30 20 20 NITP PRIY7 12yN ‘78000 101 121y =2
300 | 270 | 200 150 80 40 20 10 | Nm |  Tmax 17XD'0PR MIPNN LINID j_:n

89 75 67 | 45(30) 17 1 7 5 ml N9 35% 7712 N7 M0IN NINJ =

4 5 6 9(13) 23 37 55 76 7' 585 N7I9NX/0NIN NN




N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 12 0PN n'7ap

170 150 125 110 100 90 80 heff [y nipnn poiy
510 450 375 330 300 270 240 Scr 0'21yn 2'Dp PN
85 75 62.5 55 50 45 40 mm Smin 02210 127X PNIn
255 225 | 1875 | 165 150 135 120 Car (IDAN AYPD 'R PAID
85 75 62.5 55 50 45 40 Cmin (102N NP XD PN
400 340 300 280 240 210 200 heff Ay mpnn pniy
1200 1020 900 840 720 630 600 Scr oIy 2'0"p PN
200 170 150 140 120 105 100 mm Smin 0'2IYN 2 '7X0''0 PN
600 510 450 420 360 315 300 Car (ID2N XD 'BAP PN
200 170 150 140 120 105 100 Cmin [1D2N ¥R *7XNIN PN

.n9'7va m 00171 DD DTRNIDOIND 0'PNINa .0'onily nnNN%na n'and n'7XN''NN o'pnana

a1y 732 DIy 197 awn7 vt Y7RDID9IX PNAN 'Y N1 N7120N 21wNYT

ENV 'X9I7'X [N '97 ANTX NT'Y17 [11ON7 TT12 ]a1y7 0'onily N'71D
8.8 NT79 n112n NIDID DY

mio | M2 | mas |

mo | mie | mi2 | mio | ms |

[ayn a0
197.6 156.8 1283 93.5 58.9 48.7 36.0 30.2 Nrk,cone
121.1 103.8 113.1 763 48.1 31.7 23.1 16.4 Nrk,pull no'7y
NU9IX 7Y ONIY
448.8 367.1 2825 196.0 126.0 67.0 46.4 293 Nrk steel o
157.1 128.5 98.8 68.6 440 236 16.2 10.2 ) Virk mnm o
N o
80.8 69.2 754 50.8 320 21.2 15.4 10.9 Nrd n9'7y -
|on only v
125.7 102.8 79.1 54.9 35.2 18.9 13.0 8.2 Vid nm
57.7 494 53.8 36.3 229 15.1 11.0 7.8 Nrec o'y \'7nIn ORIy
89.8 734 56.5 39.2 25.1 13.5 9.3 5.8 Vrec nm nnw only
93.5 58.9 48.7 Nrk,cone
45.8 23.7 13.5 Nrk pull no'7y
NU9IX 7Y ONIY
196.0 126.0 67.0 Nrksteel o
68.6 44.0 236 Vik nm Py
- - - - - kN o
30.5 15.8 9.0 Nrd no'7y i~
|on only (@]
54.9 35.2 18.9 Vid mm
21.8 113 6.4 Nrec na'7y '70In only
39.2 25.1 135 Vrec mm nn'w onily
280 240 210 170 125 110 90 80 mm | hnom 7Xannmpnapny | 0Y773 09im

11pna 1T

2N np7 (1
YD1 MIX XNT DY 1NN DX N7 (2

(

(
21NN 5100 ININD DX 77T7 (3
.112'02 DINA NX 012017 (4
(

J'910 NIV2"NAY7 Ty NIyY 8-12 'NNDN7 (5



D'D”pnI NIT'N

n’pn D19 XN

8620 AC500v4 585ml
8562 7'D 585 NTPX

8561 7' 585 '70WN NPITN NTPX

ATR
yield strength s't?::;fh nll;llgn TIX 01
n179110 n"pn D19 IXM
fyk fuk SW L d
(N/mm?’) (N/mm?’) (mm) (mm) (mm)

10 6 03761000 ATR 37 M6x1000
13 8 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000

370 500 24 ST37 16 03716100 ATR 37 M16x1000
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
4 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 6 08861000 ATR 8.8 M6x1000
13 8 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
22 14 08814100 ATR 8.8 M14x1000

640 800 24 88 1000 16 08816100 ATR 8.8 M16x1000
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 22 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
41 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR S5316 M6x1000
13 31681000 ATR SS316 M8x1000
17 10 31610100 ATR SS316 M10x1000
19 12 31612100 ATR 55316 M12x1000
19 14 31614100 ATR SS316 M14x1000
24 16 31616100 ATR 55316 M16x1000

450 700 $S316 (A4)
19 18 31618100 ATR SS316 M18x1000
30 20 31620100 ATR 55316 M20x1000
19 22 31622100 ATR SS316 M22x1000
36 24 31624100 ATR 55316 M24x1000
41 27 31627100 ATR 55316 M27x1000
46 30 31630100 ATR SS316 M30x1000

(ATR 5.8 M16x230 GG XD2IT7) IXINDN DY INX7 GG |7 X1 .WXIN NINTNA [1N{2'D 30 ITI9ITINA0 [17'22 NIDINA NX 721p'7 |N1




AC500 v4 + rebar

NNV Ni¥pr7ax

b1 -
T 7T/ XIp opi7a .
DX -
NIDX -

D"OXD
'0PIDX PaT
CIADTXNTYI TN WYX »

i, ] i) - 1
wp Fire Resistance
European EEQENE

Approval [T Classification

FBT g TTCAlA LSaal
R120

(30-2j1b2) TTIA JAIY'7 D'ODIY N'72D

| @32 | @28 | @25 | @22 | @20 | 018 | @16 | 014 | @12 | @10 | @8 | Y111 01
4115 | 3449 | 183.4 | 1834 | 1335 | 1107 | 842 | 84.2 69.5 514 | 431 Nrk,cone
258.4 | 315.8 | 185.1 | 162.9 | 119.9 | 95.2 | 70.5 | 67.3 | 50.8 | 34.6 | 24.6 Nrk,adh na'7y Ywd only
4420 | 3387 | 2700 | 2083 | 173.0 | 1395 | 111.0 | 844 62.0 43.0 | 28.0 Nrk steel 9IN a
221.0 | 168.8 | 135.0 | 104.5 | 86.6 | 70.0 | 55.5 | 42,5 | 31.1 | 21.5 | 14.0 Vik nm J%
1723 | 2106 | 1222 | 1086 | 79.9 | 635 | 470 | 449 | 338 | 23.1 | 164 KN Nrd n9'7v - §
1473 | 1125 | 900 | 69.7 | 57.7 | 46.7 | 370 | 283 20.7 14.3 9.3 Vrd nm =
123.1 1504 | 873 | 77.6 | 57.1 | 453 | 33.6 | 32.0 | 242 | 165 | 11.7 Nrec n9'7v 70D only
105.2| 804 | 643 | 498 | 41.2 | 334 | 264 | 202 | 148 | 10.2 | 6.7 Vrec mm nn'w only
288.1 | 2414 | 1283 | 1283 | 935 | 775 | 589 | 589 | 487 | 36.0 | 30. Nrk cone
184.6 | 229.7 | 1346 | 1184 | 872 | 779 | 57.7 | 505 38.1 288 | 144 Nrk.adh N9y 7w only
442.0 | 338.7 | 270.0 | 208.3 | 173.0 | 1395 | 111.0 | 844 62.0 43.0 | 28.0 Nrk steel 1"9IX
221.0 | 1688 | 1350 | 1045 | 866 | 70.0 | 555 | 425 31.1 215 | 140 Vik nmm 5_|
123.1 | 153.1 | 856 | 79.0 | 58.1 | 51.7 | 385 | 336 254 19.2 9.6 kN Nrd N9y E
1473 | 1125 | 900 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 207 143 | 93 Vrd nm Ropy -
879 | 1094 | 61.1 | 564 | 415 | 369 | 275 | 240 18.1 13.7 6.8 Nrec n9'7v X'7nm only
1052 | 804 | 643 | 498 | 412 | 334 | 264 | 20.2 14.8 10.2 6.7 Vrec nm nn'w only
288.1 | 2414 | 1283 | 1283 | 935 | 775 | 589 | 589 48.7 36.0 Nrk cone
1737 | 211.1 | 123.7 | 116.1 | 855 | 763 | 56.6 | 495 | 373 | 252 Nrk,adh n9'7y 7wd only
4420 | 338.7 | 270.0 | 208.3 | 173.0 | 1395 | 111.0 | 844 | 620 | 43.0 Nrk steel UoIxX o
111.0 | 1070 | 89.0 | 780 | 69.0 | 53.0 | 41.0 | 320 23.0 16.0 Vik nm o
1158 | 1408 | 825 | 774 | 570 | 50.9 | 377 | 330 | 249 16.8 - kN Nrd N7y o oy g
740 | 713 | 593 | 520 | 46.0 | 353 | 273 | 213 153 10.7 Vrd nmm
827 | 100.5 | 589 | 553 | 407 | 364 | 269 | 236 | 178 12.0 Nrec N7y X7nm only
529 | 51.0 | 424 | 371 | 329 | 252 19.5 15.2 11.0 7.6 Vrec nmm nn'w only
40 35 30 27 25 22 20 18 | (1416 | 12 10 do niTp oI
360 | 320 | 210 | 210 | 170 150 125 125 110 90 80 | mm | hnom X101 NN PRIy _E
80 | 8 | 60 60 50 | 50 40 40 30 30 30 NITP PRIYT 12Y0 7N 102 2y E
229 | 14 59 53 39 25 19 17 [ (66)13| 46 33 | ml NN9 35% 7712 N7 W0IN NN E
3 4 10 1 15 24 32 36 | (80)45 | 100 | 1007 7" 585 N'719DX/DMIN NN

.2 NP N2 |7"T'7 wip v 72X NI NNI22 NIDAIXNN NIDoN *2

A DU 4 RPDd 80



N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 20PN n'7ap

200 170 150 125 110 100 90 80 heff PIyn Mpna poly
600 510 450 375 330 300 270 240 Ser D92IYA 12107 PAD
100 85 75 62.5 55 50 45 40 | mm | smin D2IYA 2 XD PN
300 255 225 187.5 165 150 135 120 Car (D20 AYPD 'BAP PRD
100 85 75 62.5 55 50 45 40 Cmin [ID2A ¥R XD PN
500 450 400 320 280 260 240 210 heff PIyn MpnA poly
1500 1350 1200 960 840 780 720 630 Scr D92IYA 12107 PND
250 225 200 160 140 130 120 105 | mm | smin D92V 12 “7RD PN
750 675 600 480 420 390 360 315 Car [ID2N AYPD 'BAP PRD
250 225 200 160 140 130 120 105 Cmin [ID2A ¥R XD PN

Chemfix man 7w iy 2im1 7y oooiani ETA [pn '97 0avinn,0'pPNIn NYswin 71,1070 1573 NIN9Y7 |7 7112 0y ,C20/25 (1012 TTI2 A1y '97 0*100 0'iN]

11pna "1

'\.'.
by .
.
-z !
-

ré

T =

an [N |- e

L e
i o iy
.-.j = o ey
h el AT

Py et T

o'n’pn

JIY12DI IR XN'7 DY NN DX NP7 (2

'910 NIW2"NNY7 Ty NIyw 8-12 'Nnn7 (5

AN NP7 (1

21NN 510N ININA DX PTnY7
.12'02 |I'T 77120 NX 011017 (4

D’pn DM9 XM

8620 AC500v4 585ml
8562 7'0 585 NTPX

8561 7' 585 '70WUN NPT NTPX

054-7976110 n”y2a D'TX N12N 0TINAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702

()(] {1 -




Chemfix 200 + ATR
. oL
TRy ni P ToX

(M2n bm) ATR opI7a .
DX »
20X

0'1"IxXn

European g ." European T .‘." European T .'." 7'721¥n T2 PaT -

i s s : 2

Approval SEE 0756-CPD-0575 Approval #E%  4756.CPD-0575 Approval SEE 0756.CPD-0575 compressive Strength 2100 N/mm” o
ATFTAA N ATRC, ATFTAA ML AT, 2

flexural strength : 15 N/mm”

E-modulus : 14000 -
VOC CLASSIFICATION? BS6920

: . IGC
Fire Resistance : - on - 1 1
American Ii C2-1C1 ADTX NTYI TN YUK
M Classification Approval @ niow + Q FOR USE WITH

R120 ESR 4366 n110n A+ JAIIBI C POTABLE WATER

(30-2102) TTIA J]AIY'7 D'ONIY N72D

| M36 | mM33 | m30 | m27 | m24 | m20 | mi6 | M2 | mio | M8 | DI DI

3777 | 313.1 | 282.3 | 224.0 | 1834 | 133.5 | 84.2 | 695 | 514 | 43. Nrk,cone
353.1 | 317.2 | 296.1 | 249.1 | 2100 | 1580 | 929 | 61.3 | 419 | 27.7 Nrkadh | 979 Yy only
653.6 | 5552 | 449.0 | 368.0 | 282.0 | 196.0 | 1250 | 67.0 46.0 29.0 Nrk steel 1M9IN -
326.8 | 277.6 | 224.0 | 184.0 | 141.0 | 98.0 | 63.0 | 340 | 23.0 | 15.0 Vik nm J%
196.2 | 176.2 | 1645 | 1384 | 1166 | 878 | 516 | 34.1 233 185 KN Nrd n9'7y E
2614 | 2221 | 1792 | 1472 | 1128 | 784 504 27.2 18.4 12.0 Vid nmm pony ~ E
140.1 | 1259 | 1175 | 989 | 833 | 62.7 | 369 | 243 16.6 13.2 Nrec n9'7y Y7010 ony 2
186.7 | 158.6 | 128.0 | 105.1 | 80.6 | 56.0 | 36.0 | 19.4 | 13.1 8.6 Vrec nm nNw oniy 5
2644 | 219.1 | 1976 | 156.8 | 1283 | 935 58.9 48.7 36.0 30.2 Nrk,cone E
3334 | 269.7 | 2288 | 1765 | 121.1 81.7 48.1 31.7 20.2 12.3 Nrk,adh N9y ‘7vd only E
653.6 | 5552 | 449.0 | 368.0 | 2820 | 196.0 | 1250 | 67.0 46.0 29.0 Nrk steel "9IX @
3268 | 277.6 | 224.0 | 1840 | 1410 | 980 | 630 | 340 | 23.0 | 150 Vik nm 5_'
176.3 | 146.1 | 127.1 98.1 67.3 454 26.7 17.6 11.2 8.2 kN Nrd nay E
2614 | 2221 | 179.2 | 147.2 | 1128 | 784 50.4 27.2 18.4 12.0 Vid mm nony -
1259 | 1044 | 90.8 70.0 48.1 324 19.1 12.6 8.0 5.9 Nrec noa'7y \7nin only
186.7 | 158.6 | 128.0 | 105.1 80.6 56.0 36.0 19.4 13.1 8.6 Vrec nm nn only
377.7 | 313.1 | 2823 | 2240 | 1834 | 1335 | 84.2 69.5 514 43.1 Nrk cone
353.1 | 317.2 | 296.1 | 249.1 | 2100 | 1580 | 929 | 613 | 419 | 277 Nrkadh | N9'7¢ 7w only E
4248 | 360.9 | 280.0 | 230.0 | 176.0 | 122.0 | 790 | 420 | 290 | 180 Nrk steel 91X o g
2125 | 1735 | 140.0 | 115.0 | 88.0 61.0 39.0 21.0 15.0 9.0 Virk mm = 5
196.2 | 176.2 | 1645 | 1384 | 1166 | 813 516 28.0 19.3 12.0 kN Nrd n9'7v E E
170.0 | 1388 | 1120 | 920 704 48.8 31.2 16.8 12.0 7.2 Vid mm nony = JS
140.1 | 1259 | 1175 | 989 | 833 | 58.1 369 | 200 | 138 8.6 Nrec n9'7y X'70In oniy §
1214 | 99.1 80.0 65.7 50.3 34.9 223 12.0 8.6 5.1 Vrec mm nn'v ony

40 37 35 30 28 | 24(22) 18 14 12 10 do nITp 01P

340 300 280 240 210 170 125 110 90 80 | mm | hnom [y mpnn poiy E

50 50 40 40 40 40 30 30 20 20 NITR PRIY7 12YN '7XN''D |12 121y E

182 143 89 75 67 |45(0)| 173 10.7 73 53 ml (25% 7w NN9 7712) N / 10IN NN E

2 3 4 5 6 9(13) 23 38 55 76 nN9 35% 7712 '7'0 420 N'71I9DX/0MIN NINJ

.Chemfix n1an 7v ¥ 2in1 7y o'ooiant ENV 1992-4 : 2018 [pn 197 awinn ,0fpnin NIyswi #72,30-1 1022 TTI2 A1y '97 0130 01IN)



ENV 'X917'X |PN '97 AnTX NT'YA7 [112N7 TT12 |21y'7 n'only N'71D

Mo | M27 | m24 | m20 | mie | mi2 | mio | wms | PV 210
197.6 156.8 128.3 93.5 58.9 48.7 36.0 30.2 Nrk,cone

158.4 122.2 83.7 55.0 323 213 12.5 7.7 Nrkadh | N9'7@ =
N"9IX ‘7Y ONIlY o
448.8 367.1 282.5 196.0 125.6 67.4 46.4 29.3 Nrk steel o 3
= (=}
157.1 128.8 98.9 68.6 44.1 238 16.3 10.5 ‘ Vik mm o =
N o [
88.0 67.9 46.5 30.5 18.0 1.9 7.0 5.1 Nrd no'7vy - =
[on oniy U e
56.2 44.6 36.5 26.6 16.8 13.8 10.2 8.4 Vid mm I=
62.9 48.5 332 21.8 12.8 8.5 5.0 3.7 Nrec N9y 701D ORIy <

40.2 319 26.1 19.0 12.0 9.9 73 6.0 Vrec mm nnw ony

- - - 93.5 589 48.7 = = Nrk,cone

= = = 29.7 17.5 11.5 = = Nrkadh | N97¢ =
N"9IX 7Y ONIY o
- - = 196.0 125.6 67.4 = = Nrk steel o =)
= (=
- - = 735 | 441 20.4 = = Vik M o) 5
kN o -
- - - 16.5 9.7 6.4 - - Nrd no'7y (=
jon ony O &
- - = 26.6 16.8 13.8 = = Vid mm =
- - - 1.8 6.9 4.6 = = Nrec | N97W | y7oin only =

- - - 190 | 120 9.9 - - Viee | mm nn'w only

260 | 240 | 210 [ 170 | 125 | 110 | 90 | 80 |[mm | hwm |  momompnapow |

N2 Mpnn pniy '9Y 12N N¥PN D'PNINI DAIYA 2 0'PNIN D7D

170 150 125 110 100 90 80 70 heff [Ayn nipnn poiy
510 450 375 330 300 270 240 210 Sopt 0'221YN 2 '7XD'D9IX PNID
85 75 62.5 55 50 45 40 35 mm Smin 1Y [ '7XD20 PRI
255 225 | 1875 | 165 150 135 120 105 Cor (IDAN NYPD AP PRIR
85 75 62.5 55 50 45 40 35 Cmin [ID2N N¥PR "7XDID PR
500 400 350 300 280 250 210 200 heff [AIyn Nipnn pRiy
1500 1200 1050 900 840 750 630 600 Sopt D22IYN 12 '7XDID9IX PNIN
250 200 175 150 140 125 105 100 mm Smin D2IYN |12 '7XN''0 PN
750 600 525 450 420 375 315 300 Cer [ID2N N¥PR 'BP PNIN
250 200 175 150 140 125 105 100 Cmin [ID2N N¥PR '7XDID PR

.N9'7w1 P71 O'DAIIT7Y DI OF7XN'DYIXD D'PNINN .0'0NIY NNN9AA 0211 D'7XND''HA D'PNINA
a1y ‘72 w197 awn7 W' ATR0DW9IX PNI0 'Y 0122 N'7I20N 21wnY




11pna 1T

Chemfix 200 + ATR

NWI2DI MK XNT7 DY NN DX NP7 (2

J'910 NIV2A"NAY7 Ty NIyY 8-12 'NDN7 (5

2N iR (1

2INA 9100 ININA DX 7Ty

.12'02 DINA NX 01217 (4

(
(
(
(
(

n"pn D119 XN

78098 Chemfix200 420ml
08461 CG420 27 T NTPX
01461 EG420 *70wn npt NTpPX
02461 PG420 'pNXP19 NPT NTPX
23205 M12x1000mm 'm'2 nwN
23210 M16x1000mm 2 nwN
23220 M22x1000mm'm nvn
51250 M12x50 237 17"
51685 M16x85 M7 |I7M
51613 M16x130 M7 17"
52085 M20x85 27 |I7Mm

3




ATR

yield strength S:‘:::;fh nngllgn TIX 01
779210 n’pn DM XN
fyk fuk SW L d
(N/mmz) (N/mmz) (mm) (mm) (mm)

10 6 05661000 ATR 5.6 M6x1000
13 8 05681000 ATR 5.6 M8x1000
17 10 05610100 ATR 5.6 M10x1000
19 12 05612100 ATR 5.6 M12x1000
22 14 05614100 ATR 5.6 M14x1000

300 500 5.6
24 16 05616100 ATR 5.6 M16x1000
27 18 05618100 ATR 5.6 M18x1000
30 20 05620100 ATR 5.6 M20x1000
32 22 05622100 ATR 5.6 M22x1000
36 24 05624100 ATR 5.6 M24x1000
10 6 03761000 ATR 37 M6x1000
13 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000
24 16 03716100 ATR 37 M16x1000

370 500 37
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
41 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 08861000 ATR 8.8 M6x1000
13 1000 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
22 14 08814100 ATR 8.8 M14x1000
24 16 08816100 ATR 8.8 M16x1000

640 800 8.8
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 22 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
41 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR 55316 M6x1000
13 8 31681000 ATR SS316 M8x1000
17 10 31610100 ATR SS316 M10x1000
19 12 31612100 ATR SS316 M12x1000
19 14 31614100 ATR SS316 M14x1000
24 16 31616100 ATR 55316 M16x1000

450 700 $S316 (A4)
19 18 31618100 ATR SS316 M18x1000
30 20 31620100 ATR SS316 M20x1000
19 22 31622100 ATR SS316 M22x1000
36 24 31624100 ATR SS316 M24x1000
41 27 31627100 ATR 55316 M27x1000
46 30 31630100 ATR 55316 M30x1000




"T7T2 /X1

European &

Approval

ETA 18/0797 Bonded Fasteners

European &
Approval

LATFYAA T

#E%  4756.CPD-0575

L AT,
ETA 18/0798 Bonded Rebars

European &

Approval

SEE 0756.CPD-0575

ATFTAA TR AT,
ETAIE/0814 Masonry

»

Fire Resistance
Classification

R120

American
Approval

ED

ESR 4366

I
niN
n1120n

VOC CLASSIFICATION'

A+[A[B C

o

BS6920
FOR USEWITH
POTABLE WATER

JNDINN [N 07172 DN 170 1022 R0 10-1 0”0 8 DMDpI

.Chemfix nan 7w ¥ aima 7y orooiant ENV 1992-4 : 2018 |pn '97 Drawinn ,0pnIn Niyawi *72,30-1 [1022 TTI2 A1y '97 0"130 DIn)

(30-11b2) TTIA J21Y'7 Dr'ONDIY N'72D

CHEMFIX 200 + rebar

NIV NIYpr79X
(D2

o'pI7a .

00X .

NILX .

compressive strength : 1100 N/mm
flexural strength : 15 N/mm

E-modulus : 14000

C1 &A-FIDTX NT'YI T21 YR

tensile strength 29.36 N/mm2

0'"IXD
772UD TN PAT o

| @40 | @36 | 032 | @28 | @25 | 022 [ @20 | @18 | @16 [ 214 | 212 [ @10 @8 | Y0P
673.6(482.0(394.5|377.7|224.0{196.6 | 170.4|139.5|110.7 [ 110.7| 84.2 | 60.2 | 60.2 Nrk,cone

494.4|356.0(340.8|335.4| 230.6|186.0{166.5|131.2| 99.9 | 87.4 | 624 |41.6 | 28.2 Nrk,adh no'7y w2 only
693.8|563.2|442.0|338.7|270.0|208.3|173.0|139.5|111.0| 84.4 | 62.0 | 43.0 | 28.0 Nrk,steel "9IX A
346.9|281.6/221.0|168.8|135.0|104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 | 21.5 | 14.0 KN Vik nmm 3
235.4(169.5|162.3|159.7[109.8| 88.6 | 793 | 72.9 | 555 | 486 | 347 | 23.1 | 188 Nrd N7y e
231.3[187.7|147.3|112.5| 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 | 143 | 93 Vi mm pRoby &
168.2{121.1{115.9|114.1| 78.4 | 63.3 | 56.6 | 52.0 | 39.7 | 34.7 | 24.8 | 16.5 | 13.4 Nrec 197y | yyom only
165.2(134.1/105.2| 80.4 | 64.3 | 49.8 | 41.2 | 33.4 | 26.4 | 20.2 | 14.8 | 10.2| 6.7 Vrec mm | nwony
471.5(337.4|276.2|264.4|156.8(137.6(119.3| 97.6 | 775 | 77.5 | 589 | 422 | 42.2 Nrk,cone
390.3(281.01269.0(228.7(124.9(100.8| 83.3 | 65.6 | 50.0 | 43.7 | 31.2 | 19.2 | 12.8 Nrk,adh no7y w2 only
693.8|563.2|442.0|338.7 (270.0 (208.3(173.0(139.5(111.0| 84.4 | 62.0 | 43.0 | 28.0 Nrk,steel "9IX
346.9(281.6(221.0(168.8|135.0|104.5| 86.6 | 70.0 | 55.5 | 42.5 | 31.1 | 21.5 | 140 KN Vik nmm %
216.9(156.1|149.5(127.0| 69.4 | 56.0 | 46.3 | 364 | 27.8 | 243 | 174 | 10.7 | 85 Nrd no'7y E_
231.3(187.7|1147.3|112.5| 90.0 | 69.7 | 57.7 | 46.7 | 37.0 | 283 | 20.7 | 143 | 9.3 Vid mm il
154.91111.5|106.8| 90.7 | 49.6 | 40.0 | 33.0 | 260 | 198 | 174 | 124 | 76 | 6.1 Nrec o7y 70N oniy
165.2|134.1|105.2| 80.4 | 64.3 | 49.8 [ 41.2 | 334 | 264 | 202 | 148 | 10.2 | 6.7 Vrec nmm nn'w ony
471.5(337.4|276.2|264.41156.8(137.6(119.3| 97.6 | 775 | 77.5 | 589 | 422 | 42.2 Nrk,cone

270.2(194.6(186.3|158.3| 86.3 | 67.8 | 56.0 | 44.1 | 33.6 | 294 | 210 [ 119 | 8.0 Nrk,adh N7y v oniy
693.8|563.2|442.0|338.7 (270.0 (208.3(173.0(139.5|111.0| 844 | 62.0 | 43.0 | 28.0 Nrk steel 1"9IX
242.8(197.1|154.7|118.1| 945 | 73.2 | 60.6 | 49.0 | 389 | 298 | 21.7 | 151 | 98 KN Vik mm %
150.1{108.1(103.5| 88.0 | 47.9 | 37.7 | 31.1 | 245 | 187 [ 163 | 11.7 | 6.6 | 53 Nrd no'7v - G
161.9(131.4(103.1| 78.8 | 63.0 | 48.8 | 40.4 | 32.7 | 259 [ 198 | 145 [ 100 | 65 Vid nmm

107.2| 77.2 | 739 | 62.8 | 342 | 269 | 222 | 175 [ 133 | 11.7 | 83 47 | 38 Nrec N7y X'70In oniy
115.6| 939 | 73.7 | 56.3 | 45.0 | 34.8 [ 289 [ 233 [ 185 [ 142 | 104 | 7.2 | 47 Vrec nmm nnwony

500 | 400 | 350 | 340 | 240 | 220 | 200 | 175 | 150 | 150 | 125 | 100 | 100 hnom ‘711 mpnn poiy

50 | 44 | 40 | 35 | 30 | 27 | 25 | 22 | 20 | 18 [16(14)| 12 | 10 | mm do niITp oI _E

80 | 80 | 80 | 80 | 60 | 60 | 50 | 50 | 40 | 40 30 30 | 30 NITR PRIY7 12YD Y7X0'D |12 1Y E
420 | 254 | 200 | 113 | 68 55 46 | 29 | 227|202 |15(75)| 51 | 42 | ml (25% ‘7w NNo '7712) N / 0IN NinJ E

10 | 1.7 | 21 | 37 | 62 | 76 9 14 | 18 | 20 |27(53)| 79 | 80 7'1 420 N'719NX7 DNIN NIND

00 BDC




N1 Nlpna pnly 197 [IDAN AXPD D'PNINDID'AYA 20PN n'7ap

200 170 150 140 130 110 100 80 heff [lyn npnin poiy
600 510 450 420 390 330 300 240 Scr 01V [ "D PND
100 85 75 70 65 55 50 40 mm Smin D221YN 12 '7XN2M NN
300 255 225 210 195 165 150 120 Cer [IDAN AYPD 'R PRID
100 85 75 70 65 55 50 40 Cmin (102N NP XD PID
500 450 400 320 280 260 240 220 heff Iy mpnn pniy
1500 1350 1200 960 840 780 720 660 Scr 0221yN [2'Dp PNn
250 225 200 160 140 130 120 110 mm Smin DY |2 7R PN
750 675 600 480 420 390 360 330 Cor [ID2N AYPR 0P PRIN
250 225 200 160 140 130 120 110 Cmin [ID2N N¥PR 7XNIN PN

.N9'7w21 P 0'DAIYTY DI DMTXPD'DOIND D'PNINA .D'ONIY NNNSAA 02112 D'7XN1IMN D'PNINA
21y 72 w197 2UN'7 W 7RNDIWDDIX PNID |'X,N1T12 N'7120N 21W'N'7

EAD33087-00-0601 'X9I7'X |?N '9'7 Nn'7120N 21W'N

170 X71 pITO [ID12 71712 DIND NPATA7 N'0'01 N'7120N

Nord,c
concrete C25/30 (kN)

lod / ds (mm) 8 10 12 14 16 20 25 28 32
100 5.90 7.37 8.85 10.32 11.80 14.75 18.44 20.65 23.60
120 7.09 8.85 10.62 1239 14.16 17.70 22.13 24.78 28.32
140 827 10.32 1239 1445 16.53 20.66 25.82 28.92 33.04
160 9.45 11.80 14.16 16.52 18.89 23.61 29.51 33.05 37.76
200 11.81 14.74 17.70 20.65 23.61 29.51 36.88 41.31 47.20
250 14.76 18.43 22.13 25.81 29.51 36.88 46.10 51.64 59.00
280 16.53 20.64 24.78 28.91 33.05 41.31 51.63 57.83 66.08
300 17.71 2212 26.55 30.97 3541 44.26 55.32 61.96 70.80
320 18.90 23.59 28.32 33.04 37.77 47.21 59.01 66.09 75.52
350 20.67 25.80 30.98 36.13 41.31 51.64 64.54 72.29 82.61
400 23.62 29.49 3541 41.29 47.21 59.01 73.76 82.62 94.41

NN MPNN PRI = lbd o [pn7 Xinn M

N7 DM WIP=ds




fe-1 fs D'DTPNN WD DR NX NNPYT W'

fs DI 2 PNIND NYDWR DTN

fs
s/ dsmm) 8 10 12 14 16 20 25 28 32
50 143 1.29 1.19 1.13 1.09 1.04 1.00 1.00 1.00
70 143 143 1.40 1.29 1.22 1.13 1.06 1.04 1.01
80 143 143 143 139 1.29 118 1.10 1.07 1.04
100 143 143 143 143 143 1.29 1.18 1.13 1.09
120 143 143 143 143 143 143 1.27 1.21 115
140 143 143 143 143 143 143 137 1.29 1.22
150 143 143 143 143 143 143 143 134 1.25
175 143 143 143 143 143 143 143 143 135
200 143 143 143 143 143 143 143 143 143
fc |Ib2n N¥pP pNIN NYIWN DTPN
fc
¢/ ds mm) 8 10 12 14 16 20 25 28 32
50 143 1.29 1.19 1.13 1.09 1.04 1.00 1.00 1.00
60 143 143 1.40 1.29 1.22 1.13 1.06 1.04 1.01
70 143 143 143 139 1.29 118 1.10 1.07 1.04
80 143 143 143 143 143 1.29 118 1.13 1.09
90 143 143 143 143 143 143 127 1.21 1.15
100 143 143 143 143 143 143 137 1.29 1.22
125 143 143 143 143 143 143 143 134 1.25
150 143 143 143 143 143 143 143 143 135
200 143 143 143 143 143 143 143 143 143
(pm IDIP'7 DXNNI) [ID2N 210 NYDWN DTPD
fo
12210 C16/20 €20/25 €25/30 €30/37 €35/45 C40/50 C45/55 €50/60
8-25mm 0.74 0.85 1.00 111 1.26 137 148 159
28-32mm 0.74 0.85 1.00 111 1.26 137 137 137
NT7917w2 97 pn n7120Nn
NRd,s (kN)
ds mm 8 10 12 14 16 20 25 28 32
As mm? | 503 785 | 1131 | 1539 | 2011 | 3142 | 4909 | 6158 | 8042
onn | ST400 | 160 246 354 486 634 989 | 1543 | 1937 | 2526
aT79 | ST500 20 30.7 443 60.7 793 | 1236 | 1929 | 2421 | 3157

Nrd = Minimum (Nrdc , Nrds)

Nrde=N%dc IX NORdc-seismic X (fc IX fs) x fp

D2WnNn X



11pna "1

AN nTp7 (1
YD1 MIX XN DY NN DX N7 (2

(

(
2INA 910D ININN DX PT7 (3
.212'01 DIPN NX 0'12n7 (4
(

910 NIWa"NNY TV NIpT 20-50 'NNNY7 (5

n’pn DM9 NN

78098 Chemfix 200 420ml
08461 CG4101T ApaT NTPX
01461 EG410 *7own npatn NTpx
02461 PG410 'uXn19 NIt NTPX

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702

CHEMFIX 200 + rebar




CT50Pro + ATR

Brandname of Chemfix PESF

NIV NIr¥pr'79x

+ o s opioa -

(na12n bIn) ATR NiYp 00X -

n"1"9XN

compressive strength 43.5 N/mm’
flexural strength : 15.9 N/mm’
flexural modulus 2803

VOC CIASSFCATION™ tensile strength 9.3 N/mm’
[Pn ap'Ta /\ E-modulus :
nwx -A-I- t modulus : 4874.5 «
n110n @ e WIS mxaOnn

European - European S
Approval L (R Approval L=
(30-21ip2) TTI2 J]AlY'7 DONIY N'72D
| w30 | m27 | m24 | m20 | mie | w2 | mio | wms | 0In DI
2823 | 2382 | 1834 | 1335 84.2 69.5 514 43.1 Nrk,cone
145.4 | 127.4 | 105.0 | 84.0 53.2 37.0 26.8 214 Nrk,adh na'7y 2
9IX 7Y 0NIy o
280.0 | 230.0 | 176.0 | 1220 79.0 42.0 29.0 18.0 Nrk steel o 2
[
1425 | 115.0 | 88.0 61.0 39.0 21.0 15.0 9.0 ) Vik nmm J% 5
N X
67.3 59.0 48.6 38.9 24.6 17.1 12.4 9.9 Nrd na'7y o =
[an only ~ g
114.0 92.0 70.4 48.8 31.2 16.8 12.0 7.2 Vid mm =
481 | 421 | 347 | 278 | 176 | 122 | 89 | 7.1 Nec | notw \7nID ORIy A
81.4 65.7 50.3 34.9 223 12.0 8.6 51 Vrec mm nn'w oniy
2823 | 2382 | 1834 | 1335 84.2 69.5 514 43.1 Nrk,cone
1454 | 1274 | 105.0 84.0 53.2 37.0 26.8 214 Nrk,adh noa7y 2
UOIN 7WI ONIY &
4488 | 367.0 | 2825 | 196.0 | 1256 67.4 46.4 29.2 Nrk steel =
[
2244 | 1835 | 141.2 98.0 62.8 337 232 14.6 Vik mm J% =
kN X
67.3 59.0 48.6 38.9 24.6 17.1 124 9.9 Nrd na'7y o
[an oniy =
179.5 | 1468 | 113.0 784 50.2 27.0 18.6 1.7 Vid nm =
48.1 421 347 27.8 17.6 12.2 8.9 7.1 Nrec noa7y X7nIn ony 3
1282 | 1049 80.7 56.0 359 19.3 13.3 8.4 Vrec nmm nnw only
35 32 28 24 18 14 12 10 do nITP 01
280 250 210 170 125 110 90 80 mm hnom 72111 MpNn poiy -
5]
50 40 40 40 30 30 20 20 NITH PRIY7 12Y0 *7X0D (102 121y =
300 250 200 150 80 40 20 10 Nm Tmax | 7X'0pPN MpNN LINID j_:n
a
145 97 67 45 17.3 10.7 73 53 ml (35% ‘7w NN9 '7712) 2N / 0IN NN
3 4 6 8 23 38 55 762 7'D 410 N719DX/0NIN NN

APITNA NAB NI P77 WP W' 72X NI AN NIDIXTN NN *2



N1 nlpna pnly 197 [IDAN AXPD D'PNAINDID'AIYA 12 02NN n'7ap

150 140 125 110 100 90 80 70 heff ]Iy Mpnin poiy
450 420 375 330 300 270 240 210 Scr 0'2vn 2'0"p pnan
75 70 62.5 55 50 45 40 35 mm Smin 021N 2 '7X'N PN
225 210 | 1875 | 165 150 135 120 105 Car (ID2N XD DR PN
75 70 62.5 55 50 45 40 35 Cmin (102N NXPR XD PN
400 340 300 280 240 210 200 170 heff Jatyn mpnn poiy
1200 1020 900 840 720 630 600 510 Scr DIy 2 '01p PN
200 170 150 140 120 105 100 85 mm Smin DY |12 '7XN0 PNIN
600 510 450 420 360 315 300 255 Cer [ID2N A¥PR 'DIP PN
200 170 150 140 120 105 100 85 Cmin [ID2N NXPR *7XID PRD

.N9'791 P71 'L DI OY7XNIDDIXD D'PNINN .0'0NIY NNN9AA 02112 D'7XN''NA D'PNINA
a1y 72 miwr 197 awn vt Y7RDIDIX PNAN 'Y ,NN'T1 N7120N 2wnY

1pna 1T

2N np7 (1
Y201 VIX XN DY NN DX NP7 (2

(

(
2INA 510N IVINN DX P'IT7 (3
.212'01 DINN NX 0'10n7 (4
(

JI'910 NIWA"NNY Ty NIPT 90-30 'NnnY (5

CT50Pro + ATR




(0inY) opi'7a7 iy

i

027 ¥ 7w 0"100 DN WNNWAT [N X7,N1917K DPI7200 DDIY YK DPI720Y (1100

2’2 1000 TV 400-0 7w TV N9*7W21 D'ONIY NIOX7 WOX, 01712 101 |11y 7Y 1127YV N2 NIp'TA 197
1720 7w NINWNDN NII'RNND O'NA1D DY7ITN 0'WI900

NTIAYN N7'NN 197 INX2 NP'TAYNAT7 X700

Mmpna o

.(n”P 20 Ty 12) '3 W7 OXNIMN DIPAIN NP7 (1

1722 YN NN qINT7 (2

(2 n'71ly9 197 3 N'71y9) pI'727 IN0121 1197 NYI2 ININN DX PTA7 N1 7P ,0'0100n 0Npna*
D2 ININ2 NYIN DX XTNT (3

.12'02 DINN NX 012n7 (4

J910N WI2"7 TY nyw 'Mnn'7 (5

CT50Pro + ATR




D'D”pnI NIT'N

n’jpm D9 IX'N
08464 CT50Pro 410ml
08461 CG410 1T AT NTPX
01461 EG410 *7own Nt NTpX
02461 PG410 '0Xn19 NPT NTPX
23205 M12x1000mm ' nwA
23210 M16x1000mm 12 NYN
23220 M22x1000mm 'n'2 nvN
51250 M12x50 1127 |i7m
51685 M16x85 1127 |I7m
51613 M16x130 137 |I7m
52085 M20x85 127 [17"
. tensile o1p
yield strength strength 0N DINA I DIDN DIP
nT179210 n"pn D9 IXN
fri fuk W L d
(N/mm°) (N/mm°) (mm) (mm) (mm)
10 70 6 05080670 ATR 5.8 M6x70
13 110 8 05080811 ATR 5.8 M8x110
17 140 10 05081014 ATR 5.8 M10x140
17 190 10 05081019 ATR 5.8 M10x190
19 165 12 05081216 ATR 5.8 M12x165
19 220 12 05081222 ATR 5.8 M12x220
400 500 5.8
24 160 16 05081616 ATR 5.8 M16x160
24 190 16 05081619 ATR 5.8 M16x190
24 230 16 05081623 ATR 5.8 M16x230
30 260 20 05082026 ATR 5.8 M20x260
30 290 20 05082029 ATR 5.8 M20x290
36 300 24 05082430 ATR 5.8 M24x300
13 110 8 03160811 ATR SS316 M8x110
17 130 10 03161013 ATR SS316 M10x130
19 160 12 03161216 ATR SS316 M12x160
450 700 55316 (A4)
24 190 16 03161619 ATR SS316 M16x190
30 260 20 03162026 ATR SS316 M20x260
36 300 20 03162430 ATR SS316 M24x300
yield strength tensile strength 01p
pnn DINN X DINN VIR .
fyk . fuk . . n779210 0’ D19 7IXN
(N/mm”) (N/mm”)
(mm) (mm) (mm)
8 80 12 08520 ITS M8x80
400 500 10 58 90 16 08522 ITS M10x90
12 110 20 08524 ITSM12x110

(ATR 5.8 M16x230 GG XD2IT7) I¥IDN OW INX7 GG |7 X1 .WXIN NINTNA [1NP'D 30 2ITI9ITINA0 [117'2 NIDINN NX 721p7 |N1

g DE 0 A »




ATR

yield strength s:f::gfh nll;llgn IX o1
fyk ka sw n7179210 L d IJ”|7|'J D9 IX'N
(N/mm?) (N/mm’) (mm) (mm) (mm)

10 6 03761000 ATR 37 M6x1000
13 8 03781000 ATR 37 M8x1000
17 10 03710100 ATR 37 M10x1000
19 12 03712100 ATR 37 M12x1000
22 14 03714100 ATR 37 M14x1000

170 500 24 o137 16 03716100 ATR 37 M16x1000
27 18 03718100 ATR 37 M18x1000
30 20 03720100 ATR 37 M20x1000
32 22 03722100 ATR 37 M22x1000
36 24 03724100 ATR 37 M24x1000
41 27 03727100 ATR 37 M27x1000
46 30 03730100 ATR 37 M30x1000
10 6 08861000 ATR 8.8 M6x1000
13 8 08881000 ATR 8.8 M8x1000
17 10 08810100 ATR 8.8 M10x1000
19 12 08812100 ATR 8.8 M12x1000
22 14 08814100 ATR 8.8 M14x1000

540 500 24 68 1000 16 08816100 ATR 8.8 M16x1000
27 18 08818100 ATR 8.8 M18x1000
30 20 08820100 ATR 8.8 M20x1000
32 22 08822100 ATR 8.8 M22x1000
36 24 08824100 ATR 8.8 M24x1000
4 27 08827100 ATR 8.8 M27x1000
46 30 08830100 ATR 8.8 M30x1000
10 6 31661000 ATR 55316 M6x1000
13 8 31681000 ATR 55316 M8x1000
17 10 31610100 | ATRSS316 M10x1000
19 12 31612100 | ATRSS316 M12x1000
19 14 31614100 | ATRSS316 M14x1000

450 200 24 — 16 31616100 | ATRSS316 M16x1000
19 18 31618100 | ATRSS316 M18x1000
30 20 31620100 | ATRSS316 M20x1000
19 22 31622100 | ATRSS316 M22x1000
36 24 31624100 | ATRSS316 M24x1000
4 27 31627100 | ATRSS316 M27x1000
46 30 31630100 | ATRSS316 M30x1000

(ATR 5.8 M16x230 GG XD2IT7) I¥IDN OW INX7 GG |"X¥7 X1 .WXID NINTNA [1N2'D 30 2ITI9ITINA0 [117'2 NIDINN NX 727 |N1

054-7976110 n”y2a D'TX N12N 0TINAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702

0 d o Al K 04



CT50Pro + rebar

Brandname of Chemfix PESF

NIV NIrYp'79x
(02 -

[T 712/ XIp o'pI7a -
NIYp 01IIX »

D''"IXN

compressive strength 43.5 N/mm2 0
flexural strength : 15.9 N/mm*~ «
flexural modulus 2803

tensile strength 9.3 N/mm2 .
e-modulus : 4874.5 «

VOC CLASSIFICATION’

||7]:I apr'1a European i
N AnxXa mnn Approval L===

naon AT IC ‘3w Dhnn o0 781570008 ETAG 01
(30-2[1p2) TTIA JA1Y'7 D'ONIY N'72D
| 032 | 928 | 025 | 022 | 020 | 018 | @16 | 014 | @12 | 010 | 08 | Y1210
3449 | 2823 | 1834 | 1834 | 1335 | 1335 | 842 84.2 69.5 514 43.1 Nrk,cone
137.8 | 118.1 | 83.1 | 79.9 | 62.1 | 61.2 | 44.4 | 403 | 31.8 | 243 | 18.1 Nrkadh | N97% | Ywoonw
442.0 | 3387 | 270.0 | 2083 | 173.0 | 1395 | 111.0 | 844 62.0 43.0 28.0 Nrk steel N"9IX a
221.0 | 168.8 | 135.0 | 104.5 | 86.6 | 70.0 | 555 | 425 | 31.1 | 21.5 | 14.0 Vik nmm J%
65.6 56.2 396 38.1 29.6 29.2 211 19.2 15.1 11.6 8.6 kN Nrd o'y E
1473 | 1125 | 90.0 | 69.7 57.7 | 46.7 37.0 283 20.7 14.3 9.3 Vid nmm pnopy =
46.9 | 40.2 | 283 | 27.2 | 21.1 | 208 | 151 | 13.7 | 108 | 83 | 6.2 N | 097w | yvomoniy
105.2 | 804 | 643 | 498 | 41.2 | 334 | 264 | 20.2 | 148 | 10.2 6.7 Vrec nmm nnwony
320 280 210 210 170 170 125 125 110 90 80 hnom 7211 Mpnn poiy
40 35 30 27 25 22 20 18 |16(14)| 12 10 | mm do nITp oI E
80 80 60 60 50 50 40 40 30 30 30 NIT{ PRIY7 12YN 7800 (102 21y r_E-
183 141 59 53 39 29 19 17 [13(6.6)| 4.6 33 ml (25% ‘7 NN '7712) N / NIN NN E
2 3 6 7 10 14 21 23 [30(59)| 807 807 70 410 N'719NX7 0NN NIND

JN¥' [IN1 7y D'O0I2NI ENV 1992-4:2018 |jPN '9'7 D'aVIND ,0'PNIN NIYOWN '71,30-1 |1022 TTIA a1y '9'7 010D 01N

X700 AT 'X .NpaTn NI 7w 07172 1NN9AY7 0712 1170 NP2 IX 40°¢ 7y N1In191nD2A CT50Pro0 "' paTa wiIn'Y
i i i

NPATNA NNLP NP2 PUT7 'WIR W' 72X NI NN NIDIIXNN NN *2

IN21 NIpPNA PRIy '9Y [IDN AXPR D'PNINI DAY |2 0PN 171D

170 150 125 110 100 90 80 heff [lyn npnin poiy
510 450 375 330 300 270 240 Ser 0'Iyn 2'0p pnan
85 75 62.5 55 50 45 40 mm Smin 02210 12 '7XN2M PN
255 225 187.5 165 150 135 120 Cer |ID2N NXPR DR PRI
85 75 62.5 55 50 45 40 Cmin [ID2N NXPR 7RI PRD
400 320 300 280 240 210 200 hef 1y mpnin poiy
1200 960 900 840 720 630 600 Ser 0'IvN 2'0"p PN
200 160 150 140 120 105 100 mm Smin 02210 127X PN
600 480 450 420 360 315 300 Cer [ID2N AYPR 0P PRIN
200 160 150 140 120 105 100 Cmin |ID2N NP 7RI PNIN

.N9'791 P71 0'DIIT7Y DI OY7XNIDDIND D'PNINN .0'0NIY NNN9AA 0211 D'7XN''NA D'PNINA
21y 72 miwr 197 2WN7 W1 7RNMD9IX PRAN 'Y 01T N7120N 21wnY




11pna 1T

n'n”pn

AN NP7 (1
.NY12nI 1MIX XN7 DY 1IN0 NX N7 (2

(

(
21NN 9100 NINN DX PT7 (3
.12'02 DINN NX 013717 (4
(

JI'910 NIWA"NNY Ty NIPT 90-30 'NRnY (5

n’pn DM9 NN

08464 CT50Pro 410ml
08461 CG410 9T AT NTPX
01461 EG410 "70wn nptn NTpX
02461 PG410 'pXN19 NPT NTPX

054-7976110 N”y2a D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702

CT50Pro + rebar




ATR
n2720 NILIN

ATR
0"10D 01Nl
ATR 8.8
ATR 10.9 ATR 4.8 210
M16 7vyn M16 Ty
0.2 0.25 0.25 - % min
C
0.55 0.55 0.55 0.55 % max fR S —
0.04 0.04 0.04 0.05 % max P
0.05 0.05 0.05 0.06 % max S
1000 800 800 400 N/mm? nom 97V prin
900 640 640 320 N/mm? nom N9 PTIN
320 255 250 130 min
Vickers nnwp
380 336 320 250 max
- N30 NRRN
295 242 319 124 min
Brinell nnwp
363 319 385 238 max
32 23 20 71 min
Rockwell nnwp
39 34 32 95 max
M30 M27 M24 M20 M16 M12 M10 M8 wip
280 230 176 122 79 42 29 18 Nrk,s NMYINXPTIN
noYY =
149.3 1227 94 65.3 42 22.7 153 10 kN Nrd,s PN TN &=
<<
140 115 88 61 39 21 15 9 Viks M9IX PTIN
mn
108 88 68 47.2 304 16 1.2 7.2 Vird,s [an prn
M30 M27 M24 M20 M16 M12 M10 M8 wip
44838 367 2825 | 196.1 | 1256 67.4 464 29.2 Nrks NU9IX PTIN
noYY poc
299.2 2447 188.3 130.7 83.7 44.9 30.9 19.5 kN Nrd,s PN pTn =
<<
2244 1835 | 1412 98 62.8 337 232 14.6 Viks U9IX PTIN
nm
179.5 146.8 13 784 50.2 27 18.6 1.7 Vid,s PN TN
M30 M27 M24 M20 M16 M12 M10 M8 wip
583 4774 367 255 163 87.7 60.3 38.1 Nrk,s M9IX PTIN &
97y =)
4164 341 262.1 182.1 1164 62.6 43.1 27.2 kN Nrd,s PN prn =
|_
<
291.5 238.7 183.6 1274 81.6 438 30.2 19 Vik,s NM9IX PTIN
nm
2159 191 146.8 101.9 65.3 35.1 24.1 15.2 Vid,s PN TN




70N '9'7 D112 NIDIN D"pPn

ATR10.9 ATR 8.8 ATR 4.8
n'n Iy
on [I172 W7 on |i172 172 on [I172 W

ATRG10906 | ATR10906 | ATRG8806 ATR8806 ATRG4806 ATR4806 Mé

ATRG10908 | ATR10908 | ATRG8808 ATR8808 ATRG4808 ATR4808 M8

ATRG10910 | ATR10910 | ATRG8810 | ATR8810 | ATRG4810 | ATR4810 M10
ATRG10912 | ATR12912 | ATRG8812 ATR8812 ATRG4812 ATR4812 M12
ATRG10914 | ATR14914 | ATRG8814 ATR8814 ATRG4814 ATR4814 M14
ATRG10916 | ATR16916 | ATRG8816 ATR8816 ATRG4816 ATR4816 M16
ATRG10920 | ATR20920 | ATRG8820 ATR8820 ATRG4820 ATR4820 M20
ATRG10922 | ATR22922 | ATRG8822 ATR8822 ATRGA4822 ATR4822 M22
ATRG10924 | ATR24924 | ATRG8824 ATR8824 ATRG4824 ATR4824 M24
ATRG10927 | ATR28927 | ATRG8827 ATR8827 ATRG4827 | ,ATR4827 M27
ATRG10930 | ATR32930 | ATRG8830 | ATR8830 | ATRG4830 | ATR4830 M30
ATRG10936 | ATR36936 | ATRG8836 | ATR8836 | ATRG4836 | ATR4836 M36
ATRG10940 | ATR40940 | ATRG8840 ATR8840 ATRG4840 ATR4840 M40

054-7976110 N”y2a D'TX N1AN 0TIAN'7 NII9Y7 X2 ,N9011 N'7XVY '702




ATR SS

11DOIN"] N212n NIDIND

0"12D DM
SS316 SS304 210
0.08 0.08 % max C
16 18 % min
Cr
18 20 % max
10 8 % min
Ni
14 10.5 % max
2 ) % min N'72'0'2 N2IDIN
Mo
3 - % max
2 2 % max Mn
0.75 0.75 % max Si
0.1 0.1 % max N
0.045 0.045 % max P
0.03 0.03 % max S
515 515 N/mm? nom N9'7v TN
205 205 N/mm? nom nI9I PTIN
40 40 min *NIDINNN NN NAIN
217 201 max Brinell nnwp
95 92 max Rockwell nnwp
NN 50-1 %*
n7iaon
M30 M27 M24 M20 M16 M12 M10 M8 wip SS304/5S316
280 230 177 123 79 42 29 18 Nrk,s MYIX PTIN
n9'7y
149.3 122.7 94 65.3 42 22.7 153 10 kN Nrd,s [pnpTn
140 115 88 61 39 21 15 9 Viks "9IX PTIN
nm
108 88 68 472 | 304 16 112 7.2 Vid,s PPN PN




70N '9'7 D112 NIDIN D’"pn

SS316 SS304
n'D IR
D2 D1 D2 D1

ATRSS16206 ATRSS16106 ATRSS04206 ATRSS04106 M6

ATRSS16208 ATRSS16108 ATRSS04208 ATRSS04108 M8

ATRSS16210 ATRSS16110 ATRSS04210 ATRSS04110 M10
ATRSS16212 ATRSS16112 ATRSS04212 ATRSS04112 M12
ATRSS16214 ATRSS16114 ATRSS04214 ATRSS04114 M14
ATRSS16216 ATRSS16116 ATRSS04216 ATRSS04116 M16
ATRSS16220 ATRSS16120 ATRSS04220 ATRSS04120 M20
ATRSS16222 ATRSS16122 ATRSS04222 ATRSS04122 M22
ATRSS16224 ATRSS16124 ATRSS04224 ATRSS04124 M24
ATRSS16227 ATRSS16127 ATRSS04227 ATRSS04127 M27
ATRSS16230 ATRSS16130 ATRSS04230 ATRSS04130 M30
ATRSS16236 ATRSS16136 ATRSS04236 ATRSS04136 M36
ATRSS16240 ATRSS16140 ATRSS04240 ATRSS04140 M40

054-7976110 N”y2 D'TX N12N 0TIAN'7 NII9Y7 X2 ,N90I11 N'7XVY '702




.NT797 N'w N212Na 1A :NM171100 .

0'"IXN

C1035:n71791210 *
Znp 7272 .

TTI2 2N1A7 0'onity n'7a0

2 1.5 0.8 mm e 7790 ND790 21y
338 3.0 19 Nrk no'7v
1M9IN 7Y ONIY
1.9 19 19 Vik hals!
NP
1.6 1.2 0.8 Nrd noYy !
kN - ' [3n only ST3.5
1.5 1.5 1.5 Vid mm
1.1 0.9 0.6 Nrec N7y X7nIn only
1.0 1.0 1.0 Vrec nmm nN'w only
3 2.5 2 mm e 7790 ND790 21y
53 5.0 4.6 Nrk no'7v
1M9IN 7Y ONIY
26 26 2.6 Vik mm
N20Ip
3.7 23 2.1 Nrd N7y !
kN - [3n only ST4.2
2.0 2.0 2.0 Vid halis!
26 1.6 1.5 Nrec N9y X7nm only
14 14 14 Vrec nm NN only
4 3 2 mm e NT790 ND790 21y
7.1 7.1 57 Nrk N7y
"IN 7Y ONIY
3.6 3.6 3.6 Vik mm
N20Ip
5.2 3.9 26 Nrd N9y !
kN - ' [3n only ST4.8
2.7 2.7 2.7 Vid nmm
3.7 2.8 1.9 Nrec N9y X7nm only
2.0 2.0 2.0 Vrec mm nN'w ony
5 35 2 mm e 7790 ND790 21y
9.6 8.7 54 Nrk N7y
"IN 7Y ONIY
48 438 48 Vik nmm
NP
48 4.0 25 Nrd N9y !
kN - ' [2n only ST5.5
37 37 37 Vid mm
34 29 1.8 Nrec no'7y \70m oniy
2.6 2.6 2.6 Vrec hals! nn'w ony
5 4 2.5 mm e 7790 ND790 21y
134 9.6 43 Nrk no'7v
NM9IX 7w ONly
6.9 6.9 6.9 Vik nmm
NI
6.8 45 2.0 Nrd Ny '
kN - ' [on oniy ST6.3
53 53 53 Vid nm
48 3.2 14 Nrec no'7y X'70m oniy
38 38 38 Vrec mm nn'w ony
4 3 2 mm e DIMMI7XN NB790 Q1Y
N0
6.3 46 29 Nrk 97y "9IX 7w OnIy ST48/
29 2.1 13 kN Nrd N9y [>n only ST55/
2.1 15 1.0 Nrec no'7y \'70m oniy el




1"MDDIX'

L K
dk
n"'772 oum
IX 207X | |20 DIR oIp 770 XIn IR
aT79 21y vy NXOpa | mwnaly [ yx1ay | N'poTnip
- n1ann nrr'p nrr'p 112017 n1an
101
X X z dp P d D e C K dk '
mm mm mm mm mm mm mm mm mm mm mm
0.70-2.25 9.5-32 - 3,90 1.3 2.64 3.53 6 1.2 3.3 8,0 ST3.5
1.75-3.00 13-38 - 3,90 14 3.1 422 7 1.5 4.1 8.5 ST4.2
1.75-4.40 13-38 5,1 3,90 1,6 3,58 4,80 8 1.6 43 10,0 ST4.8
1.75-5.25 19-75 79 4,65 1,8 417 5.46 8 1.9 43 10.5 ST5.5
2.50-6.00 19-140 9,3 5,50 1,8 4,88 6,25 10 2,0 6,3 12,6 ST6.3

NX'70I0 Y7XN'0pPN NTNNIN NT79 11y

ST63 | ST55 | ST48 | ST42 | ST35 Moo
- - - - 2.85 95
- - - - 42 1
- - 3,7 43 6.2 13
- - 5,5 03 9.2 16
7 8.7 8,7 103 12.1 19
10 11,7 1,7 133 15.1 2
13 14,7 14,7 163 18.1 25
20 21,5 21,5 23,0 32
26 27,5 27,5 29,0 38
33 345 345 36,0 45
38 395 395 41,0 50
48 495 495 60
51 52.5 52.5 63
56 57.5 57.5 68
63 64.5 64.5 75
68 69.5 80
78 79.5 90
88 89.5 100
98 110

108 120
118 130
128 140




11pna 1T

TN DIP' DX N7 NP9 T2 07 (1

nNNYOX W') N9II¥NN 17207 DXNNA NIRIDN DY 17NN 12120 1Y 21120 X 21207 (2

.('7'5I75'7 11120 NTNXNA T'D N27200 DX 2'09D 'l NT'D1 DPSN'X N212N1 wnnwn'y

A11an ]'l]|')]'lﬂ'7 INDIXNNDN N2720A NIPDN

ST6.3 ST5.5 ST4.8 ST4.2 ST3.5 Jivnaio
1000-1800 | 1000-1800 | 1800-2500 | 1000-1800 | 1800-2500 rpm nT792 NITR NN
600-1000 600-1000 | 1000-1500 | 600-1000 1000-1500 rpm NDONMA NITH NNAR
13 1 7 5 4 sec 7XD'0PN NI [T
16.9 10.4 6.9 4.7 28 Nm 17XN'0PN MpPNN LINID
o' D"pl‘J
D XO9Ip IR WP , MLp X09Ip IX P .

(nrrn) (mm) (mm) P o (mrmn) (mm) (mm) aliis e
500 25 5.5 ABE5525 ABE 5,5x25 1000 13 35 ABE3513 ABE 3,5x13
500 32 5.5 ABE5532 ABE 5,5x32 1000 16 3.5 ABE3516 ABE 3,5x16
500 50 5.5 ABE5550 ABE 5,5x50 1000 19 35 ABE3519 ABE 3,5x19
250 63 5.5 ABE5563 ABE 5,5x63 1000 13 42 ABE4213 ABE 4,2x13
500 25 6.3 ABE6325 ABE 6,3x25 1000 16 42 ABE4216 ABE 4,2x16
250 50 6.3 ABE6350 ABE 6,3x50 1000 19 42 ABE4219 ABE 4,2x19
250 63 6.3 ABE6363 ABE 6,3x63 500 25 42 ABE4225 ABE 4,2x25
250 75 6.3 ABE6375 ABE 6,3x75 500 32 42 ABE4232 ABE 4,2x32
250 80 6.3 ABE6380 ABE 6,3x80 500 38 42 ABE4238 ABE 4,2x38
250 90 6.3 ABE6390 ABE 6,3x90 1000 13 48 ABE4813 ABE 4,8x13
100 100 6.3 ABE6310 ABE 6,3x100 1000 16 48 ABE4816 ABE 4,8x16
100 110 6.3 ABE6311 ABE 6,3x110 500 19 48 ABE4819 ABE 4,8x19
100 120 6.3 ABE6312 ABE 6,3x120 500 25 48 ABE4825 ABE 4,8x25
100 130 6.3 ABE6313 ABE 6,3x130 500 32 48 ABE4832 ABE 4,8x32
100 140 6.3 ABE6314 ABE 6,3x140 500 38 48 ABE4838 ABE 4,8x38
100 150 6.3 ABE6315 ABE 6,3x150 500 19 5.5 ABE5519 ABE 5,5x19
100 160 6.3 ABE6316 ABE 6,3x160 500 22 55 ABE5522 ABE 5,5x22
100 180 6.3 ABE6318 ABE 6,3x180
100 200 6.3 ABE6320 ABE 6,3x200
100 220 63 ABE6322 ABE 6,3x220 EPDM n21"y 217'w21 0'1120 72 NX 'DTN'7 N1
100 240 6.3 ABE6324 ABE 6,3x240

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




n"1"IXN
A Y

l || fh b iy o NDOIN" '7XDN-2 2112 :NA17110D »
.NDOINMA IX NT792 MW NIT'RY

BIE 55304 - C1035:1779 210 *

silver ruspert :|i'7a ¢

TTI2 2127 n'oniy n7ap

4 3 2 mm e NT790 ND790 21y
7.1 7.1 57 Nrk na'7y
1"9IN 7Y ONIY
3.6 3.6 3.6 Vik nm
NI
5.2 39 26 Nrd not7y '
kN ! ' [3n only ST4.8
2.7 27 2.7 Vrd nmm
37 238 1.9 Nrec N9y 70 only
2.0 2.0 2.0 Vrec mm nN'w oniy
5 35 2 mm e 7790 ND790 Q1Y
9.6 8.7 54 Nrk na'7y
1"9IN 7Y ONIY
438 48 4.8 Vik nmm
NI
48 4.0 25 Nrd N7y !
kN i ' [2n only ST5.5
3.7 3.7 3.7 Vrd nm
34 29 1.8 Nrec no'7y \'70m only
2.6 2.6 2.6 Vrec mm NNy only
5 4 2.5 mm e 7790 N0790 21y
134 9.6 43 Nrk no'7y
UMYX 7w ONIy
6.9 6.9 6.9 Vik nm
baTnialbliy]
6.8 45 20 Nrd noYy '
kN i ' [on oniy ST6.3
53 53 53 Vd nm
48 3.2 14 Nrec no'7y X'70m only
38 38 38 Vrec mm nn'w only
4 3 2 mm e DIMMI7XN NB790 Q1Y
N120p
6.3 46 29 Nrk n9'7y I"9IX '7wd OnIy ST48/
29 2.1 13 kN Nrd noYy [on only ST5.5/
2.1 15 1.0 Nrec no'7y \70m only SUES
n"'7'72 01N
nT79 121y TIX [P07UX | D0WIp | yow 01p 770XIN0Ip | XOpa | Nnanw Ay | wxaaly 01p
X701 nnann nimp nTp N3N a7 mnan npoT
NI
X z dp P d D e C K di !
mm mm mm mm mm mm mm mm mm mm mm
4,40-1,75 14 51 3,90 1,6 3,58 4,80 8 09 43 10,0 BIE 4.8
525-1,75 16 79 4,65 1,8 4,17 5,46 8 1,0 53 10,5 BIE5.5
6,00-2,50 18 93 5,50 1,8 4,88 6,25 10 1,0 6,3 12,6 BIE 6.3




dk

N

(ref)
X (ref)

-

P

L R R RSN

C
I

s A4 O et et ety 1
LA l-ll, WAL LRI ]

1pna 1T

TN DIP'M NX N7p Np'9T2 [N07 (1

DPON'X NI1INA YNNWNT7 NNYIOX V') N9IINNN 17207 DXNN2 NAIDN QY 717910 12720 0Y 217120 X 21207 (2

.('7'E]I']E)'7 111210 NTNXN] T'D N272NN DX 2'090D |'Phninl NT'Na

11N ]'l]|')]'lﬂ'7 ID'XNNDN N2720A NN

6.3 55 48 [y 10
1000-1800 1000-1800 1800-2500 rpm 7791 NIT'P NN
600-1000 600-1000 1000-1500 rpm nvoNI2 NIT'P NN
13 1 7 sec '7XN'0pPN NI AT
104 6.2 4,0 Nm 17XN'0PR MpPNN LINID
o'n’pn
N X091 01p TIX ,
(mren) (mm) (mm) D o
500 48 25 BIE4825 BIE 4,8x25
500 53 25 BIE5525 BIE 5,5x25
500 53 32 BIE5532 BIE 5,5x32
500 53 38 BIE5538 BIE 5,5x38
500 53 50 BIE5550 BIE 5,5x50
250 53 58 BIE5558 BIE 5,5x58
250 53 65 BIE5565 BIE 5,5x65
250 53 80 BIE5580 BIE 5,5x80
500 6,25 25 BIE6325 BIE 6,3x25

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




AUTO
0""OXD

7797 N7'W 121202 2712:00171000 @
C1035:n779210 *
Znp 7272 .

TTI2 27127 D'oniy N7

5 35 2 779 0'027 '7XN'1'D ND'79 12y
125 8.6 53 Nrk N9y
M9 7w ONIY
4.8 438 4.8 Vik mm
5.8 4 2.5 Nrd no'7v
kN [an only
3.9 39 3.9 Vid mm
42 29 1.8 Nrec no'7y \7nIn oniy
2.8 2.8 2.8 Vrec mm nn'v ony
4 3 2 DI'NI7X 0'027 '7XN'D NB'79 11y
6.3 45 29 Nrk N7y
nM9IX 7w only
48 48 4.8 Vik mm
29 2.1 13 Nrd no'7v
kN [pnony
39 39 39 Vrd hals!
2.1 1.5 1.0 Nrec N7y X'7nin only
2.8 2.8 2.8 Vrec hals! nn'w only

n"'7'723 numM

[P07UX | 20701 01p 770 XIN W1 01
779 A1y Y1217 NXOpia | mnwnly | wx1ay TIX
- nImp nimp 112N 217 11N npoT 10
N z dp P d D e C K dk L [yn
mm mm mm mm mm mm mm mm mm mm mm
12,0-1,75 16 5.1 1.06 4.6 5,46 8 1.15 53 " 32-38 AUTO

%]




11pna 1T

TNN DIP'M DX N7 N9 T2 07 (1

NNYOX V') N91¥NN 17207 DXNNA NNIDN OY 1110 12720 0y 27120 DX 21207 (2
(7'91197 27120 NTRYNA T'D 121NN DX 2'090D |'PTDAI NT'NA DPOSN'X NANAN] wnnwny

11an mpnn'7 ID'XNNDN N2720A NN

1000-1800 rpm 7791 NIT'p NN
600-1000 rpm nboNI2 NIT'R NN
1 sec 17XN'0PN NIT' 0T
104 Nm 17XN'0jN MpPNN DINID
o'n’pn
Mbp X09Ip IX .,
) (mm) n’pm [ynaio

500 32 AUTO5532 AUTO 5,5x32
500 38 AUTO5538 AUTO 5,5x38

ks Ss—— ¢ EPDMna"w1I7'w21 09120 72 X '0TN7 |1

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




| F.Lgih.i;iuug}

BAUTO

0'1"IxXn

.NDOINMA IX NT792 W' NIT'R'7 NDOINY Y7XDN-12 2112071000 ©

BAUTO
SS304 - C1035:n779210 *
silver ruspert :|72 ¢
TTI2 |21y'7 D'OnIy N'72D
5 35 2 779 0'027 ‘78NN ND'79 21y
12.5 8.6 53 Nrk no'7v
nn9IX 7w ony
48 48 48 Vik hate!
5.8 4 2.5 Nrd no'7v
kN [on only
39 39 39 Vid hals!
42 2.9 18 Nrec N7y 700 only
2.8 2.8 28 Vrec mm nn'w oniy
4 3 2 DINMI7X 0'027 '7XN'N NB'79 121y
6.3 45 2.9 Nrk no'7v
M9 7w ony
48 48 48 Vik mm
2.9 2.1 13 Nrd no'7v
kN [an oniy
3.9 39 3.9 Vrd mm
2.1 15 1.0 Nrec n9'7v \7nIn only
2.8 2.8 2.8 Vrec nm nnw only
n"'7'72 012N
120 T 19002 you o Xin iy XOpia | manway | wxaay o 1IN
n'r"775 2 nITp nITp 11117 72120 7710 ! ' npoT 1 110
nin
N z dp P d D e C K dk L [yn
mm mm mm mm mm mm mm mm mm mm mm
12,0-1,75 16 5.1 1.06 4.6 5,46 8 1.15 53 1 40-100 BAUTO
S
‘ P C
dp$ - ,,juuu#u#:}l ]
Z (ref) | ‘
X (ref) ‘ ‘
L K

dk




11pna 1T

TN DIP'M NX N7p NP'9T2 P07 (1
NNYIX Y') N91IXNA 17107 OXNNA NRIDN OY 17N 127120 OV 11120 NX 117207 (2
(7'91M97 17120 NN TN 121200 DX 2'090 'PNNNIENT'PA DPONIX NINANA WPNYNT7

11an ]'l]|')]'lﬂ'7 INDIXNNDN N2720A NAIPDN

1000-1800 rpm 7792 NIT'p NN
600-1000 rpm nDOINMA NITH NN
1" sec 17XN'0PN NIT' 0T
6.2 Nm 17XN'0jN MpPNN DININ
o'n’pn
MDp X0oIp NIX ,

) (mm) n’pn [y a0
500 40 BAUTO5540 BAUTO 5,5x40
500 50 BAUTO5550 BAUTO 5,5x50
250 65 BAUTO5565 BAUTO 5,5x65
250 80 BAUTO5580 BAUTO 5,5x80
100 100 BAUTO5510 BAUTO 5,5x100

| "- + EPDM n1"w 217'w21 09120 73 NX '0TA7 |N4

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702




Adit BT EYE2

TTI2A DTX |27 NIN'DA AIY7 Mmpna

A Type 16415 CEN-TS PD or EN795 BS na1a1 niTiay7 0'Ipna 0'y'sinn n'only nivnT7 D'RNn

\ . J—ﬂi““ﬁua;:u:: 7AIXD 212N UK TWUXI Nlphnn X n"o7 v! ApPanpnna .
- 2
4 BTEYE2 12x140 T2INN7 T2 P'90N N'W{ THXIN ININA IX) [ID2N 197 TINY
yalUp) mpninn nx n"o7 v! 112N Npnna .(T]Dn VX1 "']|5'3I7
217207 1'WNNY 'R .10 N2 X¥D 1120 7Y 121200 T

BTEYE 12x100 JIban 1197 TINY 122 27120 UXIYD |ID22 212N DX

NX'NIN7 ¥',N1pPNNN 9102|1012 12IMoNY7 J'YNN 111aNNTNa -«
NT21122 WNNWAYT 'K .N12NN 0TIAN Oy XY"Nin7i 21120 X

TD¥ID DN 20-1 102D D'WYN IX /PN X7 2¥N1 (1022 27270 DX ['PNNT 'Y

e |V .112NN 0TINN DY NIXY'NA 172
JID2N N¥YPN N”0 10 NIND7 7Y PNINA NN DX '(PNN7 W'

.NIN9'7 0”0 8 1171 |ID22 212N 7Y MPNN PRIYY XTIT7 ' .

TIDX NIP'D NIYYT7 W', |DT IXT [PNID 2a0NT'Na -
AP 172 DY Y9N 12NV MY WLATNIPN 7Y NIDYSONN 1217
.T272|Np'n 5-8

omnnn’o 8

o vl ] e e B o o e

122 NITIAY7 0'MY9 5-D NN YNNWAT 'R ¢
1127200 21y NNNS9A IX 21120 7Y |'Y7 IR NyI9 U1 nT'na
INIX X'XINT U',N2120051W9Y 7711 27120 1212 T I IX

- 7Y WITA7 'R119'70071
amn'nn’o 10

AN IMIX2 NITNA INIX 0131711107 XIND 21120 NIX XXINT 'Y »
JDTIPA NTIRI7 DXNN2 WTN N2 MIX 'PNNY7 IWOX
rixn HE

w S o v NIpNN PRIYT7 DXNN2 NINYND N9'7W1 27120 N7120N -«
' N”0 10-N NIND 17120 NX |'PNNYT |'X .|ID2N 2'D71 (0”0 10-14)
JXINX (12N 7¥ YK Y72 NIpNn poiy

D"N 1P NIPNNA 271 27120 YN1A P AT NINGD '7'Yan7 W' e
2IXD (11192 21V MpNA 7y Tapny Ut

91931 MYIN NTY 723 N'MYNY 'Y NX TDYN7 W' e
VA 'Y 9191 VN T2 N TIpn NTIY

Adit BT EYE2




Adit BT EYE2

e

? b S L R e e e e e e P
\ . B T e R o

)

BTEYE2 12x140
i'7y bIN
i 3 o' ip :
oin'1mn’o 10 nnnYp
TTY DIN
i mpnnY 07 vt
'TXDDDIX NNITT N2NP -
WoNY ‘123 =
P
-
=
nr o =
IXD'DIIX %
N9\
v |
@ nn
""""""""""" - WPTATIDN Y
-—> .
n’D 110 '7XN2M NIPNA PRIy " niwp THYID ININ
|7y DN
<«—>» 0ININN010
o' ip
by \ey)
=
et
c
ﬂ "TTY DAN =
K
&
 IND X ixn X
g nn
- > S ARy ATy Y

10D 130 '7XD2'D NpNN Y

0N Ip NPNAY7 NIXN

N1pPNN PRIYA 0'N 1 NIPNNYT BTeye2 12x140 11122 WNNWN'7 W
1120y [PNID DN 1R ['PNEXN2 1Y 1022 D7D 120 Y7XDI'D
0'7y190 7¥ 112'NN 1IXINT'PA.0'WIX 2 DIN'OPR'7 TYID Nt
72NNNY7 WX 7701 0'7Y190 N'7'91 IWOXND X7 0N 1p'7
OWIX3TY

20-1(IL2N O'W7N IX |'PN X7 2¥N1 1022 11120 DX |'PNNT 'K
2'D'227 290 7V XN 731.0112NN 0TINN OY NINY*NA 172
JID2N

JID2ND 112N 7Y N9'7Y NprTa YNa7 W

X'NIN7 ¥',N1pPNNN 9101 {1022 12IMoNY7 7'WND 111201 NT'NA
T 21122 wnnwny |'X.N12NN 071NN Dy ‘(V"]’Iﬂ'ﬂ 112N NX

JID2N N¥pPN P70 10 NIN97 7W PNINDA 212N DX |'PRNT7 W
:0"N 1PN NIPNAY7 NID'WY 2 NI

N'ITA NPNINY N2 D'TAIYY 0Ny 2177y :naiwx -
(¥ NIXT) NOXIN NXPT7 NNT7 2N

AIXD NITA DN N9'7Y1 0DITAIYY DAY 2T 7Y My .

NIYY7 W' QUIND RT IXT IX Y122 |9IX] [PNID 211201 1 TN
yIan 1110V |"Y7 ¥ATNIpn 7Y NIDYSONN 1217 TINX Nip's
T272 NP 5-8 W |u7a Dy

V' NT'01.12122 NITIAY7 0'DY9 5-D NP 1122 Wonwn'7 'Y
[PT2 'WIR IX 12120 121V NNN9A IX 27120 7Y |'Y'7 'R0 NyD9
19170071 INIX X'XINYT W',N21200 1YY 7'722 21120 N21an
7Y WITAT NI

1IN IMNIX2 N1TNA INIX 0'227171 1107 XIND 21120 DX XXINT |'X
JNDTIPN ATIPIT7 OXNN2 WTN NTPA INIX |'PNNT7 1WOX

NIpPNN PRIY7 DXNN2 NINYND N9'7w1 27120 N7120N
N7 2"N 27120 NIPNN PRIY |ID]1N 2'D71 (D0 10-14)
(¥ nx1) mpnn no'w7 oxnin

NTI217 51922 MYOX NTY 7303 N'MMYN7 'V NIX TDYN7 v
YN 'Y 91912 VN7 "I NNTIPN

054-7976110 n”y2a D'TX N12N 0TINAN'7 N7 X2 ,N90I11 N'7XVY '702

Adit BT EYE2




NI'0TIn NIX'72D

nIT'D NN
— -— TIX
0.039 254 mm inch (in)
3.281 0.305 m foot (ft)
1.094 0914 m yard (yd)
0.621 1.609 km mile (mi)
—_ < nov
0.155 6.452 cm? in’
10.764 0.093 m? e
1.196 0.836 m? yd?
e < nol
0.061 16387 m’ in>
35.336 0.028 m> ft>
1308 0.765 m> yd®
264.172 0.004 m> USs gal
0.034 29.573 cm’ oz.fl
e < np
0.225 4.448 N Ibf
0.102 9.807 N kof
0.225 4.448 kN kip
224.8 0.005 kN Ibf
—> - xXn'7
0.145 6.895 Mpa ksi
145.0 0.007 Mpa psi
0.000 1000000 Pa N/mm?
0.021 47.880 Pa psf
0.145 6.895 kPa psi
145.0 0.007 N/mm2 psi
— - Q91
0.738 1356 Nm ft-lbs
8.850 0.113 Nm in-lbs

NI'0TIN NIX'72D




mm < > inch

6.5mm "1/4
8mm "5/16
10mm "3/8
13mm "1/2
16mm "5/8
20mm "3/4
26mm "
32mm "1-1/4

IDIP'71 PTINT DXNN2A '7T712 DIN IX 127120 DIN N7Ia0N 2IW'N

Vrk,s =0.5% x As x fuk Nrk,s = As x fuk

0.5 DIPN1 0.6 NIPINT O'NYT7*
‘7'y9 nbw Ag 21w'n

7712 DI 7V 7'vo NDY

@40 | @36 | @32 | @28 | @25 | @22 | @20 | @18 | @16 | @14 | @12 | @10 | @8 mm | 7112 101p
1257 | 1018 | 804.2 | 615.8 | 490.9 | 394.5 | 314.2 [257.65 | 201.1 | 153.9 | 113.1 | 785 | 50.3 | mm? As

127120 DIN 7V '7'v9 NV

M36 M33 M30 M27 M24 M20 M16 M12 M10 M8 As
849.6 721.8 583.5 477.3 367.2 254.7 163.2 87.6 60.3 38.1 mm

2

n9'7¥1 NUOIX 27N :fuk avn

sT129 | sT109 | sTss ST6.8 ST5.8 ST56 ST48 —
1200 1000 800 600 500 500 400 fuk (N/mm?)
1080 900 660 480 400 300 320 fyk (N/mm?)

A480 | SS316/A470 | A450 [SS304/A250| aponn

800 700 500 500 fuk (N/mm?)
600 450 210 210 fyk (N/mm?)

ST600 | ST500 | ST400 -~
660 550 440 fuk (N/mm?)
600 500 400 fyk (N/mm®)

B 87.6x500=4380kg :NIN9'7 N9"7W1 P'TNN $$304 NDOIN'IN WY NN 12 10IP NI12N DIN XDAIT7 DIX T

I 0.5x477.3x440=10500kg N1'722 P'TNN N”N 27 101 ST400 7112 DIN IX

NI'0TIN NIX'72D




2 p'7n 2378 V"N [pnn NIYT 19'7 O'N'XNDN D21YyA DID'0

V1 1'p'7 NWAN DX 12N00 Iyn [N'ITN NX 12NDN YN ypapaio
[ID2 7
10”0 10 TY 5 71IX2A NN 10 IX 8 DI |I7"1 |1y NN 120IPA XN Y [1b2
1Y NI12N2 2712 IX OXNIN 112 DY NN 100 7IXAl

0”0 5:YpP1 P '7XNIM NIpNn 7DIV N”D 127012 102 A1y IX

"N 90 NIXAI
*_ k— *— t N”D 40 0Ip NA"Y DY
n'n 21y
10”0 10 TY 5 71IX2A NN 10 0IP |17 |1y 171/)1b2

.OXNIn 2111 oy I - iny

(n"08Ty5: ypaarpampnin 7DIV)

b=

N”0 10 TV 8 11IX2 NN 10 101 |I7M |A1Y 22D'X/[1D2
.OXNIN 22 DY

(n”70 8: Y1 1P '7XNID NApNN PRIY) L/ .

N”0 10 TV 8 1IXA NN 10 101 |I7M |A1Y /211D'X/|1D2

.OXNIN N2 0y
D”O 8: Y1 1'panmpnn 7]’JIV)

- .9

.MpPNNA TX 197 NDOINIA IX DN |I721 1wy 700

4 p'7n 2378 "N [pha YT 19'7 O'N'XNDN D12IYyD DID'0

Y1 P7 NN XN DX 12000 Py yp1paio

n"D 10 IX 8 WIP |17 1y

[o}a!
D0 5 N'7XDIM 102 P2 MpPNN Ryl | --1[ !

n"N 10 0IP 17" 1y
N”0 8-7 5 |2 12 Mipnn pnRiya
SS316 N”179 1112 DY

n"N 10 0IP [I7"1 1y
1”0 8 N'7XN'1'D P2 NIPNN PRIYA I'/

n"D 10 0IP 17" 1y
1NV PI72 /2210'X/|1D2
1”0 8 1'P2 MpNN PRIYa

NV pI71/|102

2I0'X/[1D2

.$S316 n”279n "Wy NI'n'7 0¥ 0NIyn 72

NI'0TIN NIX'72D




D'TX
D221y 2IYINT7 N1IN

N"M2aya oy 21W'n7 NIWXIN N12Inn &
ENV n"xonx npn 197

WIN'W'7 n7p1 nw'na n1in v

J'Y9IN N1IN2 021y DIP'R7 NNYOX &

PN PRIV 1I'WT7 NNYOX &

DIa"NNn X771 mpnna,nmpa ni7y X77 .00 ¢

ENV x9in'x |pn 97 nnTX nTYa7 2wn &

JNXAN DIN'Y ATINT N21'RT N2121IN0N

11TV DY WP 1IN X1,N1DINN 227 NITRYYT

Optimal Building Solutions

0'"n'J> 0'PaT 011,011y - DFIX
www.adit.org.il Anx B office@adit.org.il .7”X1T B 03-5780115.0p9 B 077-5020696 .70



2
2
a
B
=
-
=
2
=

<]
]
o

ni'7'72 nnyn

7V 02IY'N ND'WI NYNNWN ADIT
Erocode2 : Design of Concrete Structures - Part 4: Design of fastenings to use in concrete
1T2YND Np'T2 IX ENV 1992-4:2018 |j7Nn 12'N NN2IN] 0'2'1XDA D'ONIYA 1IpD .01vn 72 712y

XD APTTA IX MYIXD

N12IN2 O'XAINN 0'ONIYN NXA N9y nip'1a N aVAURRR ,/IDAD D'INX 0'DIN2 0'21y N1pnina

P12V 21y 1IN27 NIN 7Y [22NNY7 10N P 010
.0I'07X NI7yN 40 '7yN NIIBI9NVA 'B'D ININ |IONXND XD IX/1|PT 722 Y107 vt
/D' ININ OY NTP'7 DN01JN 1197 [PYD 0P 0'7T120/NIDINNY XTI !

W' .XIN NI'YPY79X 727 DO "MIY2 WNNWN7 W' ,('NIX71'2 INX [N 72 1X) 'K9IRA [N 197

NYPI79X7 DXNNA (0N 172 ,000171) ATNIR T2 11207 17w AR Iyn DX 11N1Y7

INXINY7 AT 2'X - DTX N12AN 0TIAN DY YR 1IX'7 W' D' NIYRYN D'IXYI'T 0'only 7w npna

1271 0"DLO O'ONIY'7 NINXNN N1AINA NIY'9IND NIX720DN .(054-7976110 '7D)

IYXI1 TUX NTayD Nip'Tal 0pn 7y D'00IaN D'TX 7V 100 YT'N NNAIN2 0'Y'9INN 0IN1n ‘72
2D'MY71,01IN101 0'D1907N 73 NAMI2 NNWNTNIYN DY '9 7y ax .y 210 72197 0'DI9N O'XIN2

AINPY79XT 21IYN NDXNN DX WXYTIPITA7 (12000 7Y ,0112TY1 01121 01NN 72 Ny

N NN ' 7Y NPDOXA DMININN NIPRY 'INX YN LADIT 1T 7y 0pIwRn 0NN yaon
[ [ [
7w MpPNNA IX IDIN2 YR YINW X IX WIDWY 2pY D110 Py IX 1Y PTIT7 IRINK 127X ADIT

Iy NI

JINTIP 107272 0'9*70N (19 N01) IT NINNX 10722 D'Y'DINN DN

054-7976110 INID'7 NT 2A'X'7 NNBY7 X2 ,N9011 n'7XVY 702



elad@adit.org.il
asaf@adit.org.il
shlomi@adit.org.il
moshe@adit.org.il
yves@adit.org.il

1)1 "MIN

@ 054-3296230
@ 050-9375558
@ 050-9375554
@ 050-5483916
@ 054-7976110

ADIT LTD.

ANITX TY'TX
|ID1 fOX
annn mi7v
IXNTI2 nwn

ANID'7 DT 2N

www.adit.org.l

7982500 NNJ.N.N,23 DITR "M
office@adit.org.il .J"NIT 03-5780115.0i3 077-5020696 .71

P 7010
19X TR 7N
12N UTX 7010
DT AITX 7010

:0T1NN



	adit_cover_v19_front
	adit_v19_web
	adit_cover_v19_back



